
A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A1



































































































































































































































































































































































































ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ


































































2 »Ò¡

2 »Ò¡

4 »Ò¡

4 »Ò¡

4 »Ò¡ ÃØ‹¹ÂÒÇ

SCS 






A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A2


































































































































































































































































































































































































































































































































SCS 


2 »Ò¡ ÃØ‹¹ÂÒÇ

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

2 »Ò¡ ËÑÇÁ¹

2 »Ò¡ ËÑÇÁ¹

4 »Ò¡ ËÑÇÁ¹



ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A3























































































































































































































































































4 »Ò¡ ÃØ‹¹ÂÒÇ

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ















































































































































































































































































SCS 


2 »Ò¡

4 »Ò¡

4 »Ò¡

2 »Ò¡ ËÑÇÁ¹



ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ


































































































































































































































































































































































































































































































































SCS 


2 »Ò¡ ÃØ‹¹ÂÒÇ

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

2 »Ò¡ ËÑÇÁ¹

2 »Ò¡ ËÑÇÁ¹

4 »Ò¡ ËÑÇÁ¹



ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A4

Ad

Rd

Ad


































   







    


  












    
     









































































































































































 




































   

    


  












    
     
















































































































































































A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A5

Ad

Ad

Rd









 








































   

    


  












    
     


































































































































































































































   

    


  












    
     




































































































































































































Ad

Rd

Ad


































   







    


  












    
     









































































































































































 




































   

    


  












    
     
















































































































































































A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A6
































   




    


  












    
     

















































































































































 


0.7D
0.3D



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A7


STM 

































































































































































































































































































































































































































4 »Ò¡

4 »Ò¡



























































2 »Ò¡

2 »Ò¡

4 »Ò¡
ÃØ‹¹ÂÒÇ

4 »Ò¡
ÃØ‹¹ÂÒÇ

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ
































   




    


  












    
     

















































































































































 


0.7D
0.3D



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A8













































































































































































































































































































































































































































STM





4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ËÑÇÁ¹

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

2 »Ò¡
ËÑÇÁ¹

4 »Ò¡
ËÑÇÁ¹

ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´ ¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹ á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´ ¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A9






















































































































































































































































































































































































































































































































































ÃËÑÊ

ÃËÑÊ ÃËÑÊ ÃËÑÊ

ÃËÑÊd1

d1 d1 d1

d1l2

l2 l2 l2

l2l1

l1 l1 l1

l1ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò


STM 



SERIE 220













































































































































































































































































































































































































































STM





4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ËÑÇÁ¹

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

2 »Ò¡
ËÑÇÁ¹

4 »Ò¡
ËÑÇÁ¹

ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃËÑÊ ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´ ¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹ á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´ ¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A10

































































































































































































































































































































































































































ÃËÑÊ ÃËÑÊ ÃËÑÊd1 d1 d1l2 l2 l2l1 l1 l1d2 d2 d2







































































































ÃÒ¤Ò ÃÒ¤Ò ÃÒ¤Ò








































































































































































STM 


ÃËÑÊ ÃËÑÊd1 d1d2 d2l2 l2l1 l1ÃÒ¤Ò ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A11

































































































































































































































































































































































































































ÃËÑÊ ÃËÑÊ ÃËÑÊd1 d1 d1l2 l2 l2l1 l1 l1d2 d2 d2







































































































ÃÒ¤Ò ÃÒ¤Ò ÃÒ¤Ò








































































































































































STM 


ÃËÑÊ ÃËÑÊd1 d1d2 d2l2 l2l1 l1ÃÒ¤Ò ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A12

EMC302-0002
EMC302-0003
EMC302-0004
EMC302-0005
EMC302-0006
EMC302-0007
EMC302-0008
EMC302-0009
EMC302-0010
EMC302-0015
EMC302-0020
EMC302-0025
EMC302-0030A
EMC302-0035A
EMC302-0040A
EMC302-0030
EMC302-0040
EMC302-0045
EMC302-0050
EMC302-0055
EMC302-0060
EMC302-0065
EMC302-0070
EMC302-0075
EMC302-0080
EMC302-0085
EMC302-0090
EMC302-0095
EMC302-0100
EMC302-0110
EMC302-0120
EMC302-0140
EMC302-0160
EMC302-0180
EMC302-0200

EMC304-0010
EMC304-0015
EMC304-0020
EMC304-0025
EMC304-0030A
EMC304-0035A
EMC304-0040A
EMC304-0030
EMC304-0040
EMC304-0045
EMC304-0050
EMC304-0055
EMC304-0060
EMC304-0065
EMC304-0070
EMC304-0075
EMC304-0080
EMC304-0085
EMC304-0090
EMC304-0095
EMC304-0100
EMC304-0110
EMC304-0120
EMC304-0140
EMC304-0160
EMC304-0180
EMC304-0200

EMC314-0020
EMC314-0030A
EMC314-0040A
EMC314-0030
EMC314-0040
EMC314-0050
EMC314-0060
EMC314-0085
EMC314-0100
EMC314-0120
EMC314-0140
EMC314-0160
EMC314-0180
EMC314-0200

EMC362-0002
EMC362-0003
EMC362-0004
EMC362-0005
EMC362-0006
EMC362-0007
EMC362-0008
EMC362-0009
EMC362-0010
EMC362-0015
EMC362-0020
EMC362-0025
EMC362-0030A
EMC362-0040A
EMC362-0030
EMC362-0040
EMC362-0050
EMC362-0060
EMC362-0070
EMC362-0080
EMC362-0090
EMC362-0100
EMC362-0120
EMC362-0160
EMC362-0200

0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9
1
1.5
2
2.5
3
3.5
4
3
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
11
12
14
16
18
20

1
1.5
2
2.5
3
3.5
4
3
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
11
12
14
16
18
20

2
3
4
3
4
5
6
8
10
12
14
16
18
20

0.2(R0.1)
0.3(R0.15)
0.4(R0.2)
0.5(R0.25)
0.6(R0.3)
0.7(R0.35)
0.8(R0.4)
0.9(R0.45)
1(R0.5)

1.5(R0.75)
2(R1)

2.5(R1.25)
3(R1.5)
4(R2)
3(R1.5)
4(R2)

5(R2.55)
6(R3)
7(R3.5)
8(R4)
9(R4.5)
10(R5)
12(R6)
16(R8)
20(R10)

4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12
16
16
20
20

4
4
4
4
4
4
4
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12
16
16
20
20

4
4
4
6
6
6
6
8
10
12
14
16
18
20

4
4
4
4
4
4
4
4
4
4
4
4
4
4
6
6
6
6
8
8
10
10
12
16
20

0.4
0.6
0.8
1
1.2
1.4
1.6
1.8
3
4
6
8
8
10
11
8
11
11
13
13
16
16
20
20
20
20
20
22
25
30
32
40
40
40
45

3
4
6
8
8
10
11
8
1
11
13
13
16
16
20
20
20
20
20
22
25
30
32
40
40
40
45

10
15
20
15
20
25
30
35
45
45
70
70
75
75

0.4
0.6
0.8
1
1.2
1.4
1.6
1.8
2
4
5
6
6
8
6
8
10
12
14
14
18
20
24
32
40

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
75
75
75
75
75
75
100
100
100
100

50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
75
75
75
75
75
75
100
100
100
100

50
60
60
60
60
75
75
100
100
100
150
150
150
150

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100

ÃËÑÊ ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´ ¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹ á¡¹

á¡¹

á¡¹

¤Á¡Ñ´ ¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILL

4 »Ò¡2 »Ò¡

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMC312-0020
EMC312-0030A
EMC312-0040A
EMC312-0030
EMC312-0040
EMC312-0050
EMC312-0060
EMC312-0085
EMC312-0100
EMC312-0120
EMC312-0140
EMC312-0160
EMC312-0180
EMC312-0200

2
3
4
3
4
5
6
8
10
12
14
16
18
20

4
4
4
6
6
6
6
8
10
12
14
16
18
20

10
15
20
15
20
25
30
35
45
45
70
70
75
75

50
60
60
60
60
75
75
100
100
100
150
150
150
150

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ·Ñé§µÑÇ ÃÒ¤Ò
2 »Ò¡ ÃØ‹¹ÂÒÇ

2 »Ò¡ ËÑÇÁ¹

STK
R

ALTiN-COATED



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A13

EMC334-0302
EMC334-0303
EMC334-0305
EMC334-0402
EMC334-0403
EMC334-0405
EMC334-0502
EMC334-0503
EMC334-0505
EMC334-0602
EMC334-0603
EMC334-0605
EMC334-0610
EMC334-0803
EMC334-0805
EMC334-0810
EMC334-0815
EMC334-1003
EMC334-1005
EMC334-1010
EMC334-1015
EMC334-1205
EMC334-1210

EMC332-0302
EMC332-0303
EMC332-0305
EMC332-0402
EMC332-0403
EMC332-0405
EMC332-0502
EMC332-0503
EMC332-0505
EMC332-0602
EMC332-0603
EMC332-0605
EMC332-0610
EMC332-0803
EMC332-0805
EMC332-0810
EMC332-0815
EMC332-1003
EMC332-1005
EMC332-1010
EMC332-1015
EMC332-1205
EMC332-1210

EMC342-0202
EMC342-0203
EMC342-0252
EMC342-0253
EMC342-0302
EMC342-0303
EMC342-0305
EMC342-0402
EMC342-0403
EMC342-0405
EMC342-0502
EMC342-0503
EMC342-0505
EMC342-0602
EMC342-0603
EMC342-0605
EMC342-0610
EMC342-0803
EMC342-0805
EMC342-0810
EMC342-0815
EMC342-0820
EMC342-1003
EMC342-1005
EMC342-1010
EMC342-1015
EMC342-1020
EMC342-1205
EMC342-1210
EMC342-1215
EMC342-1220

EMC344-0202
EMC344-0203
EMC344-0252
EMC344-0253
EMC344-0302
EMC344-0303
EMC344-0305
EMC344-0402
EMC344-0403
EMC344-0405
EMC344-0502
EMC344-0503
EMC344-0505
EMC344-0602
EMC344-0603
EMC344-0605
EMC344-0610
EMC344-0803
EMC344-0805
EMC344-0810
EMC344-0815
EMC344-0820
EMC344-1003
EMC344-1005
EMC344-1010
EMC344-1015
EMC344-1020
EMC344-1205
EMC344-1210
EMC344-1215
EMC344-1220

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

6
6
6
6
6
6
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

6
6
6
6
6
6
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

70
70
70
70
70
70
80
80
80
90
90
90
90
100
100
100
100
100
100
100
100
100
100

70
70
70
70
70
70
80
80
80
90
90
90
90
100
100
100
100
100
100
100
100
100
100

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

ÃËÑÊÃËÑÊ

ÃËÑÊ ÃËÑÊ

¢¹Ò´¢¹Ò´

¢¹Ò´ ¢¹Ò´

á¡¹á¡¹

á¡¹ á¡¹

¤Á¡Ñ´¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÃÒ¤ÒÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILL

4 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)2 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)

2 »Ò¡ R à»š¹ÁØÁÁ¹ 4 »Ò¡ R à»š¹ÁØÁÁ¹

STK
R

ALTiN-COATED

EMC302-0002
EMC302-0003
EMC302-0004
EMC302-0005
EMC302-0006
EMC302-0007
EMC302-0008
EMC302-0009
EMC302-0010
EMC302-0015
EMC302-0020
EMC302-0025
EMC302-0030A
EMC302-0035A
EMC302-0040A
EMC302-0030
EMC302-0040
EMC302-0045
EMC302-0050
EMC302-0055
EMC302-0060
EMC302-0065
EMC302-0070
EMC302-0075
EMC302-0080
EMC302-0085
EMC302-0090
EMC302-0095
EMC302-0100
EMC302-0110
EMC302-0120
EMC302-0140
EMC302-0160
EMC302-0180
EMC302-0200

EMC304-0010
EMC304-0015
EMC304-0020
EMC304-0025
EMC304-0030A
EMC304-0035A
EMC304-0040A
EMC304-0030
EMC304-0040
EMC304-0045
EMC304-0050
EMC304-0055
EMC304-0060
EMC304-0065
EMC304-0070
EMC304-0075
EMC304-0080
EMC304-0085
EMC304-0090
EMC304-0095
EMC304-0100
EMC304-0110
EMC304-0120
EMC304-0140
EMC304-0160
EMC304-0180
EMC304-0200

EMC314-0020
EMC314-0030A
EMC314-0040A
EMC314-0030
EMC314-0040
EMC314-0050
EMC314-0060
EMC314-0085
EMC314-0100
EMC314-0120
EMC314-0140
EMC314-0160
EMC314-0180
EMC314-0200

EMC362-0002
EMC362-0003
EMC362-0004
EMC362-0005
EMC362-0006
EMC362-0007
EMC362-0008
EMC362-0009
EMC362-0010
EMC362-0015
EMC362-0020
EMC362-0025
EMC362-0030A
EMC362-0040A
EMC362-0030
EMC362-0040
EMC362-0050
EMC362-0060
EMC362-0070
EMC362-0080
EMC362-0090
EMC362-0100
EMC362-0120
EMC362-0160
EMC362-0200

0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9
1
1.5
2
2.5
3
3.5
4
3
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
11
12
14
16
18
20

1
1.5
2
2.5
3
3.5
4
3
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
11
12
14
16
18
20

2
3
4
3
4
5
6
8
10
12
14
16
18
20

0.2(R0.1)
0.3(R0.15)
0.4(R0.2)
0.5(R0.25)
0.6(R0.3)
0.7(R0.35)
0.8(R0.4)
0.9(R0.45)
1(R0.5)

1.5(R0.75)
2(R1)

2.5(R1.25)
3(R1.5)
4(R2)
3(R1.5)
4(R2)

5(R2.55)
6(R3)
7(R3.5)
8(R4)
9(R4.5)
10(R5)
12(R6)
16(R8)
20(R10)

4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12
16
16
20
20

4
4
4
4
4
4
4
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12
16
16
20
20

4
4
4
6
6
6
6
8
10
12
14
16
18
20

4
4
4
4
4
4
4
4
4
4
4
4
4
4
6
6
6
6
8
8
10
10
12
16
20

0.4
0.6
0.8
1
1.2
1.4
1.6
1.8
3
4
6
8
8
10
11
8
11
11
13
13
16
16
20
20
20
20
20
22
25
30
32
40
40
40
45

3
4
6
8
8
10
11
8
1
11
13
13
16
16
20
20
20
20
20
22
25
30
32
40
40
40
45

10
15
20
15
20
25
30
35
45
45
70
70
75
75

0.4
0.6
0.8
1
1.2
1.4
1.6
1.8
2
4
5
6
6
8
6
8
10
12
14
14
18
20
24
32
40

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
75
75
75
75
75
75
100
100
100
100

50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
75
75
75
75
75
75
100
100
100
100

50
60
60
60
60
75
75
100
100
100
150
150
150
150

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100

ÃËÑÊ ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´ ¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹ á¡¹

á¡¹

á¡¹

¤Á¡Ñ´ ¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILL

4 »Ò¡2 »Ò¡

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMC312-0020
EMC312-0030A
EMC312-0040A
EMC312-0030
EMC312-0040
EMC312-0050
EMC312-0060
EMC312-0085
EMC312-0100
EMC312-0120
EMC312-0140
EMC312-0160
EMC312-0180
EMC312-0200

2
3
4
3
4
5
6
8
10
12
14
16
18
20

4
4
4
6
6
6
6
8
10
12
14
16
18
20

10
15
20
15
20
25
30
35
45
45
70
70
75
75

50
60
60
60
60
75
75
100
100
100
150
150
150
150

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ·Ñé§µÑÇ ÃÒ¤Ò
2 »Ò¡ ÃØ‹¹ÂÒÇ

2 »Ò¡ ËÑÇÁ¹

STK
R

ALTiN-COATED



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A14














































































































































































































































































































































































































































































































































































































































































STK
R 




A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A15






















































































































































































































































































































































































































































































































































































































































STK
R 















































































































































































































































































































































































































































































































































































































































































STK
R 




A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A16

















































 











  






























 








  































































 














  



































































































































































































































































































































































































































   
















































































     





































 









  

STK
R 




A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A17

STK 







4 »Ò¡
HSS PM






































EM294-0020
EM294-0030
EM294-0040
EM294-0050
EM294-0060
EM294-0080
EM294-0100
EM294-0120
EM294-0140
EM294-0160
EM294-0180
EM294-0200
EM294-0250











































2
3
4
5
6
8
10
12
14
16
18
20
25

6
6
6
6
6
8
10
12
16
16
16
20
25

7
8
11
13
13
19
22
26
35
40
40
45
50

51
52
55
57
57
69
72
83
90
95
105
115
130


































































































ÃËÑÊ







¢¹Ò´

















































ÂÒÇ·Ñé§µÑÇ







á¡¹







¤Á¡Ñ´







ÃÒ¤Ò
























































































































R







































































































































































































TiCN















































 











  






























 








  































































 














  



































































































































































































































































































































































































































   
















































































     





































 









  

STK
R 




A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A18



















¿˜¹ÅÐàÍÕÂ´
HSS-PM



































EM2N60-0060
EM2N60-0080
EM2N60-0100
EM2N60-0120
EM2N60-0140
EM2N60-0160
EM2N60-0180
EM2N60-0200
EM2N60-0250



































6
8
10
12
14
16
18
20
25

6
10
10
12
12
16
16
20
25

13
19
22
26
26
32
32
38
45

57
69
72
83
83
92
92
104
121











































































ÃËÑÊ







¢¹Ò´









































¤ÇÒÁÂÒÇ







á¡¹







¤Á¡Ñ´







ÃÒ¤Ò
































































































































































































































STK
R 




A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A19

Single Flute Chamfering Cutters

Three Flutes Countersinks

Tool With Hole

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    


à¤ÒàµÍÃ�«Ô§¤�

ÃËÑÊ ÃÒ¤Ò¢¹Ò´
D

á¡¹
d

ÂÒÇ
L

ÃËÑÊ ÃÒ¤Ò¢¹Ò´
D

á¡¹
d

ÂÒÇ
L

ÃËÑÊ ÃÒ¤Ò¢¹Ò´
D

á¡¹
d

ÂÒÇ
L

90°

90°3



















¿˜¹ÅÐàÍÕÂ´
HSS-PM



































EM2N60-0060
EM2N60-0080
EM2N60-0100
EM2N60-0120
EM2N60-0140
EM2N60-0160
EM2N60-0180
EM2N60-0200
EM2N60-0250



































6
8
10
12
14
16
18
20
25

6
10
10
12
12
16
16
20
25

13
19
22
26
26
32
32
38
45

57
69
72
83
83
92
92
104
121











































































ÃËÑÊ







¢¹Ò´









































¤ÇÒÁÂÒÇ







á¡¹







¤Á¡Ñ´







ÃÒ¤Ò
































































































































































































































STK
R 




A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A20

STK
R 









 

























































 














  
























































 














  

































































































 
























  
































































































 
























  
































































 









































 









































































 















































 



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A21

STK
M42-CO8 4FLUTE CORNER ROUNDING CUTTERS

R D d L

    
     
    
     
    
    
    
    

    
    
    
    
    
     
    
    
    

STK+17
STK+17


 
 
 
 
 
 
 
 
 
 




STM













¤ÑµàµÍÃ� R ã¹/ÁÕ´¡ÅÖ§

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ÃÒ¤Ò
























3x100
4x100
5x100
6x100

TBK3-100
TBK4-100
TBK5-100
TBK6-100

TBK8-100
TBK10-100
TBK12-100

460
400
460
514

8x100
10x100
12x100

ÁÕ´¡ÅÖ§¡ÅÁ

ÁÕ´¡ÅÖ§¡ÅÁ¤ÒÃ�äº·�

ÁÕ´¡ÅÖ§ÊÕèàËÅÕèÂÁ

LBK ÁÕ´¡ÅÖ§¡ÅÁ HSS#3000 ASP-60

LBK ÁÕ´¡ÅÖ§àËÅÕèÂÁ HSS#3000 AK-23

ÃËÑÊ ¢¹Ò´ ÃÒ¤Ò ÃËÑÊ ¢¹Ò´ ÃÒ¤Ò

1/4x1/4x8
5/16x5/16x8

3/8x3/8x8
1/2x1/2x8

1,225
1,544

¢¹Ò´ ¢¹Ò´ÃÒ¤Ò ÃÒ¤Ò

STK
R 









 

























































 














  
























































 














  

































































































 
























  
































































































 
























  
































































 









































 









































































 















































 



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A22

µ�Ò»à¡ÅÕÂÇá»ˆºäÎÊ»‚´
HSS STRAIGHT PIPE TAPS

µ�Ò»Á×ÍäÎÊ»‚´ (3 µÑÇªØ´)
HSS HAND TAPS

STK
R ´Í¡µ�Ò»äÎÊ»‚´

HSS TAPS

T102-005
T102-010
T102-015
T102-020
T102-025
T102-030
T102-040
T102-050
T102-070
T102-085
T102-090
T102-100
T102-110

T102-505
T102-510
T102-515
T102-520
T102-525
T102-530
T102-535

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M6 x 0.75
M7 x 1.0
M8 x 1.25

1/8 - W40
5/32 - W32
3/16 - W24
1/4 - W20
5/16 - W18
3/8 - W16
7/16 - W14

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

T102-250
T102-260
T102-265
T102-270
T102-280
T102-290
T102-300
T102-345
T102-370
T102-395
T102-420

T102-625
T102-635
T102-645
T102-655
T102-660
T102-665

M18 x 1.5
M20 x 2.5
M20 x 2.0
M20 x 1.5
M22 x 2.5
M22 x 1.5
M24 x 3.0
M27 x 3.0
M30 x 3.5
M33 x 3.5
M36 x 4.0

#5-40UNC
#6-32UNC
#8-32UNC
#10-24UNC
#10-32UNC
#12-24UNC

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

T102-115
T102-140
T102-145
T102-150
T102-175
T102-180
T102-185
T102-190
T102-195
T102-200
T102-225
T102-230
T102-240

T102-540
T102-545
T102-550
T102-555
T102-560
T102-565
T102-615

M8 x 1.0
M10 x 1.5
M10 x 1.25
M10 x 10
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1.0
M14 x 2.0
M14 x 1.5
M16 x 2.0
M16 x 1.5
M18 x 2.5

1/2 - W12
9/16 - W12
5/8 - W11
3/4 - W10
7/8 - W8
1” - W8

#4-40UNC

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

NPS

PF

PS(BSPF) (2 µÑÇµ‹ÍªØ´)

NPT

PT

T193-010
T193-015
T193-020
T193-025
T193-030
T193-035

T195-010
T195-015
T195-020
T195-025
T195-030
T195-035
T195-040
T195-045

T191-010
T191-015
T191-020
T191-025
T191-030
T191-035

T194-010
T194-015
T194-020
T194-025
T194-030
T194-035

T192-010
T192-015
T192-020
T192-025
T192-030
T192-035
T192-040
T192-045

NPS 1/8 - 27
NPS 1/4 - 18
NPS 3/8 - 18
NPS 1/2 - 14
NPS 3/4 - 14
NPS 1”-11-1/2

PF 1/8 - 28
PF 1/4 - 19
PF 3/8 - 19
PF 1/2 - 14
PF 3/4 - 14
PF 1” - 11

PF 1-1/4 - 11
PF 1-1/2 - 11

PS 1/8 - 28
PS 1/4 - 19
PS 3/8 - 19
PS 1/2 - 14
PS 3/4 - 14
PS 1”-11

NPT 1/8 - 27
NPT 1/4 - 18
NPT 3/8 - 18
NPT 1/2 - 14
NPT 3/4 - 14
NPT 1”-11-1/2

PT 1/8 - 28
PT 1/4 - 19
PT 3/8 - 19
PT 1/2 - 14
PT 3/4 - 14
PT 1” - 11

PT 1-1/4 - 11
PT 1-1/2 - 11

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A23

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ ÊÓËÃÑºµ�Ò»Êáµ¹àÅÊ
SPIRAL FLUTED TAPS FOR STAINLESS STEELS

T116-005
T116-010
T116-020
T116-025
T116-030
T116-040
T116-050

T116-070
T116-085
T116-110
T116-140
T116-175
T116-195
T116-225

T116-240
T116-260
T116-280
T116-300
T116-345
T116-370

M2 x 0.4
M2.2 x 0.45
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7

M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0

M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5

MATERIALS : HSS-EX

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ÊÕ¢ÒÇ ÊÓËÃÑºµ�Ò»âÅËÐ·ÕèäÁ‹ãª‹àËÅç¡ (àª‹¹ ·Í§á´§, ÍÅÙÁÔà¹ÕÂÁ)
SPIRAL FLUTED TAPS FOR NON-FERROUS METALS

T112-005
T112-010
T112-015
T112-020
T112-025
T112-030
T112-040
T112-050
T112-070
T112-085
T112-110

T118-005
T118-010
T118-020
T118-025
T118-030
T118-040
T118-050
T118-060
T118-070
T118-085
T118-100
T118-110
T118-125

T112-140
T112-175
T112-195
T112-225
T112-240
T112-260
T112-280
T112-300
T112-345
T112-370

T118-140
T118-160
T118-175
T118-195
T118-225
T118-240
T118-260
T118-280
T118-300
T118-345
T118-370
T118-395
T118-415

T112-505
T112-510
T112-515
T112-520
T112-525
T112-530
T112-535
T112-540
T112-545
T112-550
T112-555
T112-560
T112-565

T118-505
T118-510
T118-515
T118-520
T118-525
T118-530
T118-535
T118-540
T118-545
T118-550
T118-555
T118-560
T118-565

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M8 x 1.25

M2 x 0.4
M2.2 x 0.45
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7

M4.5 x 0.75
M5 x 0.8
M6 x 1.00
M7 x 1.00
M8 x 1.25
M9 x 1.25

M10 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0
M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5

M10 x 1.5
M11 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0
M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5
M33 x 3.5
M36 x 4.0

1/8 - W40
5/32 - W32
3/16 - W24
1/4 - W20
5/16 - W18
3/8 - W16
7/16 - W14
1/2 - W12
9/16 - W12
5/8 - W11
3/4 - W10
7/8 - W9
1” - W8

1/8 - W40
5/32 - W32
3/16 - W24
1/4 - W20
5/16 - W18
3/8 - W16
7/16 - W14
1/2 - W12
9/16 - W12
5/8 - W11
3/4 - W10
7/8 - W9
1” - W8

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

MATERIALS : HSS-EX

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÓËÃÑº§Ò¹·ÑèÇä»
GUN POINTED TAPS FOR GENETAL PURPOSE

MATERIALS : HSS-EX

STK
R ´Í¡µ�Ò»äÎÊ»‚´

HSS TAPS

µ�Ò»à¡ÅÕÂÇá»ˆºäÎÊ»‚´
HSS STRAIGHT PIPE TAPS

µ�Ò»Á×ÍäÎÊ»‚´ (3 µÑÇªØ´)
HSS HAND TAPS

STK
R ´Í¡µ�Ò»äÎÊ»‚´

HSS TAPS

T102-005
T102-010
T102-015
T102-020
T102-025
T102-030
T102-040
T102-050
T102-070
T102-085
T102-090
T102-100
T102-110

T102-505
T102-510
T102-515
T102-520
T102-525
T102-530
T102-535

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M6 x 0.75
M7 x 1.0
M8 x 1.25

1/8 - W40
5/32 - W32
3/16 - W24
1/4 - W20
5/16 - W18
3/8 - W16
7/16 - W14

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

T102-250
T102-260
T102-265
T102-270
T102-280
T102-290
T102-300
T102-345
T102-370
T102-395
T102-420

T102-625
T102-635
T102-645
T102-655
T102-660
T102-665

M18 x 1.5
M20 x 2.5
M20 x 2.0
M20 x 1.5
M22 x 2.5
M22 x 1.5
M24 x 3.0
M27 x 3.0
M30 x 3.5
M33 x 3.5
M36 x 4.0

#5-40UNC
#6-32UNC
#8-32UNC
#10-24UNC
#10-32UNC
#12-24UNC

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

T102-115
T102-140
T102-145
T102-150
T102-175
T102-180
T102-185
T102-190
T102-195
T102-200
T102-225
T102-230
T102-240

T102-540
T102-545
T102-550
T102-555
T102-560
T102-565
T102-615

M8 x 1.0
M10 x 1.5
M10 x 1.25
M10 x 10
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1.0
M14 x 2.0
M14 x 1.5
M16 x 2.0
M16 x 1.5
M18 x 2.5

1/2 - W12
9/16 - W12
5/8 - W11
3/4 - W10
7/8 - W8
1” - W8

#4-40UNC

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

NPS

PF

PS(BSPF) (2 µÑÇµ‹ÍªØ´)

NPT

PT

T193-010
T193-015
T193-020
T193-025
T193-030
T193-035

T195-010
T195-015
T195-020
T195-025
T195-030
T195-035
T195-040
T195-045

T191-010
T191-015
T191-020
T191-025
T191-030
T191-035

T194-010
T194-015
T194-020
T194-025
T194-030
T194-035

T192-010
T192-015
T192-020
T192-025
T192-030
T192-035
T192-040
T192-045

NPS 1/8 - 27
NPS 1/4 - 18
NPS 3/8 - 18
NPS 1/2 - 14
NPS 3/4 - 14
NPS 1”-11-1/2

PF 1/8 - 28
PF 1/4 - 19
PF 3/8 - 19
PF 1/2 - 14
PF 3/4 - 14
PF 1” - 11

PF 1-1/4 - 11
PF 1-1/2 - 11

PS 1/8 - 28
PS 1/4 - 19
PS 3/8 - 19
PS 1/2 - 14
PS 3/4 - 14
PS 1”-11

NPT 1/8 - 27
NPT 1/4 - 18
NPT 3/8 - 18
NPT 1/2 - 14
NPT 3/4 - 14
NPT 1”-11-1/2

PT 1/8 - 28
PT 1/4 - 19
PT 3/8 - 19
PT 1/2 - 14
PT 3/4 - 14
PT 1” - 11

PT 1-1/4 - 11
PT 1-1/2 - 11

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A24

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÓËÃÑºµ�Ò»Êáµ¹àÅÊ
GUN POINTED TAPS FOR STAINLESS STELLS

T120-005
T120-010
T120-020
T120-025
T120-030
T120-040
T120-050

T122-005
T122-010
T122-020
T122-025
T122-030
T122-040
T122-050

T124-030
T124-040
T124-045

T126-005
T126-010
T126-015
T126-020

T120-070
T120-085
T120-110
T120-140
T120-175
T120-195
T120-225

T122-070
T122-085
T122-110
T122-140
T122-175
T122-195
T122-225

T124-050
T124-055
T124-060

T126-025
T126-030
T126-035
T126-045

T120-240
T120-260
T120-280
T120-300
T120-345
T120-370

T122-240
T122-260
T122-280
T122-300
T122-345
T122-370

T124-070

T126-060
T126-070
T126-080
T126-090

M2 x 0.4
M2.2 x 0.45
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7

M2 x 0.4
M2.2 x 0.45
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7

M3 x 0.5
M4 x 0.7
M5 x 0.8

M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8

M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0

M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0

M6 x 1.0
M8 x 1.25
M10 x 1.5

M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75

M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5

M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5

M12 x 1.75

M14 x 2.0
M16 x 2.0
M18 x 2.5
M20 x 2.5

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

MATERIALS : HSS-EX

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÓËÃÑºµ�Ò»âÅËÐ·ÕèäÁ‹ãª‹àËÅç¡ (àª‹¹ ·Í§á´§, ÍÅÙÁÔà¹ÕÂÁ)
GUN POINTED TAPS FOR NON-FERROUS METALS

MATERIALS : HSS-EX

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ à¤Å×Íº TiALN-COATED ÊÓËÃÑºàËÅç¡á¢ç§¾ÔàÈÉ
SPIRAL FULTED TAPS FOR TITANIUM ALLOYS

MATERIALS : HSS-EX
TiALN-COATED

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ à¤Å×Íº TiALN-COATED ÊÓËÃÑºàËÅç¡á¢ç§¾ÔàÈÉ (ÃØ‹¹¹ÕéãªŒä´Œ·Ñé§Á×Í)
GUN POINTED TAPS FOR HARD TO MACHINE MATERIAL

MATERIALS : HSS-EX
TiALN-COATED

STK
R ´Í¡µ�Ò»äÎÊ»‚´

HSS TAPS



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A25

SPIRAL FLUTED TAPS FOR GENERAL PURPOSE
HSS-EX

T114-005
T114-010
T114-020
T114-025
T114-030
T114-040
T114-050
T114-055
T114-060
T114-070
T114-075
T114-085
T114-090
T114-100
T114-110
T114-115
T114-125
T114-140
T114-145
T114-150

T114-505
T114-510
T114-515
T114-520
T114-525
T114-530
T114-535
T114-540
T114-545
T114-550
T114-555

T115-005
T115-020
T115-030
T115-050
T115-070
T115-085
T115-110
T115-140
T115-145
T115-175
T115-180

T115-185
T115-195
T115-200
T115-225
T115-230
T115-240
T115-245
T115-250
T115-260
T115-265
T115-270

T114-560
T114-565
T114-605
T114-615
T114-625
T114-635
T114-645
T114-655
T114-660
T114-665

115
125
42
44
46
48
52
60
60
60

55
60
15
16
18
18
20
22
22
22

7/8 - W9
1” - W8

#2-56 UNC
#4-40 UNC
#5-40 UNC
#6-32 UNC
#8-32 UNC
#10-24 UNC
#10-32 UNF
#12-24 UNC

46
48
60
62
70
75
80
85
90
95
105

18
18
22
24
30
35
38
42
42
45
50

T114-175
T114-180
T114-185
T114-195
T114-200
T114-225
T114-230
T114-240
T114-245
T114-250
T114-260
T114-265
T114-270
T114-280
T114-290
T114-300
T114-345
T114-370
T114-395
T114-415

40
42
44
44
46
48
52
52
55
60
60
62
62
65
70
70
72
75
75
70

15
15
16
16
18
18
20
20
20
22
22
24
24
26
30
30
30
32
32
30

38
38
38
42
42
45
45
48
45
45
50
45
45
55
55
58
62
65
70
75

82
82
80
88
88
95
95
100
95
95
105
95
95
115
115
120
130
135
145
155

M2 X 0.4 
M2.2 X 0.45 
M2.5 X 0.45 
M2.6 X 0.45 

M3 X 0.5 
M3.5 X 0.6 
M4 X 0.7 
M4 X 0.5 

M4.5 X 0.75 
M5 X 0.8 
M5 X 0.5 
M6 X 1 

M6 X 0.75 
M7 X 1 

M8 X 1.25 
M8 X 1 

M9 X 1.25 
M10 X 1.5 
M10 X 1.25 
M10 X 1 

M12 X 1.75 
M12 X 1.5 
M12 X 1.25 
M14 X 2 

M14 X 1.5 
M16 X 2 

M16 X 1.5 
M18 X 2.5 
M18 X 2 

M18 X 1.5 
M20 X 2.5 
M20 X 2 

M20 X 1.5 
M22 X 2.5 
M22 X 1.5 
M24 X 3 
M27 X 3 

M30 X 3.5 
M33 X 3.5 
M36 X 4 

1/8 - W40 
5/32 - W32 
3/16 - W24 
1/4 - W20 
5/16 - W18 
3/8 - W16 
7/16 - W14
1/2 - W12 
9/16 - W12 
5/8 - W11
3/4 - W10 

SPIRAL FLUTED TAPS FOR DEEP HOLES
(FOR GENERAL PURPOSE)

HSS-EX

M2 X 0.4 4 40
M2.5 X 0.45 4.5 44
M3 X 0.5 5 46
M4 X 0.7 7 52
M5 X 0.8 8 60
M6 X 1 10 62

M8 X 1.25 12.5 70
M10 X 1.5 15 75
M10 X 1.25 12.5 75
M12 X 1.75 17.5 82
M12 X 1.5 15 82

M12 X 1.25 12.5 82
M14 X 2 20 88
M14 X 1.5 15 88
M16 X 2 20 95

M16 X 1.5 15 95
M18 X 2.5 25 100
M18 X 2 20 100

M18 X 1.5 15 100
M20 X 2.5 25 105
M20 X 2 20 105

M20 X 1.5 15 105

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ÊÓËÃÑº§Ò¹·ÑèÇä»

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ÊÓËÃÑº§Ò¹·ÑèÇä» (áººÃÙÅÖ¡)

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÓËÃÑºµ�Ò»Êáµ¹àÅÊ
GUN POINTED TAPS FOR STAINLESS STELLS

T120-005
T120-010
T120-020
T120-025
T120-030
T120-040
T120-050

T122-005
T122-010
T122-020
T122-025
T122-030
T122-040
T122-050

T124-030
T124-040
T124-045

T126-005
T126-010
T126-015
T126-020

T120-070
T120-085
T120-110
T120-140
T120-175
T120-195
T120-225

T122-070
T122-085
T122-110
T122-140
T122-175
T122-195
T122-225

T124-050
T124-055
T124-060

T126-025
T126-030
T126-035
T126-045

T120-240
T120-260
T120-280
T120-300
T120-345
T120-370

T122-240
T122-260
T122-280
T122-300
T122-345
T122-370

T124-070

T126-060
T126-070
T126-080
T126-090

M2 x 0.4
M2.2 x 0.45
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7

M2 x 0.4
M2.2 x 0.45
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7

M3 x 0.5
M4 x 0.7
M5 x 0.8

M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8

M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0

M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2.0
M16 x 2.0

M6 x 1.0
M8 x 1.25
M10 x 1.5

M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75

M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5

M18 x 2.5
M20 x 2.5
M22 x 2.5
M24 x 3.0
M27 x 3.0
M30 x 3.5

M12 x 1.75

M14 x 2.0
M16 x 2.0
M18 x 2.5
M20 x 2.5

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

MATERIALS : HSS-EX

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÓËÃÑºµ�Ò»âÅËÐ·ÕèäÁ‹ãª‹àËÅç¡ (àª‹¹ ·Í§á´§, ÍÅÙÁÔà¹ÕÂÁ)
GUN POINTED TAPS FOR NON-FERROUS METALS

MATERIALS : HSS-EX

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ à¤Å×Íº TiALN-COATED ÊÓËÃÑºàËÅç¡á¢ç§¾ÔàÈÉ
SPIRAL FULTED TAPS FOR TITANIUM ALLOYS

MATERIALS : HSS-EX
TiALN-COATED

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ à¤Å×Íº TiALN-COATED ÊÓËÃÑºàËÅç¡á¢ç§¾ÔàÈÉ (ÃØ‹¹¹ÕéãªŒä´Œ·Ñé§Á×Í)
GUN POINTED TAPS FOR HARD TO MACHINE MATERIAL

MATERIALS : HSS-EX
TiALN-COATED

STK
R ´Í¡µ�Ò»äÎÊ»‚´

HSS TAPS



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A26

SPIRAL FLUTED TAPS FOR MULTI PURPOSE HSS-E

T181-005
T181-010
T181-015
T181-020
T181-025
T181-030
T181-035
T181-040
T181-045
T181-050
T181-055
T181-060
T181-065
T181-070
T181-075
T181-080
T181-085
T181-090
T181-095
T181-100
T181-105
T181-110
T181-115
T181-120
T181-125
T181-130
T181-135
T181-140
T181-145
T181-150
T181-155
T181-160
T181-165
T181-170
T181-175
T181-180
T181-185
T181-190
T181-195
T181-200

M2 X 0.4
M2.2 X 0.45
M2.3 X 0.4
M2.5 X 0.45
M2.6 X 0.45
M3 X 0.5
M3 X 0.35
M3.5 X 0.6
M3.5 X 0.35
M4 X 0.7
M4 X 0.5

M4.5 X 0.75
M4.5 X 0.5
M5 X 0.8
M5 X 0.5
M5.5 X 0.5
M6 X 1.0
M6 X 0.75
M6 X 0.5
M7 X 1.0
M7 X 0.75
M8 X 1.25
M8 X 1.0
M8 X 0.75
M9 X 1.25
M9 X 1.0
M9 X 0.75
M10 X 1.5
M10 X 1.25
M10 x 1.0
M10 X 0.75
M11 X 1.5
M11 X 1.0
M11 X 0.75
M12 X 1.75
M12 X 1.5
M12 X 1.25
M12 X 1.0
M14 X 2.0
M14 X 1.5

9.5
9.5
9.5
9.5
9.5
11.0
11.0
13.0
13.0
13.0
13.0
13.0
13.0
16.0
16.0
16.0
19.0
19.0
19.0
19.0
19.0
22.0
22.0
22.0
22.0
22.0
22.0
24.0
24.0
24.0
24.0
25.0
25.0
25.0
29.0
29.0
29.0
29.0
30.0
30.0

40.0
42.0
42.0
44.0
44.0
46.0
46.0
48.0
48.0
52.0
52.0
55.0
55.0
60.0
60.0
60.0
62.0
62.0
62.0
65.0
65.0
70.0
70.0
70.0
72.0
72.0
72.0
75.0
75.0
75.0
75.0
80.0
80.0
80.0
82.0
82.0
82.0
82.0
88.0
88.0

HSS-E TAPS
µ�Ò»à¤Ã×èÍ§äÎÊ»‚´

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

T181-205
T181-210
T181-215
T181-220
T181-225
T181-230
T181-235
T181-240
T181-245
T181-250
T181-255
T181-260
T181-265
T181-270
T181-275
T181-280
T181-285
T181-290
T181-295
T181-300
T181-305
T181-310
T181-315
T181-320
T181-325
T181-330
T181-335
T181-340
T181-345
T181-350
T181-355
T181-360
T181-365
T181-370
T181-375
T181-380
T181-385
T181-390

M14 X 1.25
M14 X 1.0
M15 X 1.5
M15 X 1.0
M16 X 2.0
M16 X 1.5
M16 X 1.0
M18 X 2.5
M18 X 2.0
M18 X 1.5
M18 X 1.0
M20 X 2.5
M20 X 2.0
M20 X 1.5
M20 X 1.0
M22 X 2.5
M22 X 2.0
M22 X 1.5
M22 X 1.0
M24 X 3.0
M24 X 2.0
M24 X 1.5
M24 X 1.0
M25 X 2.0
M25 X 1.5
M26 X 2.0
M26 X 1.5
M26 X 1.0
M27 X 3.0
M27 X 2.0
M27 x 1.5
M28 X 2.0
M28 X 1.5
M30 X 3.5
M30 X 3.0
M30 X 2.0
M30 X 1.5
M30 X 1.0

30.0
30.0
30.0
30.0
32.0
32.0
32.0
37.0
37.0
37.0
37.0
37.0
37.0
37.0
37.0
38.0
38.0
38.0
38.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
48.0
48.0
45.0
45.0
45.0

88.0
88.0
90.0
90.0
95.0
95.0
95.0
100.0
100.0
100.0
100.0
105.0
105.0
105.0
105.0
115.0
115.0
115.0
115.0
120.0
120.0
120.0
120.0
125.0
125.0
125.0
125.0
125.0
130.0
130.0
130.0
130.0
130.0
135.0
135.0
135.0
135.0
135.0

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ÃØ‹¹µ�Ò»àËÅç¡·Ø¡ÍÂ‹Ò§ (ÊÓËÃÑºÃÙµÑ¹)



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A27

T184-030
T184-050
T184-070
T184-085
T184-110
T184-115
T184-120
T184-140
T184-145
T184-150
T184-155
T184-175
T184-180
T184-185
T184-190

T185-030
T185-050
T185-070
T185-085
T185-110
T185-115
T185-120
T185-140
T185-145
T185-150
T185-155
T185-175
T185-180
T185-185
T185-190
T185-195
T185-200
T185-205
T185-210
T185-225
T185-230
T185-235

T186-030
T186-050
T186-070
T186-085
T186-110
T186-115
T186-120
T186-140
T186-145
T186-150
T186-155
T186-175
T186-180
T186-185
T186-190
T186-195
T186-200
T186-205
T186-210
T186-225
T186-230
T186-235
T186-240
T186-245
T186-250
T186-255
T186-260
T186-265
T186-270
T186-275

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1

M8 x 1.25
M8 x 1

M8 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1

M8 x 1.25
M8 x 1

M8 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1
M14 x 2
M14 x 1.5
M14 x 1.25
M14 x 1
M16 x 2
M16 x 1.5
M16 x 1

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1

M8 x 1.25
M8 x 1

M8 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1
M14 x 2
M14 x 1.5
M14 x 1.25
M14 x 1
M16 x 2
M16 x 1.5
M16 x 1
M18 x 2.5
M18 x 2
M18 x 1.5
M18 x 1
M20 x 2.5
M20 x 2
M20 x 1.5
M20 x 1

11
13
16
19
22
22
22
24
24
24
24
29
29
29
29

11
13
16
19
22
22
22
24
24
24
24
29
29
29
29
30
30
30
30
32
32
32

11
13
16
19
22
22
22
24
24
24
24
29
29
29
29
30
30
30
30
32
32
32
37
37
37
37
37
37
37
37

100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120

150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

SPIRAL FLUTED TAPS FOR MULTI PURPOSE
M : HSS-EX

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´

LONG  ÃØ‹¹ÂÒÇ 100 mm

EXTRA LONG  ÃØ‹¹ÂÒÇ 120 mm

SUPER LONG  ÃØ‹¹ÂÒÇ 150 mm

SPIRAL FLUTED TAPS FOR MULTI PURPOSE HSS-E

T181-005
T181-010
T181-015
T181-020
T181-025
T181-030
T181-035
T181-040
T181-045
T181-050
T181-055
T181-060
T181-065
T181-070
T181-075
T181-080
T181-085
T181-090
T181-095
T181-100
T181-105
T181-110
T181-115
T181-120
T181-125
T181-130
T181-135
T181-140
T181-145
T181-150
T181-155
T181-160
T181-165
T181-170
T181-175
T181-180
T181-185
T181-190
T181-195
T181-200

M2 X 0.4
M2.2 X 0.45
M2.3 X 0.4
M2.5 X 0.45
M2.6 X 0.45
M3 X 0.5
M3 X 0.35
M3.5 X 0.6
M3.5 X 0.35
M4 X 0.7
M4 X 0.5

M4.5 X 0.75
M4.5 X 0.5
M5 X 0.8
M5 X 0.5
M5.5 X 0.5
M6 X 1.0
M6 X 0.75
M6 X 0.5
M7 X 1.0
M7 X 0.75
M8 X 1.25
M8 X 1.0
M8 X 0.75
M9 X 1.25
M9 X 1.0
M9 X 0.75
M10 X 1.5
M10 X 1.25
M10 x 1.0
M10 X 0.75
M11 X 1.5
M11 X 1.0
M11 X 0.75
M12 X 1.75
M12 X 1.5
M12 X 1.25
M12 X 1.0
M14 X 2.0
M14 X 1.5

9.5
9.5
9.5
9.5
9.5
11.0
11.0
13.0
13.0
13.0
13.0
13.0
13.0
16.0
16.0
16.0
19.0
19.0
19.0
19.0
19.0
22.0
22.0
22.0
22.0
22.0
22.0
24.0
24.0
24.0
24.0
25.0
25.0
25.0
29.0
29.0
29.0
29.0
30.0
30.0

40.0
42.0
42.0
44.0
44.0
46.0
46.0
48.0
48.0
52.0
52.0
55.0
55.0
60.0
60.0
60.0
62.0
62.0
62.0
65.0
65.0
70.0
70.0
70.0
72.0
72.0
72.0
75.0
75.0
75.0
75.0
80.0
80.0
80.0
82.0
82.0
82.0
82.0
88.0
88.0

HSS-E TAPS
µ�Ò»à¤Ã×èÍ§äÎÊ»‚´

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

T181-205
T181-210
T181-215
T181-220
T181-225
T181-230
T181-235
T181-240
T181-245
T181-250
T181-255
T181-260
T181-265
T181-270
T181-275
T181-280
T181-285
T181-290
T181-295
T181-300
T181-305
T181-310
T181-315
T181-320
T181-325
T181-330
T181-335
T181-340
T181-345
T181-350
T181-355
T181-360
T181-365
T181-370
T181-375
T181-380
T181-385
T181-390

M14 X 1.25
M14 X 1.0
M15 X 1.5
M15 X 1.0
M16 X 2.0
M16 X 1.5
M16 X 1.0
M18 X 2.5
M18 X 2.0
M18 X 1.5
M18 X 1.0
M20 X 2.5
M20 X 2.0
M20 X 1.5
M20 X 1.0
M22 X 2.5
M22 X 2.0
M22 X 1.5
M22 X 1.0
M24 X 3.0
M24 X 2.0
M24 X 1.5
M24 X 1.0
M25 X 2.0
M25 X 1.5
M26 X 2.0
M26 X 1.5
M26 X 1.0
M27 X 3.0
M27 X 2.0
M27 x 1.5
M28 X 2.0
M28 X 1.5
M30 X 3.5
M30 X 3.0
M30 X 2.0
M30 X 1.5
M30 X 1.0

30.0
30.0
30.0
30.0
32.0
32.0
32.0
37.0
37.0
37.0
37.0
37.0
37.0
37.0
37.0
38.0
38.0
38.0
38.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
45.0
48.0
48.0
45.0
45.0
45.0

88.0
88.0
90.0
90.0
95.0
95.0
95.0
100.0
100.0
100.0
100.0
105.0
105.0
105.0
105.0
115.0
115.0
115.0
115.0
120.0
120.0
120.0
120.0
125.0
125.0
125.0
125.0
125.0
130.0
130.0
130.0
130.0
130.0
135.0
135.0
135.0
135.0
135.0

ÃËÑÊ ¢¹Ò´ ¤Á ÂÒÇ ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ÃØ‹¹µ�Ò»àËÅç¡·Ø¡ÍÂ‹Ò§ (ÊÓËÃÑºÃÙµÑ¹)



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A28

T181-505
T181-510
T181-515
T181-520
T181-525
T181-530
T181-535
T181-540
T181-545
T181-550
T181-555
T181-560
T181-565

T281-005
T281-010
T281-015
T281-020
T281-025
T281-030
T281-040
T281-050
T281-070
T281-085
T281-110
T281-140
T281-175
T281-195
T281-225
T281-240
T281-260

T283-005
T283-010
T283-015
T283-020
T283-025
T283-030
T283-040
T283-050
T283-070
T283-085
T283-110
T283-140
T283-175
T283-195
T283-225
T283-240
T283-260

W1/8 - 40
W5/32 - 32
W3/16 - 24
W1/4 - 20
W5/16 - 18
W3/8 - 16
W7/16 - 14
W1/2 - 12
W9/16 - 12
W5/8 - 11
W3/4 - 10
W7/8 - 9
W1” - 8

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2
M16 x 2
M18 x 2.5
M20 x 2.5

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2
M16 x 2
M18 x 2.5
M20 x 2.5

11
13
16
19
22
24
25
29
30
32
37
38
45

9.5
9.5
9.5
9.5
9.5
11
13
13
16
19
22
24
29
30
32
37
37

9.5
9.5
9.5
9.5
9.5
11
13
13
16
19
22
24
29
30
32
37
37

46
52
60
62
70
75
80
85
90
95
105
115
125

40
42
42
44
44
46
48
52
60
62
70
75
82
88
95
100
105

40
42
42
44
44
46
48
52
60
62
70
75
82
88
95
100
105

ÃËÑÊ

ÃËÑÊ ÃËÑÊ

¢¹Ò´

¢¹Ò´ ¢¹Ò´

¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇ

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

T183-505
T183-510
T183-515
T183-520
T183-525
T183-530
T183-535
T183-540
T183-545
T183-550
T183-555
T183-560
T183-565

W1/8 - 40
W5/32 - 32
W3/16 - 24
W1/4 - 20
W5/16 - 18
W3/8 - 16
W7/16 - 14
W1/2 - 12
W9/16 - 12
W5/8 - 11
W3/4 - 10
W7/8 - 9
W1” - 8

11
13
16
19
22
24
25
29
30
32
37
38
45

46
52
60
62
70
75
80
85
90
95
105
115
125

ÃËÑÊ ¢¹Ò´ ¤Á¡Ñ´ ¤ÇÒÁÂÒÇ ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ (àËÅç¡·Ø¡ÍÂ‹Ò§)
SPIRAL FLUTED TAPS FOR MULTI PURPOSE

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ (àËÅç¡·Ø¡ÍÂ‹Ò§)
I-GP GUN POINT TAPS FOR MULTI PURPOSE

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ ÊÕ·Í§ µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÕ·Í§

HSS-EX

INCH INCH

TiN-COATED TiN-COATED

HSS-EX

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A29

T187-030
T187-050
T187-070
T187-085
T187-110
T187-115
T187-120
T187-140
T187-145
T187-150
T187-155
T187-175
T187-180
T187-185
T187-190

T188-030
T188-050
T188-070
T188-085
T188-110
T188-140
T188-145
T188-150
T188-155
T188-175
T188-180
T188-185
T188-190
T188-195
T188-200
T188-205
T188-210
T188-225
T188-230
T188-235

T189-030
T189-050
T189-070
T189-085
T189-110
T189-115
T189-120
T189-140
T189-145
T189-150
T189-155
T189-175
T189-180
T189-185
T189-190
T189-195
T189-200
T189-205
T189-210
T189-225
T189-230
T189-235
T189-240
T189-245
T189-250
T189-255
T189-260
T189-265
T189-270
T189-275

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1

M8 x 1.25
M8 x 1

M8 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1

M8 x 1.25
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1
M14 x 2
M14 x 1.5
M14 x 1.25
M14 x 1
M16 x 2
M16 x 1.5
M16 x 1

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1

M8 x 1.25
M8 x 1

M8 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1
M14 x 2
M14 x 1.5
M14 x 1.25
M14 x 1
M16 x 2
M16 x 1.5
M16 x 1
M18 x 2.5
M18 x 2
M18 x 1.5
M18 x 1
M20 x 2.5
M20 x 2
M20 x 1.5
M20 x 1

11
13
16
19
22
22
22
24
24
24
24
29
29
29
29

11
13
16
19
22
24
24
24
24
29
29
29
29
30
30
30
30
32
32
32

11
13
16
19
22
22
22
24
24
24
24
29
29
29
29
30
30
30
30
32
32
32
37
37
37
37
37
37
37
37

100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120
120

150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ÊÓËÃÑºàËÅç¡·Ø¡ÍÂ‹Ò§
GUN POINT TAPS FOR MULTI PURPOSE
M : HSS-EX

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´

LONG  ÃØ‹¹ÂÒÇ 100 mm

EXTRA LONG  ÃØ‹¹ÂÒÇ 120 mm

SUPER LONG  ÃØ‹¹ÂÒÇ 150 mm
T181-505
T181-510
T181-515
T181-520
T181-525
T181-530
T181-535
T181-540
T181-545
T181-550
T181-555
T181-560
T181-565

T281-005
T281-010
T281-015
T281-020
T281-025
T281-030
T281-040
T281-050
T281-070
T281-085
T281-110
T281-140
T281-175
T281-195
T281-225
T281-240
T281-260

T283-005
T283-010
T283-015
T283-020
T283-025
T283-030
T283-040
T283-050
T283-070
T283-085
T283-110
T283-140
T283-175
T283-195
T283-225
T283-240
T283-260

W1/8 - 40
W5/32 - 32
W3/16 - 24
W1/4 - 20
W5/16 - 18
W3/8 - 16
W7/16 - 14
W1/2 - 12
W9/16 - 12
W5/8 - 11
W3/4 - 10
W7/8 - 9
W1” - 8

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2
M16 x 2
M18 x 2.5
M20 x 2.5

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3.5 x 0.6
M4 x 0.7
M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M14 x 2
M16 x 2
M18 x 2.5
M20 x 2.5

11
13
16
19
22
24
25
29
30
32
37
38
45

9.5
9.5
9.5
9.5
9.5
11
13
13
16
19
22
24
29
30
32
37
37

9.5
9.5
9.5
9.5
9.5
11
13
13
16
19
22
24
29
30
32
37
37

46
52
60
62
70
75
80
85
90
95
105
115
125

40
42
42
44
44
46
48
52
60
62
70
75
82
88
95
100
105

40
42
42
44
44
46
48
52
60
62
70
75
82
88
95
100
105

ÃËÑÊ

ÃËÑÊ ÃËÑÊ

¢¹Ò´

¢¹Ò´ ¢¹Ò´

¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇ

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

T183-505
T183-510
T183-515
T183-520
T183-525
T183-530
T183-535
T183-540
T183-545
T183-550
T183-555
T183-560
T183-565

W1/8 - 40
W5/32 - 32
W3/16 - 24
W1/4 - 20
W5/16 - 18
W3/8 - 16
W7/16 - 14
W1/2 - 12
W9/16 - 12
W5/8 - 11
W3/4 - 10
W7/8 - 9
W1” - 8

11
13
16
19
22
24
25
29
30
32
37
38
45

46
52
60
62
70
75
80
85
90
95
105
115
125

ÃËÑÊ ¢¹Ò´ ¤Á¡Ñ´ ¤ÇÒÁÂÒÇ ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ (àËÅç¡·Ø¡ÍÂ‹Ò§)
SPIRAL FLUTED TAPS FOR MULTI PURPOSE

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ (àËÅç¡·Ø¡ÍÂ‹Ò§)
I-GP GUN POINT TAPS FOR MULTI PURPOSE

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÊÇ‹Ò¹ ÊÕ·Í§ µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ ÊÕ·Í§

HSS-EX

INCH INCH

TiN-COATED TiN-COATED

HSS-EX

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A30

T183-005
T183-010
T183-015
T183-020
T183-025
T183-030
T183-035
T183-040
T183-045
T183-050
T183-055
T183-060
T183-065
T183-070
T183-075
T183-080
T183-085
T183-090
T183-095
T183-100
T183-105
T183-110
T183-115
T183-120
T183-125
T183-130
T183-135
T183-140
T183-145
T183-150
T183-155
T183-160
T183-165
T183-170
T183-175
T183-180
T183-185
T183-190
T183-195
T183-200
T183-205
T183-210
T183-215

T183-220
T183-225
T183-230
T183-235
T183-240
T183-245
T183-250
T183-255
T183-260
T183-265
T183-270
T183-275
T183-280
T183-285
T183-290
T183-295
T183-300
T183-305
T183-310
T183-315
T183-320
T183-325
T183-330
T183-335
T183-340
T183-345
T183-350
T183-355
T183-360
T183-365
T183-370
T183-375
T183-380
T183-385
T183-390
T183-395
T183-400
T183-405
T183-410
T183-415
T183-420
T183-425
T183-430

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3 x 0.35
M3.5 x 0.6
M3.5 x 0.35
M4 x 0.7
M4 x 0.5

M4.5 x 0.75
M4.5 x 0.5
M5 x 0.8
M5 x 0.5
M5.5 x 0.5
M6 x 1

M6 x 0.75
M6 x 0.5
M7 x 1

M7 x 0.75
M8 x 1.25
M8 x 1

M8 x 0.75
M9 x 1.25
M9 x 1

M9 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M11 x 1.5
M11 x 1

M11 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1
M14 x 2
M14 x 1.5
M14 x 1.25
M14 x 1
M15 x 1.5

M15 x 1
M16 x 2
M16 x 1.5
M16 x 1
M18 x 2.5
M18 x 2
M18 x 1.5
M18 x 1
M20 x 2.5
M20 x 2
M20 x 1.5
M20 x 1
M22 x 2.5
M22 x 2
M22 x 1.5
M22 x 1
M24 x 3
M24 x 2
M24 x 1.5
M24 x 1
M25 x 2
M25 x 1.5
M26 x 2
M26 x 1.5
M26 x 1
M27 x 3
M27 x 2
M27 x 1.5
M28 x 2
M28 x 1.5
M30 x 3.5
M30 x 3
M30 x 2
M30 x 1.5
M30 x 1
M33 x 3.5
M33 x 3
M33 x 2
M33 x 1.5
M36 x 4
M36 x 3
M36 x 2
M36 x 1.5

9.5
9.5
9.5
9.5
9.5
11
11
13
13
13
13
13
13
16
16
16
19
19
19
19
19
22
22
22
22
22
22
24
24
24
24
25
25
25
29
29
29
29
30
30
30
30
30

30
32
32
32
37
37
37
37
37
37
37
37
38
38
38
38
45
45
45
45
45
45
45
45
45
45
45
45
45
45
48
48
45
45
45
51
51
45
45
57
57
45
45

40
42
42
44
44
46
46
48
48
52
52
55
55
60
60
60
62
62
62
65
65
70
70
70
72
72
72
75
75
75
75
80
80
80
82
82
82
82
88
88
88
88
90

90
95
95
95
100
100
100
100
105
105
105
105
115
115
115
115
120
120
120
120
125
125
125
125
125
130
130
130
130
130
135
135
135
135
135
145
145
145
145
155
155
155
155

ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´¤Á¡Ñ´ ¤Á¡Ñ´¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇÃÒ¤Ò ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ÊÓËÃÑºàËÅç¡·Ø¡ÍÂ‹Ò§
I-GP GUN POINT TAPS FOR MULTI PURPOSE

HSS-EX

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A31

2 »Ò¡

4 »Ò¡

4 »Ò¡

X-POWER for High Speed Cutting




































EM811-0010
EM811-0015
EM811-0020
EM811-0025
EM811-0030
EM811-0035
EM811-0040
EM811-0045
EM811-0050
EM811-0060
EM811-0070
EM811-0080
EM811-0090
EM811-0100
EM811-0110
EM811-0120
EM811-0140
EM811-0160
EM811-0180
EM811-0200




































1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20




































4
4
4
4
6
6
6
6
6
6
8
8
10
10
12
12
14
16
18
20




































2.5
4
6
8
8
10
12
12
13
16
16
20
20
22
22
26
26
32
32
38

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´




































50
50
50
50
50
50
50
50
50
50
63
63
70
76
76
76
85
100
100
105

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

ÃÒ¤Ò

ÃÒ¤Ò










































ÃËÑÊ ¢¹Ò´












¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡ á¡¹àÅç¡
ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

4 »Ò¡ á¡¹àÅç¡

2 »Ò¡ ÃØ‹¹ÂÒÇ

4 »Ò¡ ÃØ‹¹ÂÒÇ
ÃËÑÊ ¢¹Ò´ ¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

EM827-0030
EM827-0040
EM827-0050
EM827-0060
EM827-0080
EM827-0100
EM827-0120
EM827-0160
EM827-0200

EM817-0030
EM817-0040
EM817-0050
EM817-0060
EM817-0080
EM817-0100
EM817-0120
EM817-0160
EM817-0200

EM816-0030
EM816-0040
EM816-0050
EM816-0060
EM816-0080
EM816-0100
EM816-0120
EM816-0160
EM816-0200

EM808-0010
EM808-0015
EM808-0020
EM808-0025
EM808-0030
EM808-0040

EM809-0010
EM809-0015
EM809-0020
EM809-0025
EM809-0030
EM809-0040

3
4
5
6
8
10
12
16
20

3
4
5
6
8
10
12
16
20

3
4
5
6
8
10
12
16
20

1
1.5
2
2.5
3
4

1
1.5
2
2.5
3
4

3
4
5
6
8
10
12
16
20

6
6
6
6
8
10
12
16
20

6
6
6
6
8
10
12
16
20

3
3
3
3
3
4

3
3
3
3
3
4

25
31
31
38
41
45
75
75
75

15
15
20
20
25
34
40
50
55

15
15
20
20
25
34
40
50
55

4
4
6.5
6.5
9.5
12

4
4
6.5
6.5
9.5
12

75
75
100
100
100
100
150
150
150

63
63
63
63
76
90
100
110
125

63
63
63
63
76
90
100
110
125

38
38
38
38
38
50

38
38
38
38
38
50

ÃËÑÊ ¢¹Ò´ ¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

STK
R àÍç¹ÁÔÅ¤ÒÃ�äº·� X-POWER
X-POWER CARBIDE END MILLS

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o

T183-005
T183-010
T183-015
T183-020
T183-025
T183-030
T183-035
T183-040
T183-045
T183-050
T183-055
T183-060
T183-065
T183-070
T183-075
T183-080
T183-085
T183-090
T183-095
T183-100
T183-105
T183-110
T183-115
T183-120
T183-125
T183-130
T183-135
T183-140
T183-145
T183-150
T183-155
T183-160
T183-165
T183-170
T183-175
T183-180
T183-185
T183-190
T183-195
T183-200
T183-205
T183-210
T183-215

T183-220
T183-225
T183-230
T183-235
T183-240
T183-245
T183-250
T183-255
T183-260
T183-265
T183-270
T183-275
T183-280
T183-285
T183-290
T183-295
T183-300
T183-305
T183-310
T183-315
T183-320
T183-325
T183-330
T183-335
T183-340
T183-345
T183-350
T183-355
T183-360
T183-365
T183-370
T183-375
T183-380
T183-385
T183-390
T183-395
T183-400
T183-405
T183-410
T183-415
T183-420
T183-425
T183-430

M2 x 0.4
M2.2 x 0.45
M2.3 x 0.4
M2.5 x 0.45
M2.6 x 0.45
M3 x 0.5
M3 x 0.35
M3.5 x 0.6
M3.5 x 0.35
M4 x 0.7
M4 x 0.5

M4.5 x 0.75
M4.5 x 0.5
M5 x 0.8
M5 x 0.5
M5.5 x 0.5
M6 x 1

M6 x 0.75
M6 x 0.5
M7 x 1

M7 x 0.75
M8 x 1.25
M8 x 1

M8 x 0.75
M9 x 1.25
M9 x 1

M9 x 0.75
M10 x 1.5
M10 x 1.25
M10 x 1

M10 x 0.75
M11 x 1.5
M11 x 1

M11 x 0.75
M12 x 1.75
M12 x 1.5
M12 x 1.25
M12 x 1
M14 x 2
M14 x 1.5
M14 x 1.25
M14 x 1
M15 x 1.5

M15 x 1
M16 x 2
M16 x 1.5
M16 x 1
M18 x 2.5
M18 x 2
M18 x 1.5
M18 x 1
M20 x 2.5
M20 x 2
M20 x 1.5
M20 x 1
M22 x 2.5
M22 x 2
M22 x 1.5
M22 x 1
M24 x 3
M24 x 2
M24 x 1.5
M24 x 1
M25 x 2
M25 x 1.5
M26 x 2
M26 x 1.5
M26 x 1
M27 x 3
M27 x 2
M27 x 1.5
M28 x 2
M28 x 1.5
M30 x 3.5
M30 x 3
M30 x 2
M30 x 1.5
M30 x 1
M33 x 3.5
M33 x 3
M33 x 2
M33 x 1.5
M36 x 4
M36 x 3
M36 x 2
M36 x 1.5

9.5
9.5
9.5
9.5
9.5
11
11
13
13
13
13
13
13
16
16
16
19
19
19
19
19
22
22
22
22
22
22
24
24
24
24
25
25
25
29
29
29
29
30
30
30
30
30

30
32
32
32
37
37
37
37
37
37
37
37
38
38
38
38
45
45
45
45
45
45
45
45
45
45
45
45
45
45
48
48
45
45
45
51
51
45
45
57
57
45
45

40
42
42
44
44
46
46
48
48
52
52
55
55
60
60
60
62
62
62
65
65
70
70
70
72
72
72
75
75
75
75
80
80
80
82
82
82
82
88
88
88
88
90

90
95
95
95
100
100
100
100
105
105
105
105
115
115
115
115
120
120
120
120
125
125
125
125
125
130
130
130
130
130
135
135
135
135
135
145
145
145
145
155
155
155
155

ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´¤Á¡Ñ´ ¤Á¡Ñ´¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇÃÒ¤Ò ÃÒ¤Ò

µ�Ò»à¤Ã×èÍ§à¡ÅÕÂÇÃ‹Í§µÃ§ÊÓËÃÑºàËÅç¡·Ø¡ÍÂ‹Ò§
I-GP GUN POINT TAPS FOR MULTI PURPOSE

HSS-EX

HSS TAPS
´Í¡µ�Ò»äÎÊ»‚´



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A32

R

R

R

STK
R 



 








































































6
8
10
12
16
20

6
8
10
12
16
20

13
16
22
26
32
32

57
63
72
83
92
104

4
4
4
4
4
6

EM4970-0060
EM4970-0080
EM4970-0100
EM4970-0120
EM4970-0160
EM4970-0200



















































































































































































































































































































 

























  



































































































 























  

TiALN-COATE

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A33

R

R



STK
R 



TiALN-COATE















































 






















   

































































































































































































































































 




















   





































































































































































































































































































หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o

R

R

R

STK
R 



 








































































6
8
10
12
16
20

6
8
10
12
16
20

13
16
22
26
32
32

57
63
72
83
92
104

4
4
4
4
4
6

EM4970-0060
EM4970-0080
EM4970-0100
EM4970-0120
EM4970-0160
EM4970-0200



















































































































































































































































































































 

























  



































































































 























  

TiALN-COATE

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A34

STK
R 



















































 











  































































 















 















 

4 »Ò¡ 50o R à»š¹ÁØÁÁ¹ ÃØ‹¹¤ÍÂÒÇ¡ŒÒ¹ÂÒÇ





























































 















 















 














































































 

















  

























































































































 





























  











































































   




















TiALN-COATE

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A35



STK
R 



TiALN-COATE













































































 


















  










































































 

















  



























































 














  




















































 












  



















































 












  








































 









  













































 










  










































 









  




























 






  

STK
R 



















































 











  































































 















 















 

4 »Ò¡ 50o R à»š¹ÁØÁÁ¹ ÃØ‹¹¤ÍÂÒÇ¡ŒÒ¹ÂÒÇ





























































 















 















 














































































 

















  

























































































































 





























  











































































   




















TiALN-COATE

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A36

RADIUS TOL.
0.01-+

STK
R 




































































































































  































   




































































































































































































































































































































































































































    








































































































        



TiALN-COATE

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A37

STK
R 






























































































































































 





































  

























































































































































 





































  

STK
R TiALN-COATED

RADIUS TOL.
0.01-+

STK
R 




































































































































  































   




































































































































































































































































































































































































































    








































































































        



TiALN-COATE

หมายเหตุ : STK X-POWER ออกแบบมาใชกับเครื่อง CNC

 เหมาะกับเหล็กแข็ง HRC 50o- 65o



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A38

    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

CARBIDE 2FLUTE

：45º

    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

CARBIDE 3FLUTE

45º

CARBIDE 2FLUTE

CARBIDE DRILL MILLS 

TIALN-COATED

CARBIDE 3FLUTE LONG

45º

CARBIDE 3FLUTE EXTRA LONG

45º


àÍçÁÁÔÅ¤ÒÃ�äº·�ÊÓËÃÑºÍÅÙÁÔà¹ÕÂÁ

2 »Ò¡ 3 »Ò¡

¡Ñ´ËÂÒº

àÍçÁÁÔÅ¤ÒÃ�äº·�¾ÃŒÍÁà¨ÒÐ (90ð)

àÍçÁÁÔÅ¤ÒÃ�äº·�¾ÃŒÍÁà¨ÒÐ (90ð)

3 »Ò¡ ÃØ‹¹ÂÒÇ

3 »Ò¡ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A39

R

d1

d3

d2

15

1

2

3

2

R

1

3

d1 d2

d3

2

R

1

3

d1 d2d3

2

R

1

3

d1 d2

d3









































 























 











 













































 

























 












 




























  





















 




























  





















 





































 





















 










 





























 

















 








 














































 

























 












 








































 























 











 

STK
R 







 


 

















    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    

CARBIDE 2FLUTE

：45º

    
    
    
    
    
    
    
    
    
    
    
    
    
    
    

CARBIDE 3FLUTE

45º

CARBIDE 2FLUTE

CARBIDE DRILL MILLS 

TIALN-COATED

CARBIDE 3FLUTE LONG

45º

CARBIDE 3FLUTE EXTRA LONG

45º


àÍçÁÁÔÅ¤ÒÃ�äº·�ÊÓËÃÑºÍÅÙÁÔà¹ÕÂÁ

2 »Ò¡ 3 »Ò¡

¡Ñ´ËÂÒº

àÍçÁÁÔÅ¤ÒÃ�äº·�¾ÃŒÍÁà¨ÒÐ (90ð)

àÍçÁÁÔÅ¤ÒÃ�äº·�¾ÃŒÍÁà¨ÒÐ (90ð)

3 »Ò¡ ÃØ‹¹ÂÒÇ

3 »Ò¡ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A40

EM702-0005
EM702-0006
EM702-0008
EM702-0010
EM702-0015
EM702-0020
EM702-0025
EM702-0030
EM702-0040
EM702-0050
EM702-0060
EM702-0080
EM702-0100
EM702-0120

EM703-0303
EM703-0305
EM703-0403
EM703-0405
EM703-0605
EM703-0610
EM703-0805
EM703-0810
EM703-1005
EM703-1010
EM703-1205
EM703-1210

EM712-0001
EM712-0002
EM712-0003
EM712-0004
EM712-0005
EM712-0006
EM712-0007
EM712-0008
EM712-0009
EM712-0010
EM712-0015
EM712-0020
EM712-0025
EM712-0030
EM712-0040
EM712-0050
EM712-0060
EM712-0080
EM712-0100
EM712-0120

EM714-0010
EM714-0015
EM714-0020
EM714-0025
EM714-0030
EM714-0040
EM714-0050
EM714-0060
EM714-0080
EM714-0100
EM714-0120
EM714-0160
EM714-0200

EM704-0010
EM704-0015
EM704-0020
EM704-0025
EM704-0030
EM704-0040
EM704-0050
EM704-0060
EM704-0080
EM704-0100
EM704-0120
EM704-0160

EM705-0303
EM705-0305
EM705-0403
EM705-0405
EM705-0605
EM705-0610
EM705-0805
EM705-0810
EM705-1005
EM705-1010
EM705-1205
EM705-1210

0.5 x R0.05
0.6 x R0.05
0.8 x R0.05
1 x R0.1
1.5 x R0.1
2 x R0.1
2.5 x R0.1
3 x R0.1
4 x R0.1
5 x R0.2
6 x R0.2
8 x R0.2
10 x R0.2
12 x R0.3

3 x R0.3
3 x R0.5
4 x R0.3
4 x R0.5
6 x R0.5
6 x R1.0
8 x R0.5
8 x R1.0
10 x R0.5
10 x R1.0
12 x R0.5
12 x R1.0

0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9
1.0
1.5
2.0
2.5
3.0
4.0
5.0
6.0
8.0
10
12

1.0
1.5
2.0
2.5
3.0
4.0
5.0
6.0
8.0
10
12
16
20

1 x R0.1
1.5 x R0.1
2 x R0.1
2.5 x R0.1
3 x R0.1
4 x R0.1
5 x R0.2
6 x R0.2
8 x R0.2
10 x R0.2
12 x R0.3
16 x R0.3

3 x R0.3
3 x R0.5
4 x R0.3
4 x R0.5
6 x R0.5
6 x R1.0
8 x R0.5
8 x R1.0
10 x R0.5
10 x R1.0
12 x R0.5
12 x R1.0

3
3
3
3
3
3
3
6
6
6
6
8
10
12

6
6
6
6
6
6
8
8
10
10
12
12

4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
6
8
10
12

6
6
6
6
6
6
6
6
8
10
12
16
20

3
3
3
3
6
6
6
6
8
10
12
16

6
6
6
6
6
6
8
8
10
10
12
12

0.7
0.9
1.2
1.5
2.2
3
4
4
5
6
7
9
12
15

4
4
5
5
7
7
9
9
11
11
12
12

0.2
0.4
0.6
0.8
1
1.2
1.4
1.6
2
1.5
1.7
2
2.5
3
4
5
6
8
10
12

1.5
1.7
2
2.5
3
4
5
6
8
10
12
16
20

1.5
2.2
3
4
4
5
6
7
9
12
15
18

4
4
5
5
7
7
9
9
11
11
12
12

40
40
40
40
40
40
40
45
45
50
50
60
75
75

55
55
55
55
60
60
60
60
70
70
80
80

40
40
40
40
40
40
40
40
40
50
50
50
55
55
55
55
55
65
75
85

50
50
50
55
55
55
55
55
65
75
85
90
105

40
40
40
40
45
45
50
50
60
75
75
90

55
55
55
55
60
60
60
60
70
70
80
80

-
-
-
-
-
6
6
7
9
11
14
18
25
30

12
12
16
16
20
20
25
25
32
32
38
38

-
-
-
-
-
-
-
-
-
3
4
5
6
8
10
13
15
20
25
28

3
4
5
6
8
10
13
15
20
25
28
32
40

-
-
6
6
7
9
11
14
18
25
30
38

12
12
16
16
20
20
25
25
32
32
38
38

-
-
-
-
-
1.9
2.4
2.9
3.8
4.8
5.8
7.8
9.7
11.7

2.85
2.85
3.85
3.85
5.85
5.85
7.7
7.7
9.7
9.7
11.7
11.7

-
-
-
-
-
-
-
-
-

0.95
1.45
1.95
2.4
2.85
3.85
4.85
5.85
7.7
9.7
11.7

0.95
1.45
1.95
2.4
2.85
3.85
4.85
5.85
7.7
9.7
11.7
15.7
19.7

-
-
1.9
2.4
2.9
3.8
4.8
5.8
7.8
9.7
11.7
15.7

2.85
2.85
3.85
3.85
5.85
5.85
7.7
7.7
9.7
9.7
11.7
11.7

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

D x R

D x R

D D

D x R

D x R

D3

D3

D3 D3

D3

D3

L2

L2

L2 L2

L2

L2

L3

L3

L3 L3

L3

L3

L1

L1

L1 L1

L1

L1

D2

D2

D2 D2

D2

D2

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�
CARBIDE ENDMILL

2 »Ò¡ R à»š¹ÁØÁÁ¹ 4 »Ò¡ R à»š¹ÁØÁÁ¹

2 »Ò¡ 4 »Ò¡

STK X70-POWER
R

ÊÓËÃÑºàËÅç¡á¢ç§ HRC 60o-70o



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A41

ST àÍç¹ÁÔÅ¤ÒÃ�äº·�


2 »Ò¡

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMS372-0010
EMS372-0015
EMS372-0020
EMS372-0025
EMS372-0030
EMS372-0040
EMS372-0050
EMS372-0060
EMS372-0070
EMS372-0080
EMS372-0090
EMS372-0100
EMS372-0120
EMS372-0140
EMS372-0160
EMS372-0200

EMS378-0020
EMS378-0030
EMS378-0040
EMS378-0050
EMS378-0060
EMS378-0080
EMS378-0100
EMS378-0120
EMS378-0160
EMS378-0200

50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100

75
75
75
75
75
100
100
100
150
150

3
4
6
8
8
11
13
16
20
20
20
25
30
35
40
45

10
15
20
25
30
30
40
45
70
70

4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
20

4
4
4
5
6
8
10
12
16
20

1
1.5
2
2.5
3
4
5
6
7
8
9
10
12
14
16
20

2
3
4
5
6
8
10
12
16
20

ÃÒ¤Ò

ÃÒ¤Ò

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

¤Á¡Ñ´

¤Á¡Ñ´

á¡¹

á¡¹

¢¹Ò´

¢¹Ò´

ÃËÑÊ

ÃËÑÊ

4 »Ò¡

2 »Ò¡ 
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

2 »Ò¡ ËÑÇÁ¹

EMS374-0010
EMS374-0015
EMS374-0020
EMS374-0025
EMS374-0030
EMS374-0040
EMS374-0050
EMS374-0060
EMS374-0070
EMS374-0080
EMS374-0090
EMS374-0100
EMS374-0120
EMS374-0140
EMS374-0160
EMS374-0200

EMS388-0010
EMS388-0015
EMS388-0020
EMS388-0025
EMS388-0030
EMS388-0040
EMS388-0050
EMS388-0060
EMS388-0070
EMS388-0080
EMS388-0090
EMS388-0100
EMS388-0120
EMS388-0140
EMS388-0160
EMS388-0200

EMS382-0010
EMS382-0015
EMS382-0020
EMS382-0025
EMS382-0030
EMS382-0040
EMS382-0050
EMS382-0060
EMS382-0080
EMS382-0100
EMS382-0120
EMS382-0160
EMS382-0200

50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100

75
75
75
75
75
75
75
75
100
100
100
100
100
100
150
150

50
50
50
50
50
50
50
50
60
75
75
100
100

3
4
6
8
8
11
13
16
20
20
20
25
30
35
40
45

2
3
4
5
6
8
10
12
14
14
18
18
22
26
30
38

2
4
5
6
6
8
10
12
14
20
24
32
40

4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
20

4
4
6
6
6
6
6
6
8
8
10
10
12
14
16
20

4
4
4
4
4
4
6
6
8
10
12
16
20

1
1.5
2
2.5
3
4
5
6
7
8
9
10
12
14
16
20

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
16 (R8)
20 (R10)

สำหรับความแข็งไมเกิน HRC 65o

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

á¡¹

á¡¹

á¡¹

¢¹Ò´

¢¹Ò´

¢¹Ò´

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

EM702-0005
EM702-0006
EM702-0008
EM702-0010
EM702-0015
EM702-0020
EM702-0025
EM702-0030
EM702-0040
EM702-0050
EM702-0060
EM702-0080
EM702-0100
EM702-0120

EM703-0303
EM703-0305
EM703-0403
EM703-0405
EM703-0605
EM703-0610
EM703-0805
EM703-0810
EM703-1005
EM703-1010
EM703-1205
EM703-1210

EM712-0001
EM712-0002
EM712-0003
EM712-0004
EM712-0005
EM712-0006
EM712-0007
EM712-0008
EM712-0009
EM712-0010
EM712-0015
EM712-0020
EM712-0025
EM712-0030
EM712-0040
EM712-0050
EM712-0060
EM712-0080
EM712-0100
EM712-0120

EM714-0010
EM714-0015
EM714-0020
EM714-0025
EM714-0030
EM714-0040
EM714-0050
EM714-0060
EM714-0080
EM714-0100
EM714-0120
EM714-0160
EM714-0200

EM704-0010
EM704-0015
EM704-0020
EM704-0025
EM704-0030
EM704-0040
EM704-0050
EM704-0060
EM704-0080
EM704-0100
EM704-0120
EM704-0160

EM705-0303
EM705-0305
EM705-0403
EM705-0405
EM705-0605
EM705-0610
EM705-0805
EM705-0810
EM705-1005
EM705-1010
EM705-1205
EM705-1210

0.5 x R0.05
0.6 x R0.05
0.8 x R0.05
1 x R0.1
1.5 x R0.1
2 x R0.1
2.5 x R0.1
3 x R0.1
4 x R0.1
5 x R0.2
6 x R0.2
8 x R0.2
10 x R0.2
12 x R0.3

3 x R0.3
3 x R0.5
4 x R0.3
4 x R0.5
6 x R0.5
6 x R1.0
8 x R0.5
8 x R1.0
10 x R0.5
10 x R1.0
12 x R0.5
12 x R1.0

0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9
1.0
1.5
2.0
2.5
3.0
4.0
5.0
6.0
8.0
10
12

1.0
1.5
2.0
2.5
3.0
4.0
5.0
6.0
8.0
10
12
16
20

1 x R0.1
1.5 x R0.1
2 x R0.1
2.5 x R0.1
3 x R0.1
4 x R0.1
5 x R0.2
6 x R0.2
8 x R0.2
10 x R0.2
12 x R0.3
16 x R0.3

3 x R0.3
3 x R0.5
4 x R0.3
4 x R0.5
6 x R0.5
6 x R1.0
8 x R0.5
8 x R1.0
10 x R0.5
10 x R1.0
12 x R0.5
12 x R1.0

3
3
3
3
3
3
3
6
6
6
6
8
10
12

6
6
6
6
6
6
8
8
10
10
12
12

4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
6
8
10
12

6
6
6
6
6
6
6
6
8
10
12
16
20

3
3
3
3
6
6
6
6
8
10
12
16

6
6
6
6
6
6
8
8
10
10
12
12

0.7
0.9
1.2
1.5
2.2
3
4
4
5
6
7
9
12
15

4
4
5
5
7
7
9
9
11
11
12
12

0.2
0.4
0.6
0.8
1
1.2
1.4
1.6
2
1.5
1.7
2
2.5
3
4
5
6
8
10
12

1.5
1.7
2
2.5
3
4
5
6
8
10
12
16
20

1.5
2.2
3
4
4
5
6
7
9
12
15
18

4
4
5
5
7
7
9
9
11
11
12
12

40
40
40
40
40
40
40
45
45
50
50
60
75
75

55
55
55
55
60
60
60
60
70
70
80
80

40
40
40
40
40
40
40
40
40
50
50
50
55
55
55
55
55
65
75
85

50
50
50
55
55
55
55
55
65
75
85
90
105

40
40
40
40
45
45
50
50
60
75
75
90

55
55
55
55
60
60
60
60
70
70
80
80

-
-
-
-
-
6
6
7
9
11
14
18
25
30

12
12
16
16
20
20
25
25
32
32
38
38

-
-
-
-
-
-
-
-
-
3
4
5
6
8
10
13
15
20
25
28

3
4
5
6
8
10
13
15
20
25
28
32
40

-
-
6
6
7
9
11
14
18
25
30
38

12
12
16
16
20
20
25
25
32
32
38
38

-
-
-
-
-
1.9
2.4
2.9
3.8
4.8
5.8
7.8
9.7
11.7

2.85
2.85
3.85
3.85
5.85
5.85
7.7
7.7
9.7
9.7
11.7
11.7

-
-
-
-
-
-
-
-
-

0.95
1.45
1.95
2.4
2.85
3.85
4.85
5.85
7.7
9.7
11.7

0.95
1.45
1.95
2.4
2.85
3.85
4.85
5.85
7.7
9.7
11.7
15.7
19.7

-
-
1.9
2.4
2.9
3.8
4.8
5.8
7.8
9.7
11.7
15.7

2.85
2.85
3.85
3.85
5.85
5.85
7.7
7.7
9.7
9.7
11.7
11.7

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

D x R

D x R

D D

D x R

D x R

D3

D3

D3 D3

D3

D3

L2

L2

L2 L2

L2

L2

L3

L3

L3 L3

L3

L3

L1

L1

L1 L1

L1

L1

D2

D2

D2 D2

D2

D2

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�
CARBIDE ENDMILL

2 »Ò¡ R à»š¹ÁØÁÁ¹ 4 »Ò¡ R à»š¹ÁØÁÁ¹

2 »Ò¡ 4 »Ò¡

STK X70-POWER
R

ÊÓËÃÑºàËÅç¡á¢ç§ HRC 60o-70o



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A42

EMS5523-010
EMS5523-015
EMS5523-020
EMS5523-025
EMS5523-030
EMS5523-040
EMS5523-050
EMS5523-060
EMS5523-080
EMS5523-100
EMS5523-120
EMS5523-160
EMS5523-200

1
1.5
2
2.5
3
4
5
6
8
10
12
16
20

4
4
4
4
4
4
6
6
8
10
12
16
20

3
4
6
8
8
11
13
15
20
25
30
40
45

50
50
50
50
50
50
50
50
60
75
75
100
100

EMS5533-040
EMS5533-050
EMS5533-060
EMS5533-080
EMS5533-100
EMS5533-120
EMS5533-160
EMS5533-200

4
5
6
8
10
12
16
20

4
6
6
8
10
12
16
20

15
20
20
25
40
45
70
70

75
75
75
75
100
100
150
150

EMS5543-040
EMS5543-050
EMS5543-060
EMS5543-080
EMS5543-100
EMS5543-120

4
5
6
8
10
12

4
6
6
8
10
12

20
30
30
35
50
60

100
100
100
100
120
130

CARBIDE 2FLUTE

：45º

EMS5522-010
EMS5522-015
EMS5522-020
EMS5522-025
EMS5522-030
EMS5522-040
EMS5522-050
EMS5522-060
EMS5522-080
EMS5522-100
EMS5522-120
EMS5522-160

1
1.5
2
2.5
3
4
5
6
8
10
12
16

4
4
4
4
4
4
6
6
8
10
12
16

3
4
6
8
8
11
13
15
20
25
30
40

50
50
50
50
50
50
50
50
60
75
75
100

CARBIDE 3FLUTE

45º

CARBIDE 3FLUTE LONG

45º

CARBIDE 3FLUTE EXTRA LONG

45º


àÍçÁÁÔÅ¤ÒÃ�äº·�ÊÓËÃÑºÍÅÙÁÔà¹ÕÂÁ

2 »Ò¡ 3 »Ò¡

3 »Ò¡ ÃØ‹¹ÂÒÇ 3 »Ò¡ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A43

0.05D

2.5D

0.02D

2.0D

0.05D

1.0D










































































    







   
   









  

    



















































































































   







   
   









 

   













































EMS5523-010
EMS5523-015
EMS5523-020
EMS5523-025
EMS5523-030
EMS5523-040
EMS5523-050
EMS5523-060
EMS5523-080
EMS5523-100
EMS5523-120
EMS5523-160
EMS5523-200

1
1.5
2
2.5
3
4
5
6
8
10
12
16
20

4
4
4
4
4
4
6
6
8
10
12
16
20

3
4
6
8
8
11
13
15
20
25
30
40
45

50
50
50
50
50
50
50
50
60
75
75
100
100

EMS5533-040
EMS5533-050
EMS5533-060
EMS5533-080
EMS5533-100
EMS5533-120
EMS5533-160
EMS5533-200

4
5
6
8
10
12
16
20

4
6
6
8
10
12
16
20

15
20
20
25
40
45
70
70

75
75
75
75
100
100
150
150

EMS5543-040
EMS5543-050
EMS5543-060
EMS5543-080
EMS5543-100
EMS5543-120

4
5
6
8
10
12

4
6
6
8
10
12

20
30
30
35
50
60

100
100
100
100
120
130

CARBIDE 2FLUTE

：45º

EMS5522-010
EMS5522-015
EMS5522-020
EMS5522-025
EMS5522-030
EMS5522-040
EMS5522-050
EMS5522-060
EMS5522-080
EMS5522-100
EMS5522-120
EMS5522-160

1
1.5
2
2.5
3
4
5
6
8
10
12
16

4
4
4
4
4
4
6
6
8
10
12
16

3
4
6
8
8
11
13
15
20
25
30
40

50
50
50
50
50
50
50
50
60
75
75
100

CARBIDE 3FLUTE

45º

CARBIDE 3FLUTE LONG

45º

CARBIDE 3FLUTE EXTRA LONG

45º


àÍçÁÁÔÅ¤ÒÃ�äº·�ÊÓËÃÑºÍÅÙÁÔà¹ÕÂÁ

2 »Ò¡ 3 »Ò¡

3 »Ò¡ ÃØ‹¹ÂÒÇ 3 »Ò¡ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A44

Ae

Ap

Ae

Ap



























































  







  
  











  








































































 


 

 


 

 


 















 







 
 







 
































A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A45

CENTER DRILLS/ NC SPOTTING DRILLS
´Í¡¹ÓÈÙ¹Â�

TD238-0050
TD238-0080
TD238-0100
TD238-0125
TD238-0160
TD238-0200
TD238-0250
TD238-0315
TD238-0400
TD238-0500

TD5306-030
TD5306-040
TD5306-050
TD5306-060
TD5306-080
TD5306-100
TD5306-120
TD5306-160
TD5306-200

TD2306-030
TD2306-040
TD2306-050
TD2306-060
TD2306-080
TD2306-100
TD2306-120
TD2306-140
TD2306-160
TD2306-180
TD2306-200

TD2307-030
TD2307-040
TD2307-050
TD2307-060
TD2307-080
TD2307-100
TD2307-120
TD2307-160
TD2307-200

TD2308-060
TD2308-080
TD2308-100
TD2308-120
TD2308-160
TD2308-200

TD236-I003
TD236-I004
TD236-I006
TD236-I012

TD912-0010
TD912-0015
TD912-0020
TD912-0025
TD912-0030
TD912-0040
TD912-0050

TD910-0010
TD910-0015
TD910-0020
TD910-0025
TD910-0030
TD910-0040
TD910-0050
TD910-I003
TD910-I004
TD910-I006
TD910-I008
TD910-I012

0.5
0.8
1.0
1.25
1.6
2.0
2.5
3.15
4.0
5.0

3
4
5
6
8
10
12
16
20

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
16
20

6
8
10
12
16
20

3/64
1/16
3/32
3/16

1
1.5
2
2.5
3
4
5

1
1.5
2
2.5
3
4
5

3/64(1#)
1/16(2#)
3/32(3#)
1/8(4#)
3/16(5#)

3
3
3
3
4
5
6
8
10
12

3
4
5
6
8
10
12
16
20

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
16
20

6
8
10
12
16
20

1/8
3/16
1/4
7/16

4
5
6
8
10
10
12

4
5
6
7.7
7.7
10
11
1/8
3/16
1/4
5/16
7/16

0.8
1.1
1.3
1.6
2.0
2.5
3.1
3.9
5.0
6.3

8
10
13
16
23
24
25
30
35

10
12
15
20
25
25
30
35
35
40
40

10
12
15
20
25
25
30
35
40

20
25
25
30
35
40

5/64
3/32
5/32
9/32

1.2
1.9
2.5
3.1
3.7
5.0
6.3

38
38
38
38
38
50
50
60
66
73

35
40
50
50
60
70
70
80
100

50
52
60
66
79
89
102
115
115
130
131

50
52
60
66
79
89
102
115
131

139
165
184
205
227
254

1-1/2
1-3/4
2”

2-1/2

100
100
100
100
100
100
100

35
40
45
50
55
65
78

1-1/2”
1-3/4”

2”
2-1/4”
2-1/2”

ÃËÑÊ
ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃØ‹¹ÂÒÇ 100 mm
ÃØ‹¹ÂÒÇ

ÃËÑÊ

¢¹Ò´
¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

á¡¹
á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

á¡¹

¤Á¡Ñ´
¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´

¤ÇÒÁÂÒÇ
¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

ÃÒ¤Ò
ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

Ae

Ap

Ae

Ap



























































  







  
  











  








































































 


 

 


 

 


 















 







 
 







 
































A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A46

 (STANDARD SIZE) Unit: mm

D L2 L1 D L2 L1 D L2 L1
TD110 -00100 1.0 18 40 TD110 -00440 4.4 56 83 TD110 -00880 8.8 89 124
TD110 -00105 1.05 20 42 TD110 -00450 4.5 56 86 TD110 -00890 8.9 89 124
TD110 -00110 1.1 20 42 TD110 -00460 4.6 56 86 TD110 -00900 9.0 89 124
TD110 -00115 1.15 20 42 TD110 -00470 4.7 59 89 TD110 -00910 9.1 89 124
TD110 -00120 1.2 20 42 TD110 -00480 4.8 59 89 TD110 -00920 9.2 92 127
TD110 -00125 1.25 22 45 TD110 -00490 4.9 62 92 TD110 -00930 9.3 92 127
TD110 -00130 1.3 22 45 TD110 -00500 5.0 62 92 TD110 -00940 9.4 92 127
TD110 -00135 1.35 23 48 TD110 -00510 5.1 62 92 TD110 -00950 9.5 92 127
TD110 -00140 1.4 23 48 TD110 -00520 5.2 64 95 TD110 -00960 9.6 95 130
TD110 -00145 1.45 23 48 TD110 -00530 5.3 64 95 TD110 -00970 9.7 95 130
TD110 -00150 1.5 23 48 TD110 -00540 5.4 64 95 TD110 -00980 9.8 95 130
TD110 -00155 1.55 25 50 TD110 -00550 5.5 64 95 TD110 -00990 9.9 95 130
TD110 -00160 1.6 25 50 TD110 -00560 5.6 67 98 TD110 -01000 10.0 95 130
TD110 -00165 1.65 25 50 TD110 -00570 5.7 67 98 TD110 -01010 10.1 98 133
TD110 -00170 1.7 25 50 TD110 -00580 5.8 67 98 TD110 -01020 10.2 98 133
TD110 -00175 1.75 28 52 TD110 -00590 5.9 67 98 TD110 -01030 10.3 98 133
TD110 -00180 1.8 28 52 TD110 -00600 6.0 70 102 TD110 -01040 10.4 98 133
TD110 -00185 1.85 28 52 TD110 -00610 6.1 70 102 TD110 -01050 10.5 100 137
TD110 -00190 1.9 28 52 TD110 -00620 6.2 70 102 TD110 -01060 10.6 100 137
TD110 -00195 1.95 29 55 TD110 -00630 6.3 70 102 TD110 -01070 10.7 100 137
TD110 -00200 2.0 29 55 TD110 -00640 6.4 73 105 TD110 -01080 10.8 103 140
TD110 -00210 2.1 29 55 T D110-00650 6.5 73 105 TD110 -01090 10.9 103 140
TD110 -00220 2.2 33 58 TD110 -00660 6.6 73 105 TD110 -01100 11.0 103 140
TD110 -00230 2.3 33 58 TD110 -00670 6.7 73 105 TD110 -01110 11.1 103 140
TD110 -00240 2.4 35 61 TD110 -00680 6.8 73 105 TD110 -01120 11.2 106 143
TD110 -00250 2.5 35 61 TD110 -00690 6.9 73 105 TD110 -01130 11.3 106 143
TD110 -00260 2.6 37 64 TD110 -00700 7.0 73 105 TD110 -01140 11.4 106 143
T D110-00270 2.7 37 64 TD110 -00710 7.1 75 108 TD110 -01150 11.5 106 143
TD110 -00280 2.8 39 67 TD110 -00720 7.2 75 108 TD110 -01160 11.6 109 146
TD110 -00290 2.9 42 71 TD110 -00730 7.3 75 108 TD110 -01170 11.7 109 146
TD110 -00300 3.0 42 71 TD110 -00740 7.4 78 111 TD110 -01180 11.8 109 146
TD110 -00310 3.1 42 71 TD110 -00750 7.5 78 111 TD110 -01190 11.9 109 146
TD110 -00320 3.2 42 71 TD110 -00760 7.6 78 111 TD110 -01200 12.0 111 149
TD110 -00330 3.3 45 73 TD110 -00770 7.7 81 114 TD110 -01210 12.1 111 149
TD110 -00340 3.4 45 73 TD110 -00780 7.8 81 114 TD110 -01220 12.2 111 149
TD110 -00350 3.5 45 73 TD110 -00790 7.9 81 11 4 TD110 -01230 12.3 111 149
TD110 -00360 3.6 48 76 TD110 -00800 8.0 81 114 TD110 -01240 12.4 111 152
TD110 -00370 3.7 48 76 TD110 -00810 8.1 84 117 TD110 -01250 12.5 114 152
TD110 -00380 3.8 48 76 TD110 -00820 8.2 84 117 TD110 -01260 12.6 114 152
TD110 -00390 3.9 51 79 TD110 -00830 8.3 84 117 TD110 -01270 12.7 114 152
TD110 -00400 4.0 54 83 TD110 -00840 8.4 87 121 TD110 -01280 12.8 114 152
TD110 -00410 4.1 54 83 TD110 -00850 8.5 87 121 TD110 -01290 12.9 114 152
TD110 -00420 4.2 54 83 TD110 -00860 8.6 87 121 TD110 -01300 13.0 114 152
TD110 -00430 4.3 54 83 TD110 -00870 8.7 87 121

 (STANDARD SIZE) Unit: Inch

หอละ 10 ตัว 6.6 mm - 13 mm (17/64” - 1/2”) หอละ 5 ตัว

3/64 3/4 1-3/4 TD110-I013
TD110-I014
TD110-I015
TD110-I016
TD110-I017
TD110-I018
TD110-I019
TD110-I020
TD110-I021
TD110-I022

13/64 2-7/16 3-5/8 TD110-I023
TD110-I024
TD110-I025
TD110-I026
TD110-I027
TD110-I028
TD110-I029
TD110-I030
TD110-I031
TD110-I032

23/64 3-1/2 4-7/8
1/16 7/8 1-7/8 7/32 2-1/2 3-3/4 3/8 3-5/8 5
5/64 1 2 15/64 2-5/8 3-7/8 25/64 3-3/4 5-1/8
3/32 1-1/4 2-1/4 1/4 2-3/4 4 13/32 3-7/8 5-1/4
7/64 1-1/2 2-5/8 17/64 2-7/8 4-1/8 27/64 3-15/16 5-3/8
1/8 1-5/8 2-3/4 9/32 2-15/16 4-1/4 7/16 4-1/16 5-1/2
9/64 1-3/4 2-7/8 19/64 3-1/16 4-3/8 29/64 4-3/16 5-5/8
5/32 2 3-1/8 5/16 3-3/16 4-1/2 15/32 4-5/16 5-3/4
11/64 2-1/8 3-1/4 21/64 3-5/16 4-5/8 31/64 4-3/8 5-7/8

TD110-I003
TD110-I004
TD110-I005
TD110-I006
TD110-I007
TD110-I008
TD110-I009
TD110-I010
TD110-I011
TD110-I012 3/16 2-5/16 3-1/2 11/32 3-7/16 4-3/4 1/2 4-1/2 6

HSS STRAIGHT SHANK TWIST DRILLS 
´Í¡ÊÇ‹Ò¹äÎÊ»‚´

»ÅÒÂà¤Å×ÍºÊÕ·Í§ (ÅÓµÑÇÊÕ¢ÒÇ)

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A47

ÅÓµÑÇÊÕ´Ó

´Í¡ÊÇ‹Ò¹¡ŒÒ¹µÃ§ äÎÊ»‚´

(LONG SIZE)
        

TD122-0010 1.0 33 56 TD122 -0044 4.4 82 126 TD122 -0078 7.8 109 165
TD122-0011 1.1 37 60 TD122 -0045 4.5 82 126 TD122 -0079 7.9 109 165
TD122-0012 1.2 41 65 TD122 -0046 4.6 82 126 TD122 -0080 8.0 109 165
TD122-0013 1.3 41 65 TD122 -0047 4.7 82 126 TD122 -0081 8.1 109 165
TD122-0014 1.4 45 70 TD122 -0048 4.8 87 132 TD122 -0082 8.2 109 165
TD122-0015 1.5 45 70 TD122 -0049 4.9 87 132 TD122 -0083 8.3 109 165
TD122-0016 1.6 50 76 TD122 -0050 5.0 87 132 TD122 -0084 8.4 109 165
TD122-0017 1.7 50 76 TD122 -0051 5.1 87 132 TD122 -0085 8.5 109 165
TD122-0018 1.8 53 80 TD122 -0052 5.2 87 132 TD122 -0086 8.6 115 175
TD122-0019 1.9 53 80 TD122 -0053 5.3 87 132 TD122 -0087 8.7 115 175
TD122-0020 2.0 56 85 TD122 -0054 5.4 91 139 TD122 -0088 8.8 115 175
TD122-0021 2.1 56 85 TD122 -0055 5.5 91 139 TD122 -0089 8.9 115 175
TD122-0022 2.2 59 90 TD122 -0056 5.6 91 139 TD122 -0090 9.0 115 175
TD122-0023 2.3 59 90 TD122 -0057 5.7 91 139 TD122 -0091 9.1 115 175
TD122-0024 2.4 62 95 TD122 -0058 5.8 91 139 TD122 -0092 9.2 115 175
TD122-0025 2.5 62 95 TD122 -0059 5.9 91 139 TD122 -0093 9.3 115 175
TD122-0026 2.6 62 95 TD122 -0060 6.0 91 139 TD122 -0094 9.4 115 175
TD122-0027 2.7 66 100 TD122 -0061 6.1 97 148 TD122 -0095 9.5 115 175
TD122-0028 2.8 66 100 TD122 -0062 6.2 97 148 TD122 -0096 9.6 121 184
TD122-0029 2.9 66 100 TD122 -0063 6.3 97 148 TD122 -0097 9.7 121 184
TD122-0030 3.0 66 100 TD122 -0064 6.4 97 148 TD122 -0098 9.8 121 184
TD122-0031 3.1 69 106 TD122 -0065 6.5 97 148 TD122 -0099 9.9 121 184
TD122-0032 3.2 69 106 TD122 -0066 6.6 97 148 TD122 -0100 10.0 121 184
TD122-0033 3.3 69 106 TD122 -0067 6.7 97 148 TD122 -0105 10.5 121 184
TD122-0034 3.4 73 112 TD122 -0068 6.8 102 156 TD122 -0110 11.0 128 195
TD122-0035 3.5 73 112 TD122 -0069 6.9 102 156 TD122 -0115 11.5 128 195
TD122-0036 3.6 73 112 TD122 -0070 7.0 102 156 TD122 -0120 12.0 134 205
TD122-0037 3.7 73 112 TD122 -0071 7.1 102 156 TD122 -0125 12.5 134 205
TD122-0038 3.8 78 119 TD122 -0072 7.2 102 156 TD122 -0130 13.0 134 205
TD122-0039 3.9 78 119 TD122 -0073 7.3 102 156 TD122 -0140 14.0 140 214
TD122-0040 4.0 78 119 TD122 -0074 7.4 102 156 TD122 -0150 15.0 144 220
TD122-0041 4.1 78 119 TD122 -0075 7.5 102 156 TD122 -0160 16.0 149 227
TD122-0042 4.2 78 119 TD122 -0076 7.6 109 165 TD122 -0170 17.0 154 235
TD122-0043 4.3 82 126 TD122 -0077 7.7 109 165 TD122 -0180 18.0 158 241

 (STANDARD SIZE) Unit: mm 

Unit: mm 

SURFACE TREATMENT: 
STEAM HOMO

        
TD120 -00030 0.30 3.5 20 TD120 -00080 0.80 11 34 TD120 -01650 16.5 125 184
TD120 -00035 0.35 5.5 24 TD120 -00085 0.85 13 36 TD120 -01700 17.0 125 184
TD120 -00040 0.40 5.5 24 TD120 -00090 0.90 13 36 TD120 -01750 17.5 130 191
TD120 -00045 0.45 7.5 27 TD120 -00095 0.95 18 40 TD120 -01800 18.0 130 191
TD120 -00050 0.50 7.5 27 TD120 -01350 13.5 108 160 TD120 -01850 18.5 135 198
TD120 -00055 0.55 8.5 30 TD120 -01400 14.0 108 160 TD120 -01900 19.0 135 198
TD120 -00060 0.60 8.5 30 TD120 -01450 14.5 114 169 TD120 -01950 19.5 140 205
TD120 -00065 0.65 10 32 TD120 -01500 15.0 114 169 TD120 -02000 20.0 140 205
TD120 -00070 0.70 10 32 TD120 -01550 15.5 120 178
TD120 -00075 0.75 11 34 TD120 -01600 16.0 120 178

HSS STRAIGHT SHANK TWIST DRILLS

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃËÑÊÃÒ¤Ò ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò

* 1-1.99 mm เปนสีขาว

 (STANDARD SIZE) Unit: mm

D L2 L1 D L2 L1 D L2 L1
TD110 -00100 1.0 18 40 TD110 -00440 4.4 56 83 TD110 -00880 8.8 89 124
TD110 -00105 1.05 20 42 TD110 -00450 4.5 56 86 TD110 -00890 8.9 89 124
TD110 -00110 1.1 20 42 TD110 -00460 4.6 56 86 TD110 -00900 9.0 89 124
TD110 -00115 1.15 20 42 TD110 -00470 4.7 59 89 TD110 -00910 9.1 89 124
TD110 -00120 1.2 20 42 TD110 -00480 4.8 59 89 TD110 -00920 9.2 92 127
TD110 -00125 1.25 22 45 TD110 -00490 4.9 62 92 TD110 -00930 9.3 92 127
TD110 -00130 1.3 22 45 TD110 -00500 5.0 62 92 TD110 -00940 9.4 92 127
TD110 -00135 1.35 23 48 TD110 -00510 5.1 62 92 TD110 -00950 9.5 92 127
TD110 -00140 1.4 23 48 TD110 -00520 5.2 64 95 TD110 -00960 9.6 95 130
TD110 -00145 1.45 23 48 TD110 -00530 5.3 64 95 TD110 -00970 9.7 95 130
TD110 -00150 1.5 23 48 TD110 -00540 5.4 64 95 TD110 -00980 9.8 95 130
TD110 -00155 1.55 25 50 TD110 -00550 5.5 64 95 TD110 -00990 9.9 95 130
TD110 -00160 1.6 25 50 TD110 -00560 5.6 67 98 TD110 -01000 10.0 95 130
TD110 -00165 1.65 25 50 TD110 -00570 5.7 67 98 TD110 -01010 10.1 98 133
TD110 -00170 1.7 25 50 TD110 -00580 5.8 67 98 TD110 -01020 10.2 98 133
TD110 -00175 1.75 28 52 TD110 -00590 5.9 67 98 TD110 -01030 10.3 98 133
TD110 -00180 1.8 28 52 TD110 -00600 6.0 70 102 TD110 -01040 10.4 98 133
TD110 -00185 1.85 28 52 TD110 -00610 6.1 70 102 TD110 -01050 10.5 100 137
TD110 -00190 1.9 28 52 TD110 -00620 6.2 70 102 TD110 -01060 10.6 100 137
TD110 -00195 1.95 29 55 TD110 -00630 6.3 70 102 TD110 -01070 10.7 100 137
TD110 -00200 2.0 29 55 TD110 -00640 6.4 73 105 TD110 -01080 10.8 103 140
TD110 -00210 2.1 29 55 T D110-00650 6.5 73 105 TD110 -01090 10.9 103 140
TD110 -00220 2.2 33 58 TD110 -00660 6.6 73 105 TD110 -01100 11.0 103 140
TD110 -00230 2.3 33 58 TD110 -00670 6.7 73 105 TD110 -01110 11.1 103 140
TD110 -00240 2.4 35 61 TD110 -00680 6.8 73 105 TD110 -01120 11.2 106 143
TD110 -00250 2.5 35 61 TD110 -00690 6.9 73 105 TD110 -01130 11.3 106 143
TD110 -00260 2.6 37 64 TD110 -00700 7.0 73 105 TD110 -01140 11.4 106 143
T D110-00270 2.7 37 64 TD110 -00710 7.1 75 108 TD110 -01150 11.5 106 143
TD110 -00280 2.8 39 67 TD110 -00720 7.2 75 108 TD110 -01160 11.6 109 146
TD110 -00290 2.9 42 71 TD110 -00730 7.3 75 108 TD110 -01170 11.7 109 146
TD110 -00300 3.0 42 71 TD110 -00740 7.4 78 111 TD110 -01180 11.8 109 146
TD110 -00310 3.1 42 71 TD110 -00750 7.5 78 111 TD110 -01190 11.9 109 146
TD110 -00320 3.2 42 71 TD110 -00760 7.6 78 111 TD110 -01200 12.0 111 149
TD110 -00330 3.3 45 73 TD110 -00770 7.7 81 114 TD110 -01210 12.1 111 149
TD110 -00340 3.4 45 73 TD110 -00780 7.8 81 114 TD110 -01220 12.2 111 149
TD110 -00350 3.5 45 73 TD110 -00790 7.9 81 11 4 TD110 -01230 12.3 111 149
TD110 -00360 3.6 48 76 TD110 -00800 8.0 81 114 TD110 -01240 12.4 111 152
TD110 -00370 3.7 48 76 TD110 -00810 8.1 84 117 TD110 -01250 12.5 114 152
TD110 -00380 3.8 48 76 TD110 -00820 8.2 84 117 TD110 -01260 12.6 114 152
TD110 -00390 3.9 51 79 TD110 -00830 8.3 84 117 TD110 -01270 12.7 114 152
TD110 -00400 4.0 54 83 TD110 -00840 8.4 87 121 TD110 -01280 12.8 114 152
TD110 -00410 4.1 54 83 TD110 -00850 8.5 87 121 TD110 -01290 12.9 114 152
TD110 -00420 4.2 54 83 TD110 -00860 8.6 87 121 TD110 -01300 13.0 114 152
TD110 -00430 4.3 54 83 TD110 -00870 8.7 87 121

 (STANDARD SIZE) Unit: Inch

หอละ 10 ตัว 6.6 mm - 13 mm (17/64” - 1/2”) หอละ 5 ตัว

3/64 3/4 1-3/4 TD110-I013
TD110-I014
TD110-I015
TD110-I016
TD110-I017
TD110-I018
TD110-I019
TD110-I020
TD110-I021
TD110-I022

13/64 2-7/16 3-5/8 TD110-I023
TD110-I024
TD110-I025
TD110-I026
TD110-I027
TD110-I028
TD110-I029
TD110-I030
TD110-I031
TD110-I032

23/64 3-1/2 4-7/8
1/16 7/8 1-7/8 7/32 2-1/2 3-3/4 3/8 3-5/8 5
5/64 1 2 15/64 2-5/8 3-7/8 25/64 3-3/4 5-1/8
3/32 1-1/4 2-1/4 1/4 2-3/4 4 13/32 3-7/8 5-1/4
7/64 1-1/2 2-5/8 17/64 2-7/8 4-1/8 27/64 3-15/16 5-3/8
1/8 1-5/8 2-3/4 9/32 2-15/16 4-1/4 7/16 4-1/16 5-1/2
9/64 1-3/4 2-7/8 19/64 3-1/16 4-3/8 29/64 4-3/16 5-5/8
5/32 2 3-1/8 5/16 3-3/16 4-1/2 15/32 4-5/16 5-3/4
11/64 2-1/8 3-1/4 21/64 3-5/16 4-5/8 31/64 4-3/8 5-7/8

TD110-I003
TD110-I004
TD110-I005
TD110-I006
TD110-I007
TD110-I008
TD110-I009
TD110-I010
TD110-I011
TD110-I012 3/16 2-5/16 3-1/2 11/32 3-7/16 4-3/4 1/2 4-1/2 6

HSS STRAIGHT SHANK TWIST DRILLS 
´Í¡ÊÇ‹Ò¹äÎÊ»‚´

»ÅÒÂà¤Å×ÍºÊÕ·Í§ (ÅÓµÑÇÊÕ¢ÒÇ)

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A48

        
TD122-I004 1/16 1-3/4 3 TD122-I014 7/32 3-5/8 6 TD122 -I024 3/8 4-1/4 6-3/4
TD122-I005 5/64 2 3-3/4 TD122-I015 15/64 3-3/4 6-1/8 TD122 -I025 25/64 4-3/8 7
TD122-I006 3/32 2-1/4 4-1/4 TD122-I016 1/4 3-3/4 6-1/8 TD122 -I026 13/32 4-3/8 7
TD122-I007 7/64 2-1/2 4-5/8 TD122-I017 17/64 3-7/8 6-1/4 TD122 -I027 27/64 4-5/8 7-1/4
TD122-I008 1/8 2-3/4 5-1/8 TD122-I018 9/32 3-7/8 6-1/4 TD122 -I028 7/16 4-5/8 7-1/4
TD122-I009 9/64 3 5-3/8 TD122-I019 19/64 4 6-3/8 TD122 -I029 29/64 4-3/4 7-1/2
TD122-I010 5/32 3 5-3/8 TD122-I020 5/16 4 6-3/8 TD122 -I030 15/32 4-3/4 7-1/2
TD122-I011 11/64 3-3/8 5-3/4 TD122-I021 21/64 4-1/8 6-1/2 TD122 -I031 31/64 4-3/4 7-3/4
TD122-I012 3/16 3-3/8 5-3/4 TD122-I022 11/32 4-1/8 6-1/2 TD122 -I032 1/2 4-3/4 7-3/4
TD122-I013 13/64 3-5/8 6 TD122-I023 23/64 4-1/4 6-3/4

        
TD124-020150 2.0 100 150 TD124-050250 5.0 200 250 TD124-080250 8.0 200 250
TD124-025150 2.5 100 150 TD124-055200 5.5 150 200 TD124-080300 8.0 200 300

TD124-055250 5.5 200 250 TD124-090250 9.0 200 250TD124-030150 3.0 100 150
TD124-060200 6.0 150 200 TD124-090300 9.0 200 300
TD124-060250 6.0 200 250 TD124-100250 10 200 250

TD124-035150 3.5 100 150

TD124-060300 6.0 200 300 TD124-100300 10 200 300
TD124-065200 6.5 150 200 TD124-100350 10 250 350

TD124-040150 4.0 100 150

TD124-065250 6.5 200 250 TD124-120250 12 200 250

TD124-040200 4.0 150 200

TD124-065300 6.5 20 0 300 TD124-120300 12 200 300

TD124-040250 4.0 200 250

TD124-070200 7.0 150 200 TD124-120350 12 250 350

TD124-045200 4.5 150 200

TD124-070250 7.0 200 250 TD124-130250 13 200 250

TD124-045250 4.5 20 0 250

TD124-070300 7.0 200 300 TD124-130300 13 200 300

TD124-050200 5.0 150 200

TD124-080200 8.0 150 200 TD124-130350 13 250 350

HSS STRAIGHT SHANK TWIST DRILLS
´Í¡ÊÇ‹Ò¹¡ŒÒ¹µÃ§ äÎÊ»‚´

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A49

Gold-P Coated Tin

 (STANDARD SIZE) Unit: mm

     
TD130 -0010 1.0 18 40 TD130 -0055 5.5 64 95
TD130 -0011 1.1 20 42 TD130 -0056 5.6 67 98
TD130 -0012 1.2 20 42 TD130 -0057 5.7 67 98
TD130 -0013 1.3 22 45 TD130 -0058 5.8 67 98
TD130 -0014 1.4 23 48 TD130 -0059 5.9 67 98
TD130 -0015 1.5 23 48 TD130 -0060 6.0 70 102
TD130 -0016 1.6 25 50 TD130 -0061 6.1 70 102
TD130 -0017 1.7 25 50 TD130 -0062 6.2 70 102
TD130 -0018 1.8 28 52 TD130 -0063 6.3 70 102
TD130 -0019 1.9 28 52 TD130 -0064 6.4 73 105
TD130 -0020 2.0 29 55 TD130 -0065 6.5 73 105
TD130 -0021 2.1 29 55 TD130 -0066 6.6 73 105
TD130 -0022 2.2 33 58 TD130 -0067 6.7 73 105
TD130 -0023 2.3 33 58 TD130 -0068 6.8 73 105
TD130 -0024 2.4 35 61 TD130 -0069 6.9 73 105
TD130 -0025 2.5 35 61 TD130 -0070 7.0 73 105
TD130 -0026 2.6 37 64 TD130 -0071 7.1 75 108
TD130 -0027 2.7 37 64 TD130 -0072 7.2 75 108
TD130 -0028 2.8 39 67 TD130 -0073 7.3 75 108
TD130 -0029 2.9 42 71 TD130 -0074 7.4 78 111
TD130 -0030 3.0 42 71 TD130 -0075 7.5 78 111
TD130 -0031 3.1 42 71 TD130 -0076 7.6 78 111
TD130 -0032 3.2 42 71 TD130 -0077 7.7 81 114
TD130 -0033 3.3 45 73 TD130 -0078 7.8 81 114
TD130 -0034 3.4 45 73 TD130 -0079 7.9 81 114
TD130 -0035 3.5 45 73 TD130 -0080 8.0 81 114
TD130 -0036 3.6 48 76 TD130 -0081 8.1 84 117
TD130 -0037 3.7 48 76 TD130 -0082 8.2 84 117
TD130 -0038 3.8 48 76 TD130 -0083 8.3 84 117
TD130 -0039 3.9 51 79 TD130 -0084 8.4 87 121
TD130 -0040 4.0 54 83 TD130 -0085 8.5 87 121
TD130 -0041 4.1 54 83 TD130 -0086 8.6 87 121
TD130 -0042 4.2 54 83 TD130 -0087 8.7 87 121
TD130 -0043 4.3 54 83 TD130 -0088 8.8 89 124
TD130 -0044 4.4 56 86 TD130 -0089 8.9 89 124
TD130 -0045 4.5 56 86 TD130 -0090 9.0 89 124
TD130 -0046 4.6 56 86 TD130 -0095 9.5 92 127
TD130 -0047 4.7 59 89 TD130 -0100 10.0 95 130
TD130 -0048 4.8 59 89 TD130 -0105 10.5 100 137
TD130 -0049 4.9 62 92 TD130 -0110 11.0 103 140
TD130 -0050 5.0 62 92 TD130 -0115 11. 5 106 143
TD130 -0051 5.1 62 92 TD130 -0120 12.0 111 149
TD130 -0052 5.2 64 95 TD130 -0125 12.5 114 152
TD130 -0053 5.3 64 95 TD130 -0130 13.0 114 152
TD130 -0054 5.4 64 95

HSS-CO8 STRAIGHT SHANK TWIST DRILLS 
´Í¡ÊÇ‹Ò¹¡ŒÒ¹µÃ§ HSS-CO8

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

»ÅÒÂà¤Å×ÍºÊÕ·Í§

        
TD122-I004 1/16 1-3/4 3 TD122-I014 7/32 3-5/8 6 TD122 -I024 3/8 4-1/4 6-3/4
TD122-I005 5/64 2 3-3/4 TD122-I015 15/64 3-3/4 6-1/8 TD122 -I025 25/64 4-3/8 7
TD122-I006 3/32 2-1/4 4-1/4 TD122-I016 1/4 3-3/4 6-1/8 TD122 -I026 13/32 4-3/8 7
TD122-I007 7/64 2-1/2 4-5/8 TD122-I017 17/64 3-7/8 6-1/4 TD122 -I027 27/64 4-5/8 7-1/4
TD122-I008 1/8 2-3/4 5-1/8 TD122-I018 9/32 3-7/8 6-1/4 TD122 -I028 7/16 4-5/8 7-1/4
TD122-I009 9/64 3 5-3/8 TD122-I019 19/64 4 6-3/8 TD122 -I029 29/64 4-3/4 7-1/2
TD122-I010 5/32 3 5-3/8 TD122-I020 5/16 4 6-3/8 TD122 -I030 15/32 4-3/4 7-1/2
TD122-I011 11/64 3-3/8 5-3/4 TD122-I021 21/64 4-1/8 6-1/2 TD122 -I031 31/64 4-3/4 7-3/4
TD122-I012 3/16 3-3/8 5-3/4 TD122-I022 11/32 4-1/8 6-1/2 TD122 -I032 1/2 4-3/4 7-3/4
TD122-I013 13/64 3-5/8 6 TD122-I023 23/64 4-1/4 6-3/4

        
TD124-020150 2.0 100 150 TD124-050250 5.0 200 250 TD124-080250 8.0 200 250
TD124-025150 2.5 100 150 TD124-055200 5.5 150 200 TD124-080300 8.0 200 300

TD124-055250 5.5 200 250 TD124-090250 9.0 200 250TD124-030150 3.0 100 150
TD124-060200 6.0 150 200 TD124-090300 9.0 200 300
TD124-060250 6.0 200 250 TD124-100250 10 200 250

TD124-035150 3.5 100 150

TD124-060300 6.0 200 300 TD124-100300 10 200 300
TD124-065200 6.5 150 200 TD124-100350 10 250 350

TD124-040150 4.0 100 150

TD124-065250 6.5 200 250 TD124-120250 12 200 250

TD124-040200 4.0 150 200

TD124-065300 6.5 20 0 300 TD124-120300 12 200 300

TD124-040250 4.0 200 250

TD124-070200 7.0 150 200 TD124-120350 12 250 350

TD124-045200 4.5 150 200

TD124-070250 7.0 200 250 TD124-130250 13 200 250

TD124-045250 4.5 20 0 250

TD124-070300 7.0 200 300 TD124-130300 13 200 300

TD124-050200 5.0 150 200

TD124-080200 8.0 150 200 TD124-130350 13 250 350

HSS STRAIGHT SHANK TWIST DRILLS
´Í¡ÊÇ‹Ò¹¡ŒÒ¹µÃ§ äÎÊ»‚´

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A50

STRAIGHT SHANK REAMERS
ÃÔÁàÁÍÃ�¡ŒÒ¹µÃ§

áÎ¹´�ÃÔÁàÁÍÃ�
HSS HAND REAMERS

HSS-E CHUCKING REAMERS-LH SPIRAL FLUTES (QUICK SPIRAL)
ªÑ¡¡Ôé§ÃÔÁàÁÍÃ� 45o

ªÑ¡¡Ôé§ÃÔÁàÁÍÃ�
HSS-E CHUCKING REAMERS

RM130-0040
RM130-0045
RM130-0050
RM130-0055
RM130-0060
RM130-0065
RM130-0070
RM130-0080
RM130-0085
RM130-0090
RM130-0095

RM130-0100
RM130-0110
RM130-0120
RM130-0130
RM130-0140
RM130-0150
RM130-0160
RM130-0170
RM130-0180
RM130-0190
RM130-0200

4.0
4.5
5.0
5.5
6.0
6.5
7.0
8.0
8.5
9.0
9.5

10.0
11.0
12.0
13.0
14.0
15.0
16.0
17.0
18.0
19.0
20.0

4
4.5
5
5.6
5.6
6.3
7.1
8
8
9
9

10
10
10
10
12.5
12.5
12.5
14
14
16
16

19
21
23
26
26
28
31
33
33
36
36

38
41
44
44
47
50
52
54
56
58
60

75
80
86
93
93
101
109
117
117
125
125

133
142
151
151
160
162
170
175
182
189
195

ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´á¡¹ á¡¹¤Á¡Ñ´ ¤Á¡Ñ´¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇÃÒ¤Ò

RM120-0015
RM120-0020
RM120-0025
RM120-0030
RM120-0035
RM120-0040
RM120-0045
RM120-0050
RM120-0055
RM120-0060
RM120-0065
RM120-0070
RM120-0075
RM120-0080
RM120-0085
RM120-0090
RM120-0095
RM120-0100
RM120-0105
RM120-0110
RM120-0115
RM120-0120
RM120-0125
RM120-0130
RM120-0140
RM120-0150
RM120-0160
RM120-0170
RM120-0180
RM120-0190
RM120-0200
RM120-0210
RM120-0220
RM120-0230
RM120-0240
RM120-0250

1.5
2.0
2.5
3.0
3.5
4.0
4.5
5.0
5.5
6.0
6.5
7.0
7.5
8.0
8.5
9.0
9.5
10
10.5
11
11.5
12
12.5
13
14
15
16
17
18
19
20
21
22
23
24
25

20
25
29
31
35
38
41
44
47
47
50
54
54
58
58
62
62
66
66
71
71
76
76
76
81
81
87
87
93
93
100
100
107
107
115
115

41
50
58
62
71
76
81
87
93
93
100
107
107
115
115
124
124
133
133
142
142
152
152
152
163
163
175
175
188
188
201
201
215
215
231
231

ÃËÑÊ ¢¹Ò´ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃÒ¤Ò

RM100-0020
RM100-0025
RM100-0030
RM100-0035
RM100-0040
RM100-0045
RM100-0050
RM100-0055
RM100-0060
RM100-0065
RM100-0070
RM100-0075
RM100-0080
RM100-0085
RM100-0090
RM100-0095
RM100-0100
RM100-0105
RM100-0110
RM100-0115
RM100-0120
RM100-0125
RM100-0130
RM100-0140
RM100-0150
RM100-0160
RM100-0170
RM100-0180
RM100-0190
RM100-0200

2.0
2.5
3.0
3.5
4.0
4.5
5.0
5.5
6.0
6.5
7.0
7.5
8.0
8.5
9.0
9.5
10
10.5
11
11.5
12
12.5
13
14
15
16
17
18
19
20

2.0
2.5
3.0
3.5
4.0
4.5
5.0
5.6
5.6
6.3
7.1
7.1
8.0
8.0
9.0
9.0
10
10
10
10
10
10
10
12.5
12.5
12.5
14
14
16
16

11
14
15
18
19
21
23
26
26
28
31
31
33
33
36
36
38
38
41
41
44
44
44
47
50
52
54
54
58
60

49
57
61
70
75
80
86
93
93
101
109
109
117
117
125
125
133
133
142
142
151
151
151
160
162
170
175
182
189
195

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A51

4 »Ò¡
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 45o

EMG454-0010
EMG454-0015
EMG454-0020
EMG454-0025
EMG454-0030
EMG454-0035
EMG454-0040
EMG454-0045
EMG454-0050
EMG454-0060
EMG454-0070
EMG454-0080
EMG454-0090
EMG454-0100
EMG454-0110
EMG454-0120
EMG454-0140
EMG454-0160
EMG454-0180
EMG454-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMG454L-0030
EMG454L-0040
EMG454L-0050
EMG454L-0060
EMG454L-0080
EMG454L-0100
EMG454L-0120
EMG454L-0140
EMG454L-0160
EMG454L-0180
EMG454L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

EMG454XL-0060
EMG454XL-0080
EMG454XL-0100
EMG454XL-0120
EMG454XL-0160
EMG454XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡

EMG452-0010
EMG452-0015
EMG452-0020
EMG452-0025
EMG452-0030
EMG452-0035
EMG452-0040
EMG452-0045
EMG452-0050
EMG452-0060
EMG452-0070
EMG452-0080
EMG452-0090
EMG452-0100
EMG452-0110
EMG452-0120
EMG452-0140
EMG452-0160
EMG452-0180
EMG452-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡ ÃØ‹¹ÂÒÇ

EMG452L-0030
EMG452L-0040
EMG452L-0050
EMG452L-0060
EMG452L-0080
EMG452L-0100
EMG452L-0120
EMG452L-0140
EMG452L-0160
EMG452L-0180
EMG452L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

EMG452XL-0060
EMG452XL-0080
EMG452XL-0100
EMG452XL-0120
EMG452XL-0160
EMG452XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILLS

TiALN-Coating

STRAIGHT SHANK REAMERS
ÃÔÁàÁÍÃ�¡ŒÒ¹µÃ§

áÎ¹´�ÃÔÁàÁÍÃ�
HSS HAND REAMERS

HSS-E CHUCKING REAMERS-LH SPIRAL FLUTES (QUICK SPIRAL)
ªÑ¡¡Ôé§ÃÔÁàÁÍÃ� 45o

ªÑ¡¡Ôé§ÃÔÁàÁÍÃ�
HSS-E CHUCKING REAMERS

RM130-0040
RM130-0045
RM130-0050
RM130-0055
RM130-0060
RM130-0065
RM130-0070
RM130-0080
RM130-0085
RM130-0090
RM130-0095

RM130-0100
RM130-0110
RM130-0120
RM130-0130
RM130-0140
RM130-0150
RM130-0160
RM130-0170
RM130-0180
RM130-0190
RM130-0200

4.0
4.5
5.0
5.5
6.0
6.5
7.0
8.0
8.5
9.0
9.5

10.0
11.0
12.0
13.0
14.0
15.0
16.0
17.0
18.0
19.0
20.0

4
4.5
5
5.6
5.6
6.3
7.1
8
8
9
9

10
10
10
10
12.5
12.5
12.5
14
14
16
16

19
21
23
26
26
28
31
33
33
36
36

38
41
44
44
47
50
52
54
56
58
60

75
80
86
93
93
101
109
117
117
125
125

133
142
151
151
160
162
170
175
182
189
195

ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´á¡¹ á¡¹¤Á¡Ñ´ ¤Á¡Ñ´¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇÃÒ¤Ò

RM120-0015
RM120-0020
RM120-0025
RM120-0030
RM120-0035
RM120-0040
RM120-0045
RM120-0050
RM120-0055
RM120-0060
RM120-0065
RM120-0070
RM120-0075
RM120-0080
RM120-0085
RM120-0090
RM120-0095
RM120-0100
RM120-0105
RM120-0110
RM120-0115
RM120-0120
RM120-0125
RM120-0130
RM120-0140
RM120-0150
RM120-0160
RM120-0170
RM120-0180
RM120-0190
RM120-0200
RM120-0210
RM120-0220
RM120-0230
RM120-0240
RM120-0250

1.5
2.0
2.5
3.0
3.5
4.0
4.5
5.0
5.5
6.0
6.5
7.0
7.5
8.0
8.5
9.0
9.5
10
10.5
11
11.5
12
12.5
13
14
15
16
17
18
19
20
21
22
23
24
25

20
25
29
31
35
38
41
44
47
47
50
54
54
58
58
62
62
66
66
71
71
76
76
76
81
81
87
87
93
93
100
100
107
107
115
115

41
50
58
62
71
76
81
87
93
93
100
107
107
115
115
124
124
133
133
142
142
152
152
152
163
163
175
175
188
188
201
201
215
215
231
231

ÃËÑÊ ¢¹Ò´ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò

ÃÒ¤Ò

RM100-0020
RM100-0025
RM100-0030
RM100-0035
RM100-0040
RM100-0045
RM100-0050
RM100-0055
RM100-0060
RM100-0065
RM100-0070
RM100-0075
RM100-0080
RM100-0085
RM100-0090
RM100-0095
RM100-0100
RM100-0105
RM100-0110
RM100-0115
RM100-0120
RM100-0125
RM100-0130
RM100-0140
RM100-0150
RM100-0160
RM100-0170
RM100-0180
RM100-0190
RM100-0200

2.0
2.5
3.0
3.5
4.0
4.5
5.0
5.5
6.0
6.5
7.0
7.5
8.0
8.5
9.0
9.5
10
10.5
11
11.5
12
12.5
13
14
15
16
17
18
19
20

2.0
2.5
3.0
3.5
4.0
4.5
5.0
5.6
5.6
6.3
7.1
7.1
8.0
8.0
9.0
9.0
10
10
10
10
10
10
10
12.5
12.5
12.5
14
14
16
16

11
14
15
18
19
21
23
26
26
28
31
31
33
33
36
36
38
38
41
41
44
44
44
47
50
52
54
54
58
60

49
57
61
70
75
80
86
93
93
101
109
109
117
117
125
125
133
133
142
142
151
151
151
160
162
170
175
182
189
195

ÃËÑÊ ¢¹Ò´ á¡¹ ¤Á¡Ñ´ ÂÒÇ ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A52

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 45o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

á·‹§¡ÅÁ ¤ÒÃ�äº·�

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG455-0010
EMG455-0015
EMG455-0020
EMG455-0025
EMG455-0030
EMG455-0035
EMG455-0040
EMG455-0050
EMG455-0060
EMG455-0070
EMG455-0080
EMG455-0090
EMG455-0100
EMG455-0120
EMG455-0140
EMG455-0160
EMG455-0180
EMG455-0200

EMG455XL-0030
EMG455XL-0040
EMG455XL-0050
EMG455XL-0060
EMG455XL-0080
EMG455XL-0100
EMG455XL-0120
EMG455XL-0140
EMG455XL-0160
EMG455XL-0200

CB4504
CB4505
CB4506
CB4508
CB4510
CB4512
CB4514
CB4516
CB4518
CB4520

EMG455L-0015
EMG455L-0020
EMG455L-0030
EMG455L-0040
EMG455L-0050
EMG455L-0060
EMG455L-0080
EMG455L-0100
EMG455L-0120
EMG455L-0140
EMG455L-0160
EMG455L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
5
6
8
10
12
14
16
18
20

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

4
4
6
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

330
330
330
330
330
330
330
330
330
330

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

á·‹§¡ÅÁ ¤ÒÃ�äº·� 
áººà¨ÕÂÃ�à§Ò

CB4504-G
CB4505-G
CB4506-G
CB4508-G
CB4510-G
CB4512-G
CB4514-G
CB4516-G
CB4518-G
CB4520-G

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

150
150
150
150
150
150
150
150
150
150

¤ÇÒÁÂÒÇ ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILLS

TiALN-Coating

¢¹Ò´ (      ) 0
- 0.005¢¹Ò´ (    )+ 0

+ 0.3



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A53

4 »Ò¡
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 55o

EMG554-0010
EMG554-0015
EMG554-0020
EMG554-0025
EMG554-0030
EMG554-0035
EMG554-0040
EMG554-0045
EMG554-0050
EMG554-0060
EMG554-0070
EMG554-0080
EMG554-0090
EMG554-0100
EMG554-0110
EMG554-0120
EMG554-0140
EMG554-0160
EMG554-0180
EMG554-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMG554L-0030
EMG554L-0040
EMG554L-0050
EMG554L-0060
EMG554L-0080
EMG554L-0100
EMG554L-0120
EMG554L-0140
EMG554L-0160
EMG554L-0180
EMG554L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG554XL-0060
EMG554XL-0080
EMG554XL-0100
EMG554XL-0120
EMG554XL-0160
EMG554XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡

EMG552-0010
EMG552-0015
EMG552-0020
EMG552-0025
EMG552-0030
EMG552-0035
EMG552-0040
EMG552-0045
EMG552-0050
EMG552-0060
EMG552-0070
EMG552-0080
EMG552-0090
EMG552-0100
EMG552-0110
EMG552-0120
EMG552-0140
EMG552-0160
EMG552-0180
EMG552-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡ ÃØ‹¹ÂÒÇ

EMG552L-0030
EMG552L-0040
EMG552L-0050
EMG552L-0060
EMG552L-0080
EMG552L-0100
EMG552L-0120
EMG552L-0140
EMG552L-0160
EMG552L-0180
EMG552L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG552XL-0060
EMG552XL-0080
EMG552XL-0100
EMG552XL-0120
EMG552XL-0160
EMG552XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILLS

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

AlTiN-Coating

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 45o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

á·‹§¡ÅÁ ¤ÒÃ�äº·�

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG455-0010
EMG455-0015
EMG455-0020
EMG455-0025
EMG455-0030
EMG455-0035
EMG455-0040
EMG455-0050
EMG455-0060
EMG455-0070
EMG455-0080
EMG455-0090
EMG455-0100
EMG455-0120
EMG455-0140
EMG455-0160
EMG455-0180
EMG455-0200

EMG455XL-0030
EMG455XL-0040
EMG455XL-0050
EMG455XL-0060
EMG455XL-0080
EMG455XL-0100
EMG455XL-0120
EMG455XL-0140
EMG455XL-0160
EMG455XL-0200

CB4504
CB4505
CB4506
CB4508
CB4510
CB4512
CB4514
CB4516
CB4518
CB4520

EMG455L-0015
EMG455L-0020
EMG455L-0030
EMG455L-0040
EMG455L-0050
EMG455L-0060
EMG455L-0080
EMG455L-0100
EMG455L-0120
EMG455L-0140
EMG455L-0160
EMG455L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
5
6
8
10
12
14
16
18
20

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

4
4
6
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

330
330
330
330
330
330
330
330
330
330

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

á·‹§¡ÅÁ ¤ÒÃ�äº·� 
áººà¨ÕÂÃ�à§Ò

CB4504-G
CB4505-G
CB4506-G
CB4508-G
CB4510-G
CB4512-G
CB4514-G
CB4516-G
CB4518-G
CB4520-G

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

150
150
150
150
150
150
150
150
150
150

¤ÇÒÁÂÒÇ ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILLS

TiALN-Coating

¢¹Ò´ (      ) 0
- 0.005¢¹Ò´ (    )+ 0

+ 0.3



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A54

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 55o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG555-0010
EMG555-0015
EMG555-0020
EMG555-0025
EMG555-0030
EMG555-0035
EMG555-0040
EMG555-0050
EMG555-0060
EMG555-0070
EMG555-0080
EMG555-0090
EMG555-0100
EMG555-0120
EMG555-0140
EMG555-0160
EMG555-0180
EMG555-0200

EMG555XL-0030
EMG555XL-0040
EMG555XL-0050
EMG555XL-0060
EMG555XL-0080
EMG555XL-0100
EMG555XL-0120
EMG555XL-0140
EMG555XL-0160
EMG555XL-0200

EMG555L-0015
EMG555L-0020
EMG555L-0030
EMG555L-0040
EMG555L-0050
EMG555L-0060
EMG555L-0080
EMG555L-0100
EMG555L-0120
EMG555L-0140
EMG555L-0160
EMG555L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R4)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

4
4
6
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILLS

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

AlTiN-Coating

á·‹§¡ÅÁ ¤ÒÃ�äº·�

CB5504
CB5505
CB5506
CB5508
CB5510
CB5512
CB5514
CB5516
CB5518
CB5520

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

330
330
330
330
330
330
330
330
330
330

¤ÇÒÁÂÒÇ ÃÒ¤Ò

á·‹§¡ÅÁ ¤ÒÃ�äº·� 
áººà¨ÕÂÃ�à§Ò

CB5504-G
CB5505-G
CB5506-G
CB5508-G
CB5510-G
CB5512-G
CB5514-G
CB5516-G
CB5518-G
CB5520-G

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

150
150
150
150
150
150
150
150
150
150

¤ÇÒÁÂÒÇ ÃÒ¤Ò¢¹Ò´ (      ) 0
- 0.005¢¹Ò´ (    )+ 0

+ 0.3



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A55

4 »Ò¡
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 58o

EMG584-0010
EMG584-0015
EMG584-0020
EMG584-0025
EMG584-0030
EMG584-0035
EMG584-0040
EMG584-0045
EMG584-0050
EMG584-0060
EMG584-0070
EMG584-0080
EMG584-0090
EMG584-0100
EMG584-0110
EMG584-0120
EMG584-0140
EMG584-0160
EMG584-0180
EMG584-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡
ÃØ‹¹ÂÒÇ

EMG584L-0030
EMG584L-0040
EMG584L-0050
EMG584L-0060
EMG584L-0080
EMG584L-0100
EMG584L-0120
EMG584L-0140
EMG584L-0160
EMG584L-0180
EMG584L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG584XL-0060
EMG584XL-0080
EMG584XL-0100
EMG584XL-0120
EMG584XL-0160
EMG584XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡

EMG582-0010
EMG582-0015
EMG582-0020
EMG582-0025
EMG582-0030
EMG582-0035
EMG582-0040
EMG582-0045
EMG582-0050
EMG582-0060
EMG582-0070
EMG582-0080
EMG582-0090
EMG582-0100
EMG582-0110
EMG582-0120
EMG582-0140
EMG582-0160
EMG582-0180
EMG582-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡
ÃØ‹¹ÂÒÇ

EMG582L-0030
EMG582L-0040
EMG582L-0050
EMG582L-0060
EMG582L-0080
EMG582L-0100
EMG582L-0120
EMG582L-0140
EMG582L-0160
EMG582L-0180
EMG582L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG582XL-0060
EMG582XL-0080
EMG582XL-0100
EMG582XL-0120
EMG582XL-0160
EMG582XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ·Í§
MICRO GRAIN CARBIDE END MILLS

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

TiSiN-Coating

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 55o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG555-0010
EMG555-0015
EMG555-0020
EMG555-0025
EMG555-0030
EMG555-0035
EMG555-0040
EMG555-0050
EMG555-0060
EMG555-0070
EMG555-0080
EMG555-0090
EMG555-0100
EMG555-0120
EMG555-0140
EMG555-0160
EMG555-0180
EMG555-0200

EMG555XL-0030
EMG555XL-0040
EMG555XL-0050
EMG555XL-0060
EMG555XL-0080
EMG555XL-0100
EMG555XL-0120
EMG555XL-0140
EMG555XL-0160
EMG555XL-0200

EMG555L-0015
EMG555L-0020
EMG555L-0030
EMG555L-0040
EMG555L-0050
EMG555L-0060
EMG555L-0080
EMG555L-0100
EMG555L-0120
EMG555L-0140
EMG555L-0160
EMG555L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R4)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

4
4
6
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILLS

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

AlTiN-Coating

á·‹§¡ÅÁ ¤ÒÃ�äº·�

CB5504
CB5505
CB5506
CB5508
CB5510
CB5512
CB5514
CB5516
CB5518
CB5520

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

330
330
330
330
330
330
330
330
330
330

¤ÇÒÁÂÒÇ ÃÒ¤Ò

á·‹§¡ÅÁ ¤ÒÃ�äº·� 
áººà¨ÕÂÃ�à§Ò

CB5504-G
CB5505-G
CB5506-G
CB5508-G
CB5510-G
CB5512-G
CB5514-G
CB5516-G
CB5518-G
CB5520-G

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

150
150
150
150
150
150
150
150
150
150

¤ÇÒÁÂÒÇ ÃÒ¤Ò¢¹Ò´ (      ) 0
- 0.005¢¹Ò´ (    )+ 0

+ 0.3



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A56

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 58o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG585-0010
EMG585-0015
EMG585-0020
EMG585-0025
EMG585-0030
EMG585-0035
EMG585-0040
EMG585-0050
EMG585-0060
EMG585-0070
EMG585-0080
EMG585-0090
EMG585-0100
EMG585-0120
EMG585-0140
EMG585-0160
EMG585-0180
EMG585-0200

EMG585XL-0030
EMG585XL-0040
EMG585XL-0050
EMG585XL-0060
EMG585XL-0080
EMG585XL-0100
EMG585XL-0120
EMG585XL-0140
EMG585XL-0160
EMG585XL-0200

EMG585L-0015
EMG585L-0020
EMG585L-0030
EMG585L-0040
EMG585L-0050
EMG585L-0060
EMG585L-0080
EMG585L-0100
EMG585L-0120
EMG585L-0140
EMG585L-0160
EMG585L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

4
4
6
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ·Í§
MICRO GRAIN CARBIDE END MILLS

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

TiSiN-Coating



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A57

6 »Ò¡

EMG586-0060
EMG586-0080
EMG586-0100
EMG586-0120
EMG586-0160
EMG586-0200

6
8
10
12
16
20

6
8
10
12
16
20

15
20
25
30
40
45

ÃËÑÊ ¢¹Ò´

60
60
75
75
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

6 »Ò¡ ÃØ‹¹ÂÒÇ

EMG586L-0060
EMG586L-0080
EMG586L-0100
EMG586L-0120
EMG586L-0160
EMG586L-0200

6
8
10
12
16
20

6
8
10
12
16
20

30
30
40
45
70
70

ÃËÑÊ ¢¹Ò´

75
75
100
100
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

ËÑÇÁ¹¤ÍÂÒÇ

EMG587-1008
EMG587-1010
EMG587-1510
EMG587-1512
EMG587-2010
EMG587-2012
EMG587-3010
EMG587-3012

1 (R0.5)
1 (R0.5)

1.5 (R0.75)
1.5 (R0.75)

2 (R1)
2 (R1)
3 (R1.5)
3 (R1.5)

4
4
4
4
4
4
4
4

1
1
1.5
1.5
2
2
3
3

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50

8
10
10
12
10
12
10
12

¤ÇÒÁÂÒÇ ¤ÍÂÒÇá¡¹

¤Í

¤Á¡Ñ´ ÃÒ¤Ò

¡Ñ´ËÂÒº

EMG588-0060
EMG588-0080
EMG588-0100
EMG588-0120
EMG588-0140
EMG588-0160
EMG588-0180
EMG588-0200

6
8
10
12
14
16
18
20

6
8
10
12
14
16
18
20

15
20
25
30
35
40
40
45

ÃËÑÊ ¢¹Ò´

50
60
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡ ÃØ‹¹¨ÔëÇ

EMG589-001
EMG589-002
EMG589-003
EMG589-004
EMG589-005
EMG589-006
EMG589-007
EMG589-008
EMG589-009

0.1
0.2
0.3
0.4
0.5
0.6
0.7
0.8
0.9

4
4
4
4
4
4
4
4
4

0.2
0.4
0.6
0.8
1
1.2
1.4
1.6
1.8

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ·Í§
X-POWER

X-POWER CARBIDE END MILLS
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 58o

TiSiN-Coating

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 58o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG585-0010
EMG585-0015
EMG585-0020
EMG585-0025
EMG585-0030
EMG585-0035
EMG585-0040
EMG585-0050
EMG585-0060
EMG585-0070
EMG585-0080
EMG585-0090
EMG585-0100
EMG585-0120
EMG585-0140
EMG585-0160
EMG585-0180
EMG585-0200

EMG585XL-0030
EMG585XL-0040
EMG585XL-0050
EMG585XL-0060
EMG585XL-0080
EMG585XL-0100
EMG585XL-0120
EMG585XL-0140
EMG585XL-0160
EMG585XL-0200

EMG585L-0015
EMG585L-0020
EMG585L-0030
EMG585L-0040
EMG585L-0050
EMG585L-0060
EMG585L-0080
EMG585L-0100
EMG585L-0120
EMG585L-0140
EMG585L-0160
EMG585L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

4
4
6
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ·Í§
MICRO GRAIN CARBIDE END MILLS

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

TiSiN-Coating



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A58

4 »Ò¡
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 63o

Black Nano Coating

EMG634-0010
EMG634-0015
EMG634-0020
EMG634-0025
EMG634-0030
EMG634-0035
EMG634-0040
EMG634-0045
EMG634-0050
EMG634-0060
EMG634-0070
EMG634-0080
EMG634-0090
EMG634-0100
EMG634-0110
EMG634-0120
EMG634-0140
EMG634-0160
EMG634-0180
EMG634-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMG634L-0030
EMG634L-0040
EMG634L-0050
EMG634L-0060
EMG634L-0080
EMG634L-0100
EMG634L-0120
EMG634L-0140
EMG634L-0160
EMG634L-0180
EMG634L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG634XL-0060
EMG634XL-0080
EMG634XL-0100
EMG634XL-0120
EMG634XL-0160
EMG634XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡

EMG632-0010
EMG632-0015
EMG632-0020
EMG632-0025
EMG632-0030
EMG632-0035
EMG632-0040
EMG632-0045
EMG632-0050
EMG632-0060
EMG632-0070
EMG632-0080
EMG632-0090
EMG632-0100
EMG632-0110
EMG632-0120
EMG632-0140
EMG632-0160
EMG632-0180
EMG632-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡ ÃØ‹¹ÂÒÇ

EMG632L-0030
EMG632L-0040
EMG632L-0050
EMG632L-0060
EMG632L-0080
EMG632L-0100
EMG632L-0120
EMG632L-0140
EMG632L-0160
EMG632L-0180
EMG632L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG632XL-0060
EMG632XL-0080
EMG632XL-0100
EMG632XL-0120
EMG632XL-0160
EMG632XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ´Ó
MICRO GRAIN CARBIDE END MILLS

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A59

2 »Ò¡ ËÑÇÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 63o

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ

EMG635-0010
EMG635-0015
EMG635-0020
EMG635-0025
EMG635-0030
EMG635-0035
EMG635-0040
EMG635-0050
EMG635-0060
EMG635-0070
EMG635-0080
EMG635-0090
EMG635-0100
EMG635-0120
EMG635-0140
EMG635-0160
EMG635-0180
EMG635-0200

EMG635XL-0030
EMG635XL-0040
EMG635XL-0050
EMG635XL-0060
EMG635XL-0080
EMG635XL-0100
EMG635XL-0120
EMG635XL-0140
EMG635XL-0160
EMG635XL-0200

EMG635L-0015
EMG635L-0020
EMG635L-0030
EMG635L-0040
EMG635L-0050
EMG635L-0060
EMG635L-0080
EMG635L-0100
EMG635L-0120
EMG635L-0140
EMG635L-0160
EMG635L-0200

1 (R0.5)
1.5 (R0.75)

2 (R1)
2.5 (R1.25)
3 (R1.5)

3.5 (R1.75)
4 (R2)
5 (R2.5)
6 (R3)
7 (R3.5)
8 (R4)
9 (R4.5)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

1.5 (R0.75)
2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
20 (R10)

4
4
4
4
4
4
4
6
6
8
8
10
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
20

4
4
4
4
6
6
8
10
12
14
16
20

2
3
4
5
6
7
8
10
12
14
16
18
20
24
28
32
36
40

6
8
10
12
16
20
24
28
32
40

3
4
6
8
10
12
16
20
24
28
32
40

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ¢¹Ò´

¢¹Ò´

¢¹Ò´

50
50
50
50
50
50
50
50
50
60
60
75
75
75
100
100
100
100

100
100
100
150
150
150
150
200
200
200

75
75
75
75
75
100
100
100
100
150
150
150

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇá¡¹

á¡¹

á¡¹¤Á¡Ñ´

¤Á¡Ñ´

¤Á¡Ñ´ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ´Ó
MICRO GRAIN CARBIDE END MILLS

2 »Ò¡
ËÑÇÁ¹ ÃØ‹¹ÂÒÇ¾ÔàÈÉ

Black Nano Coating

á·‹§¡ÅÁ ¤ÒÃ�äº·�

CB6304
CB6305
CB6306
CB6308
CB6310
CB6312
CB6314
CB6316
CB6318
CB6320

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ

330
330
330
330
330
330
330
330
330
330

¤ÇÒÁÂÒÇ ÃÒ¤Ò

á·‹§¡ÅÁ ¤ÒÃ�äº·� 
áººà¨ÕÂÃ�à§Ò

CB6304-G
CB6305-G
CB6306-G
CB6308-G
CB6310-G
CB6312-G
CB6314-G
CB6316-G
CB6318-G
CB6320-G

4
5
6
8
10
12
14
16
18
20

ÃËÑÊ ¢¹Ò´ (      )

150
150
150
150
150
150
150
150
150
150

¤ÇÒÁÂÒÇ ÃÒ¤Ò 0
- 0.005¢¹Ò´ (    )+ 0

+ 0.3

4 »Ò¡
ÊÓËÃÑºàËÅç¡á¢ç§ HRC 63o

Black Nano Coating

EMG634-0010
EMG634-0015
EMG634-0020
EMG634-0025
EMG634-0030
EMG634-0035
EMG634-0040
EMG634-0045
EMG634-0050
EMG634-0060
EMG634-0070
EMG634-0080
EMG634-0090
EMG634-0100
EMG634-0110
EMG634-0120
EMG634-0140
EMG634-0160
EMG634-0180
EMG634-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

4 »Ò¡ ÃØ‹¹ÂÒÇ

EMG634L-0030
EMG634L-0040
EMG634L-0050
EMG634L-0060
EMG634L-0080
EMG634L-0100
EMG634L-0120
EMG634L-0140
EMG634L-0160
EMG634L-0180
EMG634L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG634XL-0060
EMG634XL-0080
EMG634XL-0100
EMG634XL-0120
EMG634XL-0160
EMG634XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡

EMG632-0010
EMG632-0015
EMG632-0020
EMG632-0025
EMG632-0030
EMG632-0035
EMG632-0040
EMG632-0045
EMG632-0050
EMG632-0060
EMG632-0070
EMG632-0080
EMG632-0090
EMG632-0100
EMG632-0110
EMG632-0120
EMG632-0140
EMG632-0160
EMG632-0180
EMG632-0200

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
14
16
18
20

3
4
6
8
8
10
11
13
13
15
16
20
20
25
25
30
35
40
40
45

4
4
4
4
4
4
4
6
6
6
8
8
10
10
12
12
14
16
18
20

ÃËÑÊ ¢¹Ò´

50
50
50
50
50
50
50
50
50
50
60
60
75
75
75
75
100
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

2 »Ò¡ ÃØ‹¹ÂÒÇ

EMG632L-0030
EMG632L-0040
EMG632L-0050
EMG632L-0060
EMG632L-0080
EMG632L-0100
EMG632L-0120
EMG632L-0140
EMG632L-0160
EMG632L-0180
EMG632L-0200

3
4
5
6
8
10
12
14
16
18
20

3
4
5
6
8
10
12
14
16
18
20

20
20
25
30
30
40
45
70
70
70
70

ÃËÑÊ ¢¹Ò´

75
75
75
75
75
100
100
150
150
150
150

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

EMG632XL-0060
EMG632XL-0080
EMG632XL-0100
EMG632XL-0120
EMG632XL-0160
EMG632XL-0200

6
8
10
12
16
20

6
8
10
12
16
20

40
40
70
70
100
100

ÃËÑÊ ¢¹Ò´

100
100
150
150
200
200

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕ´Ó
MICRO GRAIN CARBIDE END MILLS

4 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ

2 »Ò¡
ÃØ‹¹ÂÒÇ¾ÔàÈÉ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A60

EMG634R-0302
EMG634R-0303
EMG634R-0305
EMG634R-0402
EMG634R-0403
EMG634R-0405
EMG634R-0502
EMG634R-0503
EMG634R-0505
EMG634R-0602
EMG634R-0603
EMG634R-0605
EMG634R-0610
EMG634R-0803
EMG634R-0805
EMG634R-0810
EMG634R-0815
EMG634R-1003
EMG634R-1005
EMG634R-1010
EMG634R-1015
EMG634R-1205
EMG634R-1210

EMG632R-0302
EMG632R-0303
EMG632R-0305
EMG632R-0402
EMG632R-0403
EMG632R-0405
EMG632R-0502
EMG632R-0503
EMG632R-0505
EMG632R-0602
EMG632R-0603
EMG632R-0605
EMG632R-0610
EMG632R-0803
EMG632R-0805
EMG632R-0810
EMG632R-0815
EMG632R-1003
EMG632R-1005
EMG632R-1010
EMG632R-1015
EMG632R-1205
EMG632R-1210

EMG582R-0202
EMG582R-0203
EMG582R-0252
EMG582R-0253
EMG582R-0302
EMG582R-0303
EMG582R-0305
EMG582R-0402
EMG582R-0403
EMG582R-0405
EMG582R-0502
EMG582R-0503
EMG582R-0505
EMG582R-0602
EMG582R-0603
EMG582R-0605
EMG582R-0610
EMG582R-0803
EMG582R-0805
EMG582R-0810
EMG582R-0815
EMG582R-0820
EMG582R-1003
EMG582R-1005
EMG582R-1010
EMG582R-1015
EMG582R-1020
EMG582R-1205
EMG582R-1210
EMG582R-1215
EMG582R-1220

EMG584R-0202
EMG584R-0203
EMG584R-0252
EMG584R-0253
EMG584R-0302
EMG584R-0303
EMG584R-0305
EMG584R-0402
EMG584R-0403
EMG584R-0405
EMG584R-0502
EMG584R-0503
EMG584R-0505
EMG584R-0602
EMG584R-0603
EMG584R-0605
EMG584R-0610
EMG584R-0803
EMG584R-0805
EMG584R-0810
EMG584R-0815
EMG584R-0820
EMG584R-1003
EMG584R-1005
EMG584R-1010
EMG584R-1015
EMG584R-1020
EMG584R-1205
EMG584R-1210
EMG584R-1215
EMG584R-1220

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100
100
100
100
100

75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100
100
100
100
100

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

ÃËÑÊÃËÑÊ

ÃËÑÊ ÃËÑÊ

¢¹Ò´¢¹Ò´

¢¹Ò´ ¢¹Ò´

á¡¹á¡¹

á¡¹ á¡¹

¤Á¡Ñ´¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÃÒ¤ÒÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�
MICRO GRAIN CARBIDE END MILL

4 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)2 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)

2 »Ò¡ R à»š¹ÁØÁÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ 58o HRC ÊÓËÃÑºàËÅç¡á¢ç§ 58o HRC

4 »Ò¡ R à»š¹ÁØÁÁ¹

GTD

ÊÕ·Í§ÊÕ·Í§

ÊÓËÃÑºàËÅç¡á¢ç§ 63o HRC ÊÓËÃÑºàËÅç¡á¢ç§ 63o HRC
ÊÕ´ÓÊÕ´Ó

R R



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A61

EMG554R-0302
EMG554R-0303
EMG554R-0305
EMG554R-0402
EMG554R-0403
EMG554R-0405
EMG554R-0502
EMG554R-0503
EMG554R-0505
EMG554R-0602
EMG554R-0603
EMG554R-0605
EMG554R-0610
EMG554R-0803
EMG554R-0805
EMG554R-0810
EMG554R-0815
EMG554R-1003
EMG554R-1005
EMG554R-1010
EMG554R-1015
EMG554R-1205
EMG554R-1210

EMG552R-0302
EMG552R-0303
EMG552R-0305
EMG552R-0402
EMG552R-0403
EMG552R-0405
EMG552R-0502
EMG552R-0503
EMG552R-0505
EMG552R-0602
EMG552R-0603
EMG552R-0605
EMG552R-0610
EMG552R-0803
EMG552R-0805
EMG552R-0810
EMG552R-0815
EMG552R-1003
EMG552R-1005
EMG552R-1010
EMG552R-1015
EMG552R-1205
EMG552R-1210

EMG452R-0202
EMG452R-0203
EMG452R-0252
EMG452R-0253
EMG452R-0302
EMG452R-0303
EMG452R-0305
EMG452R-0402
EMG452R-0403
EMG452R-0405
EMG452R-0502
EMG452R-0503
EMG452R-0505
EMG452R-0602
EMG452R-0603
EMG452R-0605
EMG452R-0610
EMG452R-0803
EMG452R-0805
EMG452R-0810
EMG452R-0815
EMG452R-0820
EMG452R-1003
EMG452R-1005
EMG452R-1010
EMG452R-1015
EMG452R-1020
EMG452R-1205
EMG452R-1210
EMG452R-1215
EMG452R-1220

EMG454R-0202
EMG454R-0203
EMG454R-0252
EMG454R-0253
EMG454R-0302
EMG454R-0303
EMG454R-0305
EMG454R-0402
EMG454R-0403
EMG454R-0405
EMG454R-0502
EMG454R-0503
EMG454R-0505
EMG454R-0602
EMG454R-0603
EMG454R-0605
EMG454R-0610
EMG454R-0803
EMG454R-0805
EMG454R-0810
EMG454R-0815
EMG454R-0820
EMG454R-1003
EMG454R-1005
EMG454R-1010
EMG454R-1015
EMG454R-1020
EMG454R-1205
EMG454R-1210
EMG454R-1215
EMG454R-1220

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

75
75
75
75
75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100

75
75
75
75
75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

ÃËÑÊÃËÑÊ

ÃËÑÊ ÃËÑÊ

¢¹Ò´¢¹Ò´

¢¹Ò´ ¢¹Ò´

á¡¹á¡¹

á¡¹ á¡¹

¤Á¡Ñ´¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÃÒ¤ÒÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�ÊÕÁ‹Ç§
MICRO GRAIN CARBIDE END MILL

4 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)2 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)

2 »Ò¡ R à»š¹ÁØÁÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ 45 HRC ÊÓËÃÑºàËÅç¡á¢ç§ 45 HRC

4 »Ò¡ R à»š¹ÁØÁÁ¹

GTD
ÊÓËÃÑºàËÅç¡á¢ç§ 55 HRC ÊÓËÃÑºàËÅç¡á¢ç§ 55 HRC

ÊÕÁ‹Ç§ÊÕÁ‹Ç§

ÊÕÁ‹Ç§ÊÕÁ‹Ç§

EMG634R-0302
EMG634R-0303
EMG634R-0305
EMG634R-0402
EMG634R-0403
EMG634R-0405
EMG634R-0502
EMG634R-0503
EMG634R-0505
EMG634R-0602
EMG634R-0603
EMG634R-0605
EMG634R-0610
EMG634R-0803
EMG634R-0805
EMG634R-0810
EMG634R-0815
EMG634R-1003
EMG634R-1005
EMG634R-1010
EMG634R-1015
EMG634R-1205
EMG634R-1210

EMG632R-0302
EMG632R-0303
EMG632R-0305
EMG632R-0402
EMG632R-0403
EMG632R-0405
EMG632R-0502
EMG632R-0503
EMG632R-0505
EMG632R-0602
EMG632R-0603
EMG632R-0605
EMG632R-0610
EMG632R-0803
EMG632R-0805
EMG632R-0810
EMG632R-0815
EMG632R-1003
EMG632R-1005
EMG632R-1010
EMG632R-1015
EMG632R-1205
EMG632R-1210

EMG582R-0202
EMG582R-0203
EMG582R-0252
EMG582R-0253
EMG582R-0302
EMG582R-0303
EMG582R-0305
EMG582R-0402
EMG582R-0403
EMG582R-0405
EMG582R-0502
EMG582R-0503
EMG582R-0505
EMG582R-0602
EMG582R-0603
EMG582R-0605
EMG582R-0610
EMG582R-0803
EMG582R-0805
EMG582R-0810
EMG582R-0815
EMG582R-0820
EMG582R-1003
EMG582R-1005
EMG582R-1010
EMG582R-1015
EMG582R-1020
EMG582R-1205
EMG582R-1210
EMG582R-1215
EMG582R-1220

EMG584R-0202
EMG584R-0203
EMG584R-0252
EMG584R-0253
EMG584R-0302
EMG584R-0303
EMG584R-0305
EMG584R-0402
EMG584R-0403
EMG584R-0405
EMG584R-0502
EMG584R-0503
EMG584R-0505
EMG584R-0602
EMG584R-0603
EMG584R-0605
EMG584R-0610
EMG584R-0803
EMG584R-0805
EMG584R-0810
EMG584R-0815
EMG584R-0820
EMG584R-1003
EMG584R-1005
EMG584R-1010
EMG584R-1015
EMG584R-1020
EMG584R-1205
EMG584R-1210
EMG584R-1215
EMG584R-1220

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
12 x R0.5
12 x R1.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

2 x R0.2
2 x R0.3
2.5 x R0.2
2.5 x R0.3
3 x R0.2
3 x R0.3
3 x R0.5
4 x R0.2
4 x R0.3
4 x R0.5
5 x R0.2
5 x R0.3
5 x R0.5
6 x R0.2
6 x R0.3
6 x R0.5
6 x R1.0
8 x R0.3
8 x R0.5
8 x R1.0
8 x R1.5
8 x R2.0
10 x R0.3
10 x R0.5
10 x R1.0
10 x R1.5
10 x R2.0
12 x R0.5
12 x R1.0
12 x R1.5
12 x R2.0

4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
8
8
8
8
8
10
10
10
10
10
12
12
12
12

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

10
10
10
12
12
12
15
15
15
15
15
15
15
20
20
20
20
25
25
25
25
30
30

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

4
4
5
5
6
6
6
8
8
8
10
10
10
12
12
12
12
16
16
16
16
16
20
20
20
20
20
24
24
24
24

75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100
100
100
100
100

75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100
100
100
100
100

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
75
75
75
75
75
75
75
75
75

ÃËÑÊÃËÑÊ

ÃËÑÊ ÃËÑÊ

¢¹Ò´¢¹Ò´

¢¹Ò´ ¢¹Ò´

á¡¹á¡¹

á¡¹ á¡¹

¤Á¡Ñ´¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

ÂÒÇ·Ñé§µÑÇÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ ÂÒÇ·Ñé§µÑÇ

ÃÒ¤ÒÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

àÍç¹ÁÔÅ¤ÒÃ�äº·�
MICRO GRAIN CARBIDE END MILL

4 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)2 »Ò¡ R à»š¹ÁØÁÁ¹ (ÃØ‹¹ÂÒÇ)

2 »Ò¡ R à»š¹ÁØÁÁ¹
ÊÓËÃÑºàËÅç¡á¢ç§ 58o HRC ÊÓËÃÑºàËÅç¡á¢ç§ 58o HRC

4 »Ò¡ R à»š¹ÁØÁÁ¹

GTD

ÊÕ·Í§ÊÕ·Í§

ÊÓËÃÑºàËÅç¡á¢ç§ 63o HRC ÊÓËÃÑºàËÅç¡á¢ç§ 63o HRC
ÊÕ´ÓÊÕ´Ó

R R



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A62

´Í¡ÊÇ‹Ò¹¤ÒÃ�äº·� 3XD áººÃÙ¹éÓ´Í¡ÊÇ‹Ò¹¤ÒÃ�äº·� ÊÕÁ‹Ç§

TDG220-0010
TDG220-0015
TDG220-0020
TDG220-0025
TDG220-0030
TDG220-0035
TDG220-0040
TDG220-0045
TDG220-0050
TDG220-0055
TDG220-0060
TDG220-0065
TDG220-0070
TDG220-0075
TDG220-0080
TDG220-0085
TDG220-0090
TDG220-0095
TDG220-0100
TDG220-0105
TDG220-0110
TDG220-0115
TDG220-0120
TDG220-0125
TDG220-0130

TDG362-0030
TDG362-0035
TDG362-0040
TDG362-0045
TDG362-0050
TDG362-0055
TDG362-0060
TDG362-0065
TDG362-0070
TDG362-0075
TDG362-0080
TDG362-0085
TDG362-0090
TDG362-0095
TDG362-0100
TDG362-0105
TDG362-0110
TDG362-0115
TDG362-0120
TDG362-0125
TDG362-0130
TDG362-0135
TDG362-0140
TDG362-0145
TDG362-0150
TDG362-0155
TDG362-0160

1
1.5
2
2.5
3
3.5
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
10.5
11
11.5
12
12.5
13

3
3.5
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
10.5
11
11.5
12
12.5
13
13.5
14
14.5
15
15.5
16

1
1.5
2
2.5
3
3.5
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
10.5
11
11.5
12
12.5
13

6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12
12
12
14
14
14
14
16
16
16
16

12
18
24
30
33
39
43
41
52
57
57
63
69
69
75
75
81
81
87
87
94
94
101
101
101

20
20
24
24
28
28
28
34
34
41
41
47
47
47
47
55
55
55
55
60
60
60
60
65
65
65
65

ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´

34
40
49
57
61
70
75
80
86
93
93
101
109
109
117
117
125
125
133
133
142
142
151
151
151

62
62
66
66
66
66
66
79
79
79
79
89
89
89
89
102
102
102
102
107
107
107
107
115
115
115
115

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇá¡¹ á¡¹¤Á¡Ñ´ ¤Á¡Ñ´ÃÒ¤Ò ÃÒ¤Ò

CARBIDE
NC SPOTTING DRILLS 90o

TDG553-0030
TDG553-0040
TDG553-0050
TDG553-0060
TDG553-0080
TDG553-0100
TDG553-0120
TDG553-0140
TDG553-0160
TDG553-0200

3
4
5
6
8
10
12
14
16
20

3
4
5
6
8
10
12
14
16
20

12
13
16
22
24
24
28
30
32
38

ÃËÑÊ ¢¹Ò´

50
50
50
50
60
75
75
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

REAMERS
CARBIDE

RDG558-0040
RDG558-0050
RDG558-0060
RDG558-0080
RDG558-0100
RDG558-0120
RDG558-0140
RDG558-0160
RDG558-0180
RDG558-0200

4
5
6
8
10
12
14
16
18
20

4
5
6
8
10
12
14
16
18
20

20
22
22
25
25
28
32
32
36
36

ÃËÑÊ ¢¹Ò´

50
60
60
70
75
80
90
90
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD ´Í¡ÊÇ‹Ò¹¤ÒÃ�äº·� ÃÔÁàÁÍÃ�¤ÒÃ�äº·�
DRILLS CARBIDE REAMERS CARBIDE



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A63



































































































SOMTA áÎ¹´�ÃÔÁàÁÍÃ�









































¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò




































¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò ¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

ªÑ¤¡Ôé§ÃÔÁàÁÍÃ�¡ŒÒ¹àµà»ÍÃ�



´Í¡ÊÇ‹Ò¹¤ÒÃ�äº·� 3XD áººÃÙ¹éÓ´Í¡ÊÇ‹Ò¹¤ÒÃ�äº·� ÊÕÁ‹Ç§

TDG220-0010
TDG220-0015
TDG220-0020
TDG220-0025
TDG220-0030
TDG220-0035
TDG220-0040
TDG220-0045
TDG220-0050
TDG220-0055
TDG220-0060
TDG220-0065
TDG220-0070
TDG220-0075
TDG220-0080
TDG220-0085
TDG220-0090
TDG220-0095
TDG220-0100
TDG220-0105
TDG220-0110
TDG220-0115
TDG220-0120
TDG220-0125
TDG220-0130

TDG362-0030
TDG362-0035
TDG362-0040
TDG362-0045
TDG362-0050
TDG362-0055
TDG362-0060
TDG362-0065
TDG362-0070
TDG362-0075
TDG362-0080
TDG362-0085
TDG362-0090
TDG362-0095
TDG362-0100
TDG362-0105
TDG362-0110
TDG362-0115
TDG362-0120
TDG362-0125
TDG362-0130
TDG362-0135
TDG362-0140
TDG362-0145
TDG362-0150
TDG362-0155
TDG362-0160

1
1.5
2
2.5
3
3.5
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
10.5
11
11.5
12
12.5
13

3
3.5
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
10.5
11
11.5
12
12.5
13
13.5
14
14.5
15
15.5
16

1
1.5
2
2.5
3
3.5
4
4.5
5
5.5
6
6.5
7
7.5
8
8.5
9
9.5
10
10.5
11
11.5
12
12.5
13

6
6
6
6
6
6
6
8
8
8
8
10
10
10
10
12
12
12
12
14
14
14
14
16
16
16
16

12
18
24
30
33
39
43
41
52
57
57
63
69
69
75
75
81
81
87
87
94
94
101
101
101

20
20
24
24
28
28
28
34
34
41
41
47
47
47
47
55
55
55
55
60
60
60
60
65
65
65
65

ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´

34
40
49
57
61
70
75
80
86
93
93
101
109
109
117
117
125
125
133
133
142
142
151
151
151

62
62
66
66
66
66
66
79
79
79
79
89
89
89
89
102
102
102
102
107
107
107
107
115
115
115
115

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇá¡¹ á¡¹¤Á¡Ñ´ ¤Á¡Ñ´ÃÒ¤Ò ÃÒ¤Ò

CARBIDE
NC SPOTTING DRILLS 90o

TDG553-0030
TDG553-0040
TDG553-0050
TDG553-0060
TDG553-0080
TDG553-0100
TDG553-0120
TDG553-0140
TDG553-0160
TDG553-0200

3
4
5
6
8
10
12
14
16
20

3
4
5
6
8
10
12
14
16
20

12
13
16
22
24
24
28
30
32
38

ÃËÑÊ ¢¹Ò´

50
50
50
50
60
75
75
100
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

REAMERS
CARBIDE

RDG558-0040
RDG558-0050
RDG558-0060
RDG558-0080
RDG558-0100
RDG558-0120
RDG558-0140
RDG558-0160
RDG558-0180
RDG558-0200

4
5
6
8
10
12
14
16
18
20

4
5
6
8
10
12
14
16
18
20

20
22
22
25
25
28
32
32
36
36

ÃËÑÊ ¢¹Ò´

50
60
60
70
75
80
90
90
100
100

¤ÇÒÁÂÒÇá¡¹ ¤Á¡Ñ´ ÃÒ¤Ò

GTD ´Í¡ÊÇ‹Ò¹¤ÒÃ�äº·� ÃÔÁàÁÍÃ�¤ÒÃ�äº·�
DRILLS CARBIDE REAMERS CARBIDE



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A64

SOMTA ¾Ô¹ÃÔÁàÁÍÃ�-¡ŒÒ¹ÊÕèàËÅÕèÂÁ
TAPER PINS REAMERS

2
2.5
3
4
5
6
8
10
12
13
14
16
20
25

1.90
2.40
2.90
3.90
4.90
5.90
7.90
9.90
11.80
12.86
13.86
15.80
19.80
24.80

2.86
3.36
4.06
5.26
6.36
8.00
10.80
13.40
16.00
16.74
17.76
20.40
24.80
30.00

48
48
58
86
93
105
145
175
194
194
194
230
230
300

68
68
80
93
100
135
180
215
240
240
240
280
310
370

¢¹Ò´ d2 d3 ÃÒ¤Ò

SERIES 731

ÂÒÇ·Ñé§µÑÇ L3¤Á¡Ñ´ L2

SDI-1
SDI-2
SDI-3
SDI-4
SDI-5
SDI-6
SDI-7
SDI-8
SDI-25
SDI-30
SDI-40

2.8
2.8
2.8
2.8
2.8
3.5
3.5
3.5
2.8
2.8
2.8

9
9
9
9
11
12.5
14
16
9.5
10.7
13.3

25
40
60
80
100
120
140
160
150
150
150

65
80
100
125
141
165
189
210
198
198
198

14.2o

9o

6o

4o

4o

4o

4.2o

4.2o

2.5o

3o

4o

ÃËÑÊ ª‹Ç§»ÅÒÂ ¤ÁâµÊØ´ ¤Á¡Ñ´ ÂÒÇ·Ñé§µÑÇ Í§ÈÒ ÃÒ¤Ò

STD28100-2
STD28100-3
STD28150-2
STD28150-3
STD28180-2
STD32130-4
STD32150-4
STD32180-4

2.8
2.8
2.8
2.8
2.8
3.2
3.2
3.2

70
70
120
120
150
100
120
150

100
100
150
150
180
130
150
180

2o

3o

2o

3o

2o

4o

4o

4o

ÃËÑÊ ª‹Ç§»ÅÒÂ ¤ÁâµÊØ´ ¤Á¡Ñ´ ÂÒÇ·Ñé§µÑÇ á¡¹ Í§ÈÒ ÃÒ¤Ò

ÃÔÁàÁÍÃ�àµà»ÍÃËÑÇ©Õ´
TAPERED DRILLS & TAPERED REAMERS



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A65

SOMTA áÁªªÕ¹ÃÔÁàÁÍÃ�¿˜¹à©ÕÂ§¡ŒÒ¹àµà»ÍÃ�






































































¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

ÃÔÁàºÍÃ�¤ÇŒÒ¹ºÙª áºº»ÃÑº¢ÂÒÂä´Œ












































ÃËÑÊ ÃËÑÊ ÃËÑÊ¢¹Ò´ ¢¹Ò´ ¢¹Ò´ÃÒ¤Ò ÃÒ¤Ò ÃÒ¤Ò





























































¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

SOMTA ¾Ô¹ÃÔÁàÁÍÃ�-¡ŒÒ¹ÊÕèàËÅÕèÂÁ
TAPER PINS REAMERS

2
2.5
3
4
5
6
8
10
12
13
14
16
20
25

1.90
2.40
2.90
3.90
4.90
5.90
7.90
9.90
11.80
12.86
13.86
15.80
19.80
24.80

2.86
3.36
4.06
5.26
6.36
8.00
10.80
13.40
16.00
16.74
17.76
20.40
24.80
30.00

48
48
58
86
93
105
145
175
194
194
194
230
230
300

68
68
80
93
100
135
180
215
240
240
240
280
310
370

¢¹Ò´ d2 d3 ÃÒ¤Ò

SERIES 731

ÂÒÇ·Ñé§µÑÇ L3¤Á¡Ñ´ L2

SDI-1
SDI-2
SDI-3
SDI-4
SDI-5
SDI-6
SDI-7
SDI-8
SDI-25
SDI-30
SDI-40

2.8
2.8
2.8
2.8
2.8
3.5
3.5
3.5
2.8
2.8
2.8

9
9
9
9
11
12.5
14
16
9.5
10.7
13.3

25
40
60
80
100
120
140
160
150
150
150

65
80
100
125
141
165
189
210
198
198
198

14.2o

9o

6o

4o

4o

4o

4.2o

4.2o

2.5o

3o

4o

ÃËÑÊ ª‹Ç§»ÅÒÂ ¤ÁâµÊØ´ ¤Á¡Ñ´ ÂÒÇ·Ñé§µÑÇ Í§ÈÒ ÃÒ¤Ò

STD28100-2
STD28100-3
STD28150-2
STD28150-3
STD28180-2
STD32130-4
STD32150-4
STD32180-4

2.8
2.8
2.8
2.8
2.8
3.2
3.2
3.2

70
70
120
120
150
100
120
150

100
100
150
150
180
130
150
180

2o

3o

2o

3o

2o

4o

4o

4o

ÃËÑÊ ª‹Ç§»ÅÒÂ ¤ÁâµÊØ´ ¤Á¡Ñ´ ÂÒÇ·Ñé§µÑÇ á¡¹ Í§ÈÒ ÃÒ¤Ò

ÃÔÁàÁÍÃ�àµà»ÍÃËÑÇ©Õ´
TAPERED DRILLS & TAPERED REAMERS



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A66

SOMTA 






























































































































































   












































































































































   



´Í¡à¨ÒÐ¹ÓÈÙ¹Â�
CENTER DRILLS






































  
























  



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A67

SOMTA 


























































































































        













































































































        













































   

SOMTA 






























































































































































   












































































































































   



´Í¡à¨ÒÐ¹ÓÈÙ¹Â�
CENTER DRILLS






































  
























  



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A68

HY ´Í¡ÊÇ‹Ò¹à¨ÒÐàËÅç¡äÎÊ»‚´-¡ŒÒ¹àµà»ÍÃ�
MORSE TAPER SHANK DRILLS

M: HSS-CO

































































































































































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò
































































































































































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

SERIES 244
ÃØ‹¹ÂÒÇ¾ÔàÈÉ









































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò


















































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

SOMTA ´Í¡ÊÇ‹Ò¹à¨ÒÐàËÅç¡äÎÊ»‚´-¡ŒÒ¹àµà»ÍÃ�
MORSE TAPER SHANK DRILLS



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A69

´Í¡ÊÇ‹Ò¹NACHIHY ´Í¡ÊÇ‹Ò¹à¨ÒÐàËÅç¡äÎÊ»‚´-¡ŒÒ¹àµà»ÍÃ�
MORSE TAPER SHANK DRILLS

M: HSS-CO

































































































































































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò
































































































































































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

SERIES 244
ÃØ‹¹ÂÒÇ¾ÔàÈÉ









































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò


















































ÃËÑÊ MTS¢¹Ò´ ÂÒÇ·Ñé§µÑÇ¤Á¡Ñ´ ÃÒ¤Ò

SOMTA ´Í¡ÊÇ‹Ò¹à¨ÒÐàËÅç¡äÎÊ»‚´-¡ŒÒ¹àµà»ÍÃ�
MORSE TAPER SHANK DRILLS



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A70

Mentrudee



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A71

TAP REMOVER PLUS
´Í¡à¨ÒÐá¡Œµ�Ò»ËÑ¡Mentrudee



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A72
































































¢¹Ò´ ¢¹Ò´ ¢¹Ò´ ¢¹Ò´ ¢¹Ò´    























































¢¹Ò´ ¢¹Ò´ ¢¹Ò´ ¢¹Ò´   


































¢¹Ò´¢¹Ò´¢¹Ò´¢¹Ò´    







































¢¹Ò´ ¢¹Ò´ ¢¹Ò´
6
8
10
12
6
8
10
12
6
8
10
12
6
8
10
12
6
8
10
12

6
8
10
12
6
8
10
12
6
8
10
12
8
10
8
10

3
4
5
3
4
5
3
4
5
3
4
5
3
4
5
3
4
5
3
4
5

Í§ÈÒ Í§ÈÒ Í§ÈÒ

1/2o

1o

1-1/2o

2o

2-1/2o

3o

4o

5o

10o

15o

1/2o

1o

1-1/2o

2o

3o

4o

5o

ÃÒ¤Ò ÃÒ¤Ò ÃÒ¤Ò    
3 »Ò¡ àÍç¹ÁÔÅÍ§ÈÒ EMA301 Êà»¡¢Í§àÍç¹ÁÔÅÍ§ÈÒ

  

  

   


AIA (SWT)







A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A73

YJ204-0015
YJ204-0020
YJ204-0025
YJ204-0030
YJ204-0035
YJ204-0040
YJ204-0045
YJ204-0050
YJ204-0060
YJ204-0070
YJ204-0080
YJ204-0090
YJ204-0100
YJ204-0110
YJ204-0120
YJ204-0130
YJ204-0140
YJ204-0150
YJ204-0160
YJ204-0170
YJ204-0180
YJ204-0190
YJ204-0200
YJ204-0220
YJ204-0250

YJ202-0010
YJ202-0015
YJ202-0020
YJ202-0025
YJ202-0030
YJ202-0035
YJ202-0040
YJ202-0045
YJ202-0050
YJ202-0060
YJ202-0070
YJ202-0080
YJ202-0090
YJ202-0100
YJ202-0110
YJ202-0120
YJ202-0130
YJ202-0140
YJ202-0150
YJ202-0160
YJ202-0170
YJ202-0180
YJ202-0190
YJ202-0200
YJ202-0220
YJ202-0250

YJ212-0030
YJ212-0040
YJ212-0050
YJ212-0060
YJ212-0080
YJ212-0100
YJ212-0120
YJ212-0140
YJ212-0160
YJ212-0180
YJ212-0200
YJ212-0250

YJ214-0030
YJ214-0040
YJ214-0050
YJ214-0060
YJ214-0080
YJ214-0100
YJ214-0120
YJ214-0140
YJ214-0160
YJ214-0180
YJ214-0200
YJ214-0250

6
6
6
6
6
6
6
6
6
8
8
10
10
12
12
12
12
16
16
16
16
20
20
20
20

6
6
6
6
6
6
6
6
6
6
8
8
10
10
12
12
12
12
16
16
16
16
20
20
20
20

6
6
6
6
8
10
12
16
16
16
20
20

6
6
6
6
8
10
12
16
16
16
20
20

4
6
7
10
12
12
15
15
15
20
20
25
25
30
30
35
35
40
40
40
40
45
45
45
50

2.5
4
6
7
10
12
12
15
15
15
20
20
25
25
30
30
35
35
40
40
40
40
45
45
45
50

15
20
22
24
35
45
53
55
63
65
75
90

15
20
22
24
35
45
53
55
63
65
75
90

50
50
50
50
60
60
60
60
60
65
65
70
70
80
80
85
85
95
95
95
95
110
110
110
120

50
50
50
50
50
60
60
60
60
60
70
65
70
70
80
80
85
85
95
95
95
95
110
110
110
120

60
65
70
70
82
95
110
110
123
123
141
165

60
65
70
70
82
95
110
110
123
123
141
165

¤ÇÒÁÂÒÇ¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇ

ÃÒ¤ÒÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

¤Á¡Ñ´¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

á¡¹á¡¹

á¡¹ á¡¹

¢¹Ò´¢¹Ò´

¢¹Ò´ ¢¹Ò´

ÃËÑÊÃËÑÊ

ÃËÑÊ ÃËÑÊ

4 ปาก2 ปาก

2 ปาก
รุนยาว

4 ปาก
รุนยาว

1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
22
25

1
1.5
2
2.5
3
3.5
4
4.5
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
22
25

3
4
5
6
8
10
12
14
16
18
20
25

3
4
5
6
8
10
12
14
16
18
20
25

àÍç¹ÁÔÅ M2AL
M2AL END MILLSYJ
































































¢¹Ò´ ¢¹Ò´ ¢¹Ò´ ¢¹Ò´ ¢¹Ò´    























































¢¹Ò´ ¢¹Ò´ ¢¹Ò´ ¢¹Ò´   


































¢¹Ò´¢¹Ò´¢¹Ò´¢¹Ò´    







































¢¹Ò´ ¢¹Ò´ ¢¹Ò´
6
8
10
12
6
8
10
12
6
8
10
12
6
8
10
12
6
8
10
12

6
8
10
12
6
8
10
12
6
8
10
12
8
10
8
10

3
4
5
3
4
5
3
4
5
3
4
5
3
4
5
3
4
5
3
4
5

Í§ÈÒ Í§ÈÒ Í§ÈÒ

1/2o

1o

1-1/2o

2o

2-1/2o

3o

4o

5o

10o

15o

1/2o

1o

1-1/2o

2o

3o

4o

5o

ÃÒ¤Ò ÃÒ¤Ò ÃÒ¤Ò    
3 »Ò¡ àÍç¹ÁÔÅÍ§ÈÒ EMA301 Êà»¡¢Í§àÍç¹ÁÔÅÍ§ÈÒ

  

  

   


AIA (SWT)







A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A74

YJ203-0015
YJ203-0020
YJ203-0025
YJ203-0030
YJ203-0035
YJ203-0040
YJ203-0050
YJ203-0060
YJ203-0070
YJ203-0080
YJ203-0090
YJ203-0100
YJ203-0120

6
6
6
6
6
6
6
6
8
8
10
10
12

4
6
7
10
12
12
15
15
20
20
25
25
30

50
50
50
50
60
60
60
60
65
65
70
70
80

¤ÇÒÁÂÒÇ ÃÒ¤Ò¤Á¡Ñ´á¡¹¢¹Ò´ÃËÑÊ

1.5
2
2.5
3
3.5
4
5
6
7
8
9
10
12

YJ232-0010
YJ232-0015
YJ232-0020
YJ232-0030
YJ232-0040
YJ232-0050
YJ232-0060
YJ232-0080
YJ232-0100
YJ232-0120
YJ232-0140
YJ232-0160
YJ232-0180
YJ232-0200

YJ234-0060
YJ234-0080
YJ234-0100
YJ234-0120
YJ234-0140
YJ234-0160
YJ234-0180
YJ234-0200
YJ234-0250

YJ235-0100
YJ235-0120
YJ235-0140
YJ235-0160
YJ235-0180
YJ235-0200
YJ235-0250

6
6
6
6
6
6
6
8
10
12
12
16
16
20

6
8
10
12
12
16
16
20
20

10
12
14
16
18
20

20 (25)

2.5
4
5
8
8
10
12
14
18
22
26
30
32
32

13
19
22
26
26
32
32
38
50

45
53
53
63
63
75
90

50
50
50
60
70
80
80
95
100
110
110
140
140
150

57
63
72
83
83
92
92
104
121

95
110
110
123
123
141
166

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇ

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

á¡¹

á¡¹ á¡¹

¢¹Ò´

¢¹Ò´ ¢¹Ò´

ÃËÑÊ

ÃËÑÊ ÃËÑÊ

2 ปาก
หัวมน

3 ปาก
สำหรับอลูมิเนียม

กัดหยาบ
(mm)

กัดหยาบ
รุนยาว (mm)

1 (R0.5)
1.5 (R0.75)

2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

6
8
10
12
14
16
18
20
25

10
12
14
16
18
20
25

àÍç¹ÁÔÅ M2AL
M2AL END MILLSYJ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A75

YJ594-0060
YJ594-0080
YJ594-0100
YJ594-0120
YJ594-0160
YJ594-0200
YJ594-0250
YJ594-0300
YJ594-0350
YJ594-0400
YJ594-0500

6
6
6
8
10
10
10
10
12
12
16

45
50
50
56
60
63
61
71
81
92
100

¤ÇÒÁÂÒÇ ÃÒ¤Òá¡¹¢¹Ò´ÃËÑÊ

YJ Countersinks 90o 3 ปาก

6
8
10
12
16
20
25
30
35
40
50

YJ Countersinks

CY ตาปเครื่องเกลียวสวาน

CY114-0030
CY114-0040
CY114-0050
CY114-0060
CY114-0080
CY114-0100
CY114-0120
CY114-0160
CY114-0200

ÃÒ¤Ò¢¹Ò´ÃËÑÊ

M3 x 0.5
M4 x 0.7
M5 x 0.8
M6 x 1.0
M8 x 1.25
M10 x 1.5
M12 x 1.75
M16 x 2
M20 x 2.5

YJ203-0015
YJ203-0020
YJ203-0025
YJ203-0030
YJ203-0035
YJ203-0040
YJ203-0050
YJ203-0060
YJ203-0070
YJ203-0080
YJ203-0090
YJ203-0100
YJ203-0120

6
6
6
6
6
6
6
6
8
8
10
10
12

4
6
7
10
12
12
15
15
20
20
25
25
30

50
50
50
50
60
60
60
60
65
65
70
70
80

¤ÇÒÁÂÒÇ ÃÒ¤Ò¤Á¡Ñ´á¡¹¢¹Ò´ÃËÑÊ

1.5
2
2.5
3
3.5
4
5
6
7
8
9
10
12

YJ232-0010
YJ232-0015
YJ232-0020
YJ232-0030
YJ232-0040
YJ232-0050
YJ232-0060
YJ232-0080
YJ232-0100
YJ232-0120
YJ232-0140
YJ232-0160
YJ232-0180
YJ232-0200

YJ234-0060
YJ234-0080
YJ234-0100
YJ234-0120
YJ234-0140
YJ234-0160
YJ234-0180
YJ234-0200
YJ234-0250

YJ235-0100
YJ235-0120
YJ235-0140
YJ235-0160
YJ235-0180
YJ235-0200
YJ235-0250

6
6
6
6
6
6
6
8
10
12
12
16
16
20

6
8
10
12
12
16
16
20
20

10
12
14
16
18
20

20 (25)

2.5
4
5
8
8
10
12
14
18
22
26
30
32
32

13
19
22
26
26
32
32
38
50

45
53
53
63
63
75
90

50
50
50
60
70
80
80
95
100
110
110
140
140
150

57
63
72
83
83
92
92
104
121

95
110
110
123
123
141
166

¤ÇÒÁÂÒÇ

¤ÇÒÁÂÒÇ ¤ÇÒÁÂÒÇ

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò

¤Á¡Ñ´

¤Á¡Ñ´ ¤Á¡Ñ´

á¡¹

á¡¹ á¡¹

¢¹Ò´

¢¹Ò´ ¢¹Ò´

ÃËÑÊ

ÃËÑÊ ÃËÑÊ

2 ปาก
หัวมน

3 ปาก
สำหรับอลูมิเนียม

กัดหยาบ
(mm)

กัดหยาบ
รุนยาว (mm)

1 (R0.5)
1.5 (R0.75)

2 (R1)
3 (R1.5)
4 (R2)
5 (R2.5)
6 (R3)
8 (R4)
10 (R5)
12 (R6)
14 (R7)
16 (R8)
18 (R9)
20 (R10)

6
8
10
12
14
16
18
20
25

10
12
14
16
18
20
25

àÍç¹ÁÔÅ M2AL
M2AL END MILLSYJ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A76

LAMINA
 

    
    
    
    
    
    
    
    
    
    
    
    

    

    
    
    

    

    
    
     
      

    
    
    
     

     

    

    

    

    

    
    
    

LAMINA MILLING  INSERTS
àÁç´ÁÕ´ÊÇÔÊà«ÍÃ�áÅ¹´�

LT30 ÊÓËÃÑºàËÅç¡áÁ‹¾ÔÁ¾�·Ø¡ÍÂ‹Ò§

LT05 สำหรับอลูมิเนียม

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A77

  
       
      
      
      
      
      

      
      

  
        
        
        
        
★

LAMINA CARBIDE INSERTS
àÁç´ÁÕ´ÊÇÔÊà«ÍÃ�áÅ¹´�

6
6
8
8
8
6
6
8

16

16

11
16
16
16
16
6
8
10
12

4.76
4.76
4.76
4.76
4.76
4.76
4.76
4.76

4.76

4.76

3.97
4.76
4.76
4.76
4.76
2.38
3.18
3.97
4.76

0.4
0.8
0.4
0.8
1.2
0.4
0.8
0.8

0.4

0.8

0.4
0.4
0.8
0.4
0.8
3
4
5
6

LT10 ¡ÅÖ§àËÅç¡ä´Œ·Ø¡ÍÂ‹Ò§ CR ÊÓËÃÑºá¢ç§¾ÔàÈÉ

(ÊÓËÃÑºÍÅÙÁÔà¹ÕÂÁ)

(ÊÓËÃÑºà¨ÒÐ)

ÃËÑÊ ÅÑ¡É³Ð l s r ÃÒ¤Ò

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

WNMG 060404 NN LT10
WNMG 060408 NN LT10
WNMG 080404 NN LT10
WNMG 080408 NN LT10
WNMG 080412 NN LT10
WNMP 060404 NN LT10
WNMP 060408 NN LT10
WNMP 080408 NN LT10

VNMG 160404 NN LT10

VNMG 160408 NN LT10

VBMT 110304 NN LT10
VBMT 160404 NN LT10
VBMT 160408 NN LT10
VCMT 160404 NN LT10
VCMT 160408 NN LT10
RCMT 0602 MO LT10
RCMT 0803 MO LT10
RCMT 10T3 MO LT10
RCMT 1204 MO LT10

IS-T00133
IS-T00137
IS-T00584
IS-T00075
IS-T00077
IS-T00306
IS-T00307
IS-T00308

IS-T00072

IS-T00073

IS-T01460
IS-T00070
IS-T00071
IS-T01102
IS-T01103
IS-T00090
IS-T00091
IS-T00092
IS-T00093

LAMINA
 

    
    
    
    
    
    
    
    
    
    
    
    

    

    
    
    

    

    
    
     
      

    
    
    
     

     

    

    

    

    

    
    
    

LAMINA MILLING  INSERTS
àÁç´ÁÕ´ÊÇÔÊà«ÍÃ�áÅ¹´�

LT30 ÊÓËÃÑºàËÅç¡áÁ‹¾ÔÁ¾�·Ø¡ÍÂ‹Ò§

LT05 สำหรับอลูมิเนียม

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A78

LAMINA CARBIDE INSERTS
àÁç´ÁÕ´ÊÇÔÊà«ÍÃ�áÅ¹´�

IS-T00055
IS-T00056
IS-T00117
IS-T01456
IS-T01457
IS-T00491
IS-T00059
IS-T00061
IS-T01463

IS-T00669

IS-T00671

IS-T00062

IS-T00063

IS-T120416

IS-T00064
IS-T00065
IS-T00721
IS-T00066
IS-T00675
IS-T00476
IS-T00475
IS-T00583
IS-T00067
IS-T00672

IS-T00322

IS-T00323

IS-T01459

IS-T01458

IS-T00477
IS-T00478
IS-T00479
IS-T00068
IS-T00457
IS-T00069
IS-T00113
IS-T01735

IS-T00492

IS-T01125

IS-T01137

IS-T01638

IS-T01535

6
9
9
12
12
12
12
12
12

12

12

12

12

12

7
11
11
11
11
15
15
15
15
15

12

12

9

9

11
11
16
16
16
16
22
22

16

16

16

16

16

2.38
3.97
3.97
4.76
4.76
4.76
4.76
4.76
4.76

4.76

4.76

4.76

4.76

4.76

2.38
3.97
3.97
4.76
4.76
4.76
4.76
6.35
6.35
6.35

4.76

4.76

4.76

4.76

2.38
2.38
3.97
3.97
4.76
4.76
4.76
4.76

4.76

4.76

4.76

3.76

3.76

0.4
0.4
0.8
0.4
0.8
0.4
0.8
1.2
0.8

0.8

1.2

0.8

1.2

1.6

0.4
0.4
0.8
0.4
0.8
0.4
0.8
0.4
0.8
1.2

0.8

1.2

0.4

0.8

0.4
0.8
0.4
0.8
0.4
0.8
0.8
1.2

0.8

0.4

0.8

0.4

0.8

LT10 ¡ÅÖ§àËÅç¡ä´Œ·Ø¡ÍÂ‹Ò§
ÃËÑÊ ÅÑ¡É³Ð l s r ÃÒ¤Ò

CCMT 060204 NN LT10
CCMT 09T304 NN LT10
CCMT 09T308 NN LT10
CCMT 120404 NN LT10
CCMT 120408 NN LT10
CNMG 120404 NN LT10
CNMG 120408 NN LT10
CNMG 120412 NN LT10
CNMG 120408 NR LT10

CNMM 120408 NR LT10

CNMM 120412 NR LT10

CNMM 120408 NN LT10

CNMM 120412 NN LT10

CNMA 120416 NN LT10

DCMT 070204 NN LT10
DCMT 111304 NN LT10
DCMT 111308 NN LT10
DNMG 110404 NN LT10
DNMG 110408 NN LT10
DNMG 150404 NN LT10
DNMG 150408 NN LT10
DNMG 150604 NN LT10
DNMG 150608 NN LT10
DNMG 150612 NN LT10

SNMG 120408 NN LT10

SNMG 120412 NN LT10

SCMT 09T304 NN LT10

SCMT 09T308 NN LT10

TCMT 110204 NN LT10
TCMT 110208 NN LT10
TCMT 16T304 NN LT10
TCMT 16T308 NN LT10
TNMG 160404 NN LT10
TNMG 160408 NN LT10
TNMG 220408 NN LT10
TNMG 220412 NN LT10

TNMP 160408 NN LT10

TNUX 160404R NN LT10

TNUX 160408R NN LT10

TPMR 160404 NN LT10

TPMR 160408 NN LT10



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A79

   
   
   
   
   
   
   
   
   
   

   

   
   

   

   
   
   
   
   
   
   

   

   

เหล็กทั่วไป
เหล็กหลอ

สแตนเลส
สแตนเลส

เหล็กทั่วไป

MILLING INSERTS/OTHER CARBIDE INSERTS

IS-W4094632
IS-W3350976
IS-W4175033
IS-W5032807
IS-W3967073
IS-W2262064
IS-W5035200
IS-W5643478

RPMW 1003MO
RPMW 1204MO
RDMT 1204MO
RDMT 10T3MO
TPUN 110304
TPUN 160308

APMT 1135 PDTR
APMT 1604 PDTR

SPTIEH
PA120
SPTIEH
SPTIEH
TTMS
TTMS
SPTIEH
SPTIEH

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÃËÑÊ ÅÑ¡É³Ð ÃÒ¤Ò

TN2000 ÊÕ·Í§, PA120 ÊÕÁ‹Ç§, TTMS ÊÕà§Ô¹

CARBIDE INSERTS
àÁç´ÁÕ´àÂÍÃÁÑ¹LAMINA CARBIDE INSERTS

àÁç´ÁÕ´ÊÇÔÊà«ÍÃ�áÅ¹´�

IS-T00055
IS-T00056
IS-T00117
IS-T01456
IS-T01457
IS-T00491
IS-T00059
IS-T00061
IS-T01463

IS-T00669

IS-T00671

IS-T00062

IS-T00063

IS-T120416

IS-T00064
IS-T00065
IS-T00721
IS-T00066
IS-T00675
IS-T00476
IS-T00475
IS-T00583
IS-T00067
IS-T00672

IS-T00322

IS-T00323

IS-T01459

IS-T01458

IS-T00477
IS-T00478
IS-T00479
IS-T00068
IS-T00457
IS-T00069
IS-T00113
IS-T01735

IS-T00492

IS-T01125

IS-T01137

IS-T01638

IS-T01535

6
9
9
12
12
12
12
12
12

12

12

12

12

12

7
11
11
11
11
15
15
15
15
15

12

12

9

9

11
11
16
16
16
16
22
22

16

16

16

16

16

2.38
3.97
3.97
4.76
4.76
4.76
4.76
4.76
4.76

4.76

4.76

4.76

4.76

4.76

2.38
3.97
3.97
4.76
4.76
4.76
4.76
6.35
6.35
6.35

4.76

4.76

4.76

4.76

2.38
2.38
3.97
3.97
4.76
4.76
4.76
4.76

4.76

4.76

4.76

3.76

3.76

0.4
0.4
0.8
0.4
0.8
0.4
0.8
1.2
0.8

0.8

1.2

0.8

1.2

1.6

0.4
0.4
0.8
0.4
0.8
0.4
0.8
0.4
0.8
1.2

0.8

1.2

0.4

0.8

0.4
0.8
0.4
0.8
0.4
0.8
0.8
1.2

0.8

0.4

0.8

0.4

0.8

LT10 ¡ÅÖ§àËÅç¡ä´Œ·Ø¡ÍÂ‹Ò§
ÃËÑÊ ÅÑ¡É³Ð l s r ÃÒ¤Ò

CCMT 060204 NN LT10
CCMT 09T304 NN LT10
CCMT 09T308 NN LT10
CCMT 120404 NN LT10
CCMT 120408 NN LT10
CNMG 120404 NN LT10
CNMG 120408 NN LT10
CNMG 120412 NN LT10
CNMG 120408 NR LT10

CNMM 120408 NR LT10

CNMM 120412 NR LT10

CNMM 120408 NN LT10

CNMM 120412 NN LT10

CNMA 120416 NN LT10

DCMT 070204 NN LT10
DCMT 111304 NN LT10
DCMT 111308 NN LT10
DNMG 110404 NN LT10
DNMG 110408 NN LT10
DNMG 150404 NN LT10
DNMG 150408 NN LT10
DNMG 150604 NN LT10
DNMG 150608 NN LT10
DNMG 150612 NN LT10

SNMG 120408 NN LT10

SNMG 120412 NN LT10

SCMT 09T304 NN LT10

SCMT 09T308 NN LT10

TCMT 110204 NN LT10
TCMT 110208 NN LT10
TCMT 16T304 NN LT10
TCMT 16T308 NN LT10
TNMG 160404 NN LT10
TNMG 160408 NN LT10
TNMG 220408 NN LT10
TNMG 220412 NN LT10

TNMP 160408 NN LT10

TNUX 160404R NN LT10

TNUX 160408R NN LT10

TPMR 160404 NN LT10

TPMR 160408 NN LT10



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A80

WEM

Order No. D (mm) L (mm) d (mm) I No. Insert Screw Wrench

Recommended Inserts SUMITOMO & NACHI

WEM2016E
WEM2020E
WEM2025E
WEM3025E

WEM3032E

16
20
25
25

32

90
110
125
125

125

90
110
125
125

125

16
20
25
25

32

2
2
3
2

3

APMT1035PDER

APMTI605PDER

CS25065

CS35090

DBIT-T8

DBIT-T15

(mm)



    
        
        
        
        

    

     

      
      
       
      
      
      
      
      
       
      
      
      
      
       



ROSS

   

      

     
     
     
    
    

  à¡Ã´

     250

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÁÔ«ÙºÔªÔ

ÎÔµÒªÔ

ÍÔµÒÅÕ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A81

MILLING CUTTER

GR
FACE & COPY MILLING CUTTER

CR
FACE & COPY MILLING CUTTER

ËÑÇ»Ò´àÍçÁÁÔÅ

GR-6R50
GR-6R63
GR-6R80
GR-6R100

ÃËÑÊ
50
63
80
100

22
22
27
32

40
40
50
50

4
5
6
6

RDMW
RDMT
1204

D d H ¿˜¹ ÃÒ¤Ò
CR-8R50
CR-8R63
CR-8R80
CR-8R100

ÃËÑÊ
50
63
80
100

22
22
27
32

45
50
50
55

4
5
6
6

RDMT
RDMX
1604

D d H ¿˜¹ ÃÒ¤Ò

TR
FACE & COPY MILLING CUTTER

BAP
FACE MILLING CUTTER

TR-5R50
TR-5R63
TR-5R80
TR-5R100

ÃËÑÊ
50
63
80
100

22
22
27
32

40
40
50
50

3
4
5
5

RDMT
10T3

D d H ¿˜¹ ÃÒ¤Ò

SET 45o

FACE MILLING CUTTER

SET45-25-C20
SET45-30-C20
SET45-40-C25
SET45-50-C32
SET45-63-C32

ÃËÑÊ
25
30
40
50
63

20
20
25
32
32

37
42
52
63
76

100
100
110
120
150

2
2
3
4
5

SEKT1204

d1 d2 d3 L ¿˜¹ ÃÒ¤Ò

SET 45o

FACE MILLING CUTTER

SET45-50
SET45-63
SET45-80
SET45-100
SET45-125

ÃËÑÊ
50
63
80
100
125

64
77
93
114
139

22mm

1”
1”

1-1/4”
1-1/2”

45
50
55
55
60

4
5
6
6
8

SEKT1204

d1 d2 d3 L ¿˜¹ ÃÒ¤Ò

BAP-M050
BAP-M063
BAP-M080
BAP-M100
BAP-M125

ÃËÑÊ

50
63
80
100
125

22
22
27
32
40

40
40
50
50
50

4
5
6
7
8

APMT1604
APKT1604

D d H ¿˜¹ ÃÒ¤Ò

WEM

Order No. D (mm) L (mm) d (mm) I No. Insert Screw Wrench

Recommended Inserts SUMITOMO & NACHI

WEM2016E
WEM2020E
WEM2025E
WEM3025E

WEM3032E

16
20
25
25

32

90
110
125
125

125

90
110
125
125

125

16
20
25
25

32

2
2
3
2

3

APMT1035PDER

APMTI605PDER

CS25065

CS35090

DBIT-T8

DBIT-T15

(mm)



    
        
        
        
        

    

     

      
      
       
      
      
      
      
      
       
      
      
      
      
       



ROSS

   

      

     
     
     
    
    

  à¡Ã´

     250

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÅÑ¡É³Ð ÃÒ¤ÒÃËÑÊ

ÁÔ«ÙºÔªÔ

ÎÔµÒªÔ

ÍÔµÒÅÕ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A82

MILLING CUTTER
´ŒÒÁÁÕ´àÍçÁÁÔÅ

STK®M200直 柄端銑刀 SHOULDER MILLING CUTTER

 

    
     
    
   
 


 

   



   
 



 





  


 




 
  

CR圓 刃端銑刀 FACE & COPY MILLING CUTTER

 
  
  
    


 
 

 
  
 

   
   
   


 


 

   

 
 



 
 

 

TJU鑽、銑端銑刀 DRILLING AND MILLING CUTTER

標準型 加長型
規格 零件 規 格 零件


適用

刀片 
適用

刀片


  






  






 











 











  






  






 








 







ÃËÑÊ ¿˜¹ ¿˜¹

¿˜¹

¿˜¹ ¿˜¹

¿˜¹

ÃËÑÊÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A83

HR圓刃端銑刀 FACE & COPY MILLING CUTTER

 
    

  
  




  
 





 





 

TCM 45°倒角刀

   

         

CM 45°倒角刀

    

       
           
      
      
      
      

   

T型槽端銑刀

     

         
           

            
            

★表示沒有庫存 , 交貨時間約 10-15天 .

MILLING CUTTER
´ŒÒÁÁÕ´àÍç¹ÁÔÅ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

¿˜¹

¿˜¹

¿˜¹

ÃËÑÊ ÃÒ¤Ò¿˜¹

MILLING CUTTER
´ŒÒÁÁÕ´àÍçÁÁÔÅ

STK®M200直 柄端銑刀 SHOULDER MILLING CUTTER

 

    
     
    
   
 


 

   



   
 



 





  


 




 
  

CR圓 刃端銑刀 FACE & COPY MILLING CUTTER

 
  
  
    


 
 

 
  
 

   
   
   


 


 

   

 
 



 
 

 

TJU鑽、銑端銑刀 DRILLING AND MILLING CUTTER

標準型 加長型
規格 零件 規 格 零件


適用

刀片 
適用

刀片


  






  






 











 











  






  






 








 







ÃËÑÊ ¿˜¹ ¿˜¹

¿˜¹

¿˜¹ ¿˜¹

¿˜¹

ÃËÑÊÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ ÃÒ¤Ò ÃËÑÊ ÃÒ¤Ò

ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A84

MILLING CUTTER
´ŒÒÁÁÕ´àÍç¹ÁÔÅ

50
63

63
63
80
100

øD øD












WEX 2050F
WEX 2063F

WEX 3063R
WEX 3063F
WEX 3080R
WEX 3100R

WAVY MILL
WEX2000F

WAVY MILL
WEX3000F/R

ÃËÑÊ ÃËÑÊ

22
22

25.4
22
25.4
31.75

ød1 ød1

11
11

11
11
13
17

ød2 ød2

10.4
10.4

10.4
10.4
9.5
12.7

a a
¢¹Ò´ mm ¢¹Ò´ mm

6.3
6.3

6.3
6.3
6
8

t t
40
40

40
40
50
63

L L
26
26

26
26
31
39.5

E E
20
20

20
20
25
32.5

h h
7
8

6
6
4
5

¿˜¹ ¿˜¹

16
20
25
16
20
25

25
32
25
32
40

øD øD






















WEX 2016E
WEX 2020E
WEX 2025E
WEX 2016EL
WEX 2020EL
WEX 2025EL

WEX 3025E
WEX 3032E
WEX 3025EL
WEX 3032EL
WEX 3040EL

WAVY MILL
WEX2000E/EL

WAVY MILL
WEX3000E/EL

ÃËÑÊ ÃËÑÊ

16
20
25
16
20
25

25
32
25
32
32

ød ød
25
30
35
25
40
50

35
40
50
60
80

l 1 l 1
75
80
85
120
110
120

85
90
120
120
140

l 2 l 2
¢¹Ò´ mm ¢¹Ò´ mm

100
110
120
145
150
170

120
130
170
180
220

L L
2
3
4
2
2
2

2
3
2
2
2

¿˜¹

EAXMT 123504 PEER-G
 123508 PEER-G

170508 PEER-G
170512 PEER-G

ÃËÑÊ ÃËÑÊ
à¡Ã´ à¡Ã´

R R

 Inserts  Inserts









ECP200 ECP200








ECK200 ECK200
0.4
0.8

0.8
1.2

¿˜¹



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A85



ME R-8  柄銑刀把
SHOULDER MILLING CUTTER

MR93

45º  直柄二刃銑刀把
FACE MILLING CUTTER

CS70-4  200/PC CP50-3  360/PC CS25080(M2.5)  FT10

ME20T~ME25TI 適用零件： 螺絲 CS70-5  150/PC 壓板 CP50-4  360/PC

ME30T~ME50T 適用零件： 螺絲 CS70-4  180/PC 壓板 CP50-3  360/PC

ME  直柄端銑刀 (公制柄/英制柄)  SHOULDER MILLING CUTTER

BAP  直柄端銑刀  SHOULDER MILLING CUTTER

´ŒÒÁÁÕ´àÍçÁÁÔÅ

D x d x L D x d x L

D x d x L

ME25TI
ME20T
ME25T
ME30T

ME32TR8
ME38TR8
ME50TR8
ME63TR8
ME75TR8

SC4526
SC4532

ME35T
ME40T
ME50T
ME50TL

SS10100
SS12100
SS16120
SS16160
SS17160
SS17200
SS20120
SS20150
SS20200
SS21160
SS21200

1”x3/4  
20x20x100
25x20x100
30x20x114

1-1/4 x 2 刃
1-1/2 x 3 刃
2” x 3 刃

2-1/2 x 4 刃
3” x 5 刃

1” x 3/4 柄
1-1/4 x 3/4 柄

35x20x114
40x20x116
50x20x116
50x25x130

10x16x100
12x16x100
16x16x120
16x16x160
17x16x160
17x16x200
20x20x120
20x20x150
20x20x200
21x20x160
21x20x200

-- 2

2 3

1

2

CS2560A
(M2.5)

TPUN110304
TPUN110304
TPUN110304
TPUN160308

TPUN160308
TPUN160308
TPUN160308
TPUN160308
TPUN160308

SDCB080208
SDCB080208

TPUN160308
TPUN160308
TPUN160308
TPUN160308

APMT1135

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

¿˜¹ ¿˜¹

¿˜¹

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò D x d x L

SS25150
SS25200
SS25250
SS25300
SS32150
SS32200
SS32250
SS32300
SS35150
SS35200
SS35250
SS40150
SS40200

25x25x150
25x25x200
25x25x250
25x25x300
32x32x150
32x32x200
32x32x250
32x32x300
35x32x150
35x32x200
35x32x250
40x32x150
40x32x200

3

4

CS40100
(M4) APMT1604

ÃËÑÊ ¿˜¹ ÃÒ¤Ò

MILLING CUTTER
´ŒÒÁÁÕ´àÍç¹ÁÔÅ

50
63

63
63
80
100

øD øD












WEX 2050F
WEX 2063F

WEX 3063R
WEX 3063F
WEX 3080R
WEX 3100R

WAVY MILL
WEX2000F

WAVY MILL
WEX3000F/R

ÃËÑÊ ÃËÑÊ

22
22

25.4
22
25.4
31.75

ød1 ød1

11
11

11
11
13
17

ød2 ød2

10.4
10.4

10.4
10.4
9.5
12.7

a a
¢¹Ò´ mm ¢¹Ò´ mm

6.3
6.3

6.3
6.3
6
8

t t
40
40

40
40
50
63

L L
26
26

26
26
31
39.5

E E
20
20

20
20
25
32.5

h h
7
8

6
6
4
5

¿˜¹ ¿˜¹

16
20
25
16
20
25

25
32
25
32
40

øD øD






















WEX 2016E
WEX 2020E
WEX 2025E
WEX 2016EL
WEX 2020EL
WEX 2025EL

WEX 3025E
WEX 3032E
WEX 3025EL
WEX 3032EL
WEX 3040EL

WAVY MILL
WEX2000E/EL

WAVY MILL
WEX3000E/EL

ÃËÑÊ ÃËÑÊ

16
20
25
16
20
25

25
32
25
32
32

ød ød
25
30
35
25
40
50

35
40
50
60
80

l 1 l 1
75
80
85
120
110
120

85
90
120
120
140

l 2 l 2
¢¹Ò´ mm ¢¹Ò´ mm

100
110
120
145
150
170

120
130
170
180
220

L L
2
3
4
2
2
2

2
3
2
2
2

¿˜¹

EAXMT 123504 PEER-G
 123508 PEER-G

170508 PEER-G
170512 PEER-G

ÃËÑÊ ÃËÑÊ
à¡Ã´ à¡Ã´

R R

 Inserts  Inserts









ECP200 ECP200








ECK200 ECK200
0.4
0.8

0.8
1.2

¿˜¹



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A86

M100  FACE & COPY MILLING CUTTER

CR  FACE & COPY MILLING CUTTER

HR  FACE & COPY MILLING CUTTER

MR16120
MR16150
MR20150
MR20200
MR25150A
MR25150
MR25200
MR25250

CR16120
CR16150
CR17160
CR17200
CR20150
CR20200
CR21160
CR21200
CR25150
CR25200
CR25250
CR30150
CR30200
CR30250

HR20150
HR20200
HR25120
HR25150
HR25150A
HR25200
HR25250
HR30150

16 x 16 x 120
16 x 16 x 150
20 x 20 x 150
20 x 20 x 200
25 x 20 x 150
25 x 25 x 150
25 x 25 x 200
25 x 25 x 250

16 x 16 x 130
16 x 16 x 160
17 x 17 x 160
17 x 17 x 200
20 x 20 x 160
20 x 20 x 200
21 x 21 x 160
21 x 21 x 200
25 x 25 x 160
25 x 25 x 200
25 x 25 x 250
30 x 25 x 150
30 x 25 x 200
30 x 25 x 250

20 x 20 x 160
20 x 20 x 200
30 x 3/4 x 105
25 x 25 x 160
25 x 20 x 160
25 x 25 x 200
25 x 25 x 250
30 x 25 x 160

2

2

2

CS30080
(M3)

CS40080
(M4)

CS3008
(M3)
CL-4R

CS40080
(M4)
CL-5R

RDMT0803

RDMX1003
RDMT1003
RDMT1003

RDMT0802

RPMW
1003MO

RDMT10T3

D x d x L D x d x L

D x d x L D x d x L

¿˜¹ ¿˜¹ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò¿˜¹ ¿˜¹ÃËÑÊ ÃËÑÊ

MR30150
MR30200
MR30250
MR32150
MR32200
MR32250
MR32300
MR40150
MR40200

CR32150
CR32200
CR32250
CR32300
CR35150
CR35200
CR35250
CR35300

ตัวยึดแนน
CL-4R 250
CL-5R 250

30 x 25x 150
30 x 25 x 200
30 x 25 x 250
32 x 25 x 160
32 x 25 x 200
32 x 32 x 250
32 x 32 x 300
40 x 32 x 160
40 x 32 x 200

32 x 32x 150
32 x 32 x 200
32 x 32 x 250
32 x 32 x 300
35 x 32 x 150
35 x 32 x 200
35 x 32 x 250
35 x 32 x 300

2

3

CS40080
(M4)

CS40080
(M4)
CL-5R

RDMT1204

RDMT10T3

HR30150A
HR30200
HR30250
HR35150
HR35200
HR35250
HR35300

30 x 20 x 160
30 x 25 x 200
30 x 25 x 250
35 x 25 x 160
35 x 25 x 200
35 x 25 x 250
35 x 25 x 300

3

2

RPMW
1003MO

ÃËÑÊ ÃËÑÊ

D x d x L D x d x L¿˜¹ ¿˜¹ÃÒ¤Ò ÃÒ¤ÒÃËÑÊ ÃËÑÊ


´ŒÒÁÁÕ´àÍçÁÁÔÅ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A87

Face Milling Cutter 45
o

Round Insert Milling Cutter

45ð

PARTS

SCR-CL5/16 CL-S SCR-ST-S4 ST-S WRN-M4T

INSERT

SEKN-1203

445 545

SEKN-1504

ORDER NO. BLADE HITACHI
INSERT

CSREW
FOR
ISERT

CSREW
FOR

CLAMP
CLAMP CODE NO.D H Rd

Inch
d

metrics

RM-5R50

RM-5R63

RM-8R50

RM-8R63

50

63

50

63

-

25.4

-

25.4

22

22

22

22

45

50

45

50

4

5

3

3/4

5

5

8

8

RDMT10T3

RDMT10T3

RDMT1603

RDMT1604

SCR-CRS4

SCR-CRS4

SCR-CRS5

SCR-CRS5

SCR-DM3.5

SCR-W 1/4 S

CL-5R

CL-5R

CL-8R

CL-8R

T15

T15

T20

T20

6001-130

6001-131

6001-133

6001-134

ORDER
NO. BLADE CODE NO.D H

WEIGHT (KG)
INCH INCH

dø
METRIC METRIC

SE545-3

SE545-4

SE545-5

SE545-6

SE545-8

SE545-10

SE545-12

80

100

125

160

200

250

300

25.4

31.75

38.1

50.8

47.625

47.625

47.625

2.1

3.5

5.1

7.1

10.4

16.8

27

27

32

40

40

60

60

60

2

3.1

5.3

7

9.5

50

55

60

60

60

60

60

5

5

6

8

10

12

14

6001-001

6001-002

6001-002

6001-004

6001-005

6001-006

6001-007

ORDER
NO. BLADE CODE NO.D H

WEIGHT (KG)
INCH INCH

dø
METRIC METRIC

SE445-3

SE445-4

SE445-5

SE445-6

SE445-8

SE445-10

SE445-12

80

100

125

160

200

250

300

25.4

31.75

38.1

50.8

47.625

47.625

47.625

2.1

3.2

4.7

7.3

9.6

16.7

25.8

27

32

40

40

60

60

60

2

3.1

5.3

7

9.5

17

25.8

50

55

60

60

60

60

60

5

5

6

8

10

12

14

6001-020

6001-021

6001-022

6001-023

6001-024

6001-025

6001-026

M100  FACE & COPY MILLING CUTTER

CR  FACE & COPY MILLING CUTTER

HR  FACE & COPY MILLING CUTTER

MR16120
MR16150
MR20150
MR20200
MR25150A
MR25150
MR25200
MR25250

CR16120
CR16150
CR17160
CR17200
CR20150
CR20200
CR21160
CR21200
CR25150
CR25200
CR25250
CR30150
CR30200
CR30250

HR20150
HR20200
HR25120
HR25150
HR25150A
HR25200
HR25250
HR30150

16 x 16 x 120
16 x 16 x 150
20 x 20 x 150
20 x 20 x 200
25 x 20 x 150
25 x 25 x 150
25 x 25 x 200
25 x 25 x 250

16 x 16 x 130
16 x 16 x 160
17 x 17 x 160
17 x 17 x 200
20 x 20 x 160
20 x 20 x 200
21 x 21 x 160
21 x 21 x 200
25 x 25 x 160
25 x 25 x 200
25 x 25 x 250
30 x 25 x 150
30 x 25 x 200
30 x 25 x 250

20 x 20 x 160
20 x 20 x 200
30 x 3/4 x 105
25 x 25 x 160
25 x 20 x 160
25 x 25 x 200
25 x 25 x 250
30 x 25 x 160

2

2

2

CS30080
(M3)

CS40080
(M4)

CS3008
(M3)
CL-4R

CS40080
(M4)
CL-5R

RDMT0803

RDMX1003
RDMT1003
RDMT1003

RDMT0802

RPMW
1003MO

RDMT10T3

D x d x L D x d x L

D x d x L D x d x L

¿˜¹ ¿˜¹ÃÒ¤Ò ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò¿˜¹ ¿˜¹ÃËÑÊ ÃËÑÊ

MR30150
MR30200
MR30250
MR32150
MR32200
MR32250
MR32300
MR40150
MR40200

CR32150
CR32200
CR32250
CR32300
CR35150
CR35200
CR35250
CR35300

ตัวยึดแนน
CL-4R 250
CL-5R 250

30 x 25x 150
30 x 25 x 200
30 x 25 x 250
32 x 25 x 160
32 x 25 x 200
32 x 32 x 250
32 x 32 x 300
40 x 32 x 160
40 x 32 x 200

32 x 32x 150
32 x 32 x 200
32 x 32 x 250
32 x 32 x 300
35 x 32 x 150
35 x 32 x 200
35 x 32 x 250
35 x 32 x 300

2

3

CS40080
(M4)

CS40080
(M4)
CL-5R

RDMT1204

RDMT10T3

HR30150A
HR30200
HR30250
HR35150
HR35200
HR35250
HR35300

30 x 20 x 160
30 x 25 x 200
30 x 25 x 250
35 x 25 x 160
35 x 25 x 200
35 x 25 x 250
35 x 25 x 300

3

2

RPMW
1003MO

ÃËÑÊ ÃËÑÊ

D x d x L D x d x L¿˜¹ ¿˜¹ÃÒ¤Ò ÃÒ¤ÒÃËÑÊ ÃËÑÊ


´ŒÒÁÁÕ´àÍçÁÁÔÅ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A88

75ð

Face Milling Cutter 75
o

90ð

Face Milling Cutter 90
o

ORDER
NO. BLADE INSERT CODE NO.D H a WEIGHT (KG)

INCH
dø
METRIC

TP-63

TP-80

TP-100

TP-125

TP-160

TP-200

TP-250

TP-300

63

80

100

125

160

200

250

300

25.4

25.4

31.75

38.1

50.8

47.625

47.625

47.625

27

27

32

40

40

60

60

60

50

50

55

60

60

60

60

60

22

22

22

22

22

22

22

22

3

4

5

6

7

8

9

10

1.1

1.5

2.2

3.5

5.9

8.1

15.9

28

TPUN

220412

TPKN

2204PDTR

ST-T

ST-T

ST-T

ST-T

ST-T

ST-T

ST-T

ST-T

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

6001-110

6001-111

6001-112

6001-113

6001-114

6001-115

6001-116

6001-117

ORDER
NO. BLADE CODE NO. INSERT PARTSD H

WEIGHT (KG)
INCH INCH

dø
METRIC METRIC

FP-3

FP-4

FP-5

FP-6

FP-8

FP-10

FP-12

80

100

125

160

200

250

300

25.4

31.75

38.1

50.8

47.625

47.625

47.625

2

3.1

5.3

6.5

9.6

17.1

29.3

27

32

40

40

60

60

60

2

3.4

5.1

6.8

9.6

50

55

60

60

60

60

60

5

6

8

10

12

16

20

6001-090

6001-091

6001-092

6001-093

6001-094

6001-095

6001-096

SPKN

1203EDTR

WRN-

M4T
ST-S

SCR-

ST-S4
CL-S

SCR-

CL5/16



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A89

HCB-50-M

HCB-63

HCB-80

HCB-100

HCB-125

HCB-150

HCB-200

Material : SNCM439
Hardness : HRC42
Accuracy : 0.03 mm

High-Speed Face Milling Cutter 45o

45o

50

63

80

100

125

150

200

60

75

96

116

141

158

212

-
22
25.4
27
25.4
27

31.75
32
38.1
40
50.8
40

47.625
60

N
M
N
M
N
M
N
M
N
M
N
M

6001-170M
6001-171I
6001-171M
6001-172I
6001-172M
6001-173I
6001-173M
6001-174I
6001-174M
6001-175I
6001-175M
6001-176I
6001-176M

45

50

55

55

60

60

60

4

5

6

6

8

10

12

0.53

0.83

1.24

1.83

3.09

4.06

7.68

SEKT1204 SCR-SE5 T20

ORDER NO. D D1 INCH
METRIC H BLADE WEIGHT(kg) INSERT SCREW WRENCH CODE NO.dØ

HCN-63

HCN-80

HCN-100

HCN-125

HCN-160

HCN-200

Material : SNCM439
Hardness : HRC42
Accuracy : 0.03 mm

45o

63

80

100

125

160

200

175

96

116

141

158

212

25.4
22
25.4
27

31.75
32
38.1
40
50.8
40

47.625
60

6001-190I
6001-190M
6001-191I
6001-191M
6001-192I
6001-192M
6001-193I
6001-193M
6001-194I
6001-194M
6001-195I
6001-195M

50

55

55

60

60

60

5

6

6

8

10

12

0.87

1.24

1.83

3.82

7.88

SEMT13T3 SCR-SE4 T15

ORDER NO. D D1 INCH
METRIC H BLADE WEIGHT(kg) INSERT SCREW WRENCH CODE NO.dØ

FMC-50

FMC-63

FMC-80

FMC-100

FMC-125

FMC-160

Material : SNCM439
Hardness : HRC42
Accuracy : 0.03 mm

50

63

80

100

125

160

175

96

116

141

158

212

25.4
22
25.4
22
25.4
27

31.75
32
38.1
40
38.1
40

6001-200I
6001-200M
6001-201I
6001-201M
6001-202I
6001-202M
6001-203I
6001-203M
6001-204I
6001-204M
6001-205I
6001-205M

40

40

50

50

50

50

4

5

6

7

8

10

0.34

0.57

1.15

1.83

2.99

5.07

APMT1604 SCR-CAP4 T15

ORDER NO. D D1 INCH
METRIC H BLADE WEIGHT(kg) INSERT SCREW WRENCH CODE NO.dØ

N
M
N
M
N
M
N
M
N
M
N
M

N
M
N
M
N
M
N
M
N
M
N
M

75ð

Face Milling Cutter 75
o

90ð

Face Milling Cutter 90
o

ORDER
NO. BLADE INSERT CODE NO.D H a WEIGHT (KG)

INCH
dø
METRIC

TP-63

TP-80

TP-100

TP-125

TP-160

TP-200

TP-250

TP-300

63

80

100

125

160

200

250

300

25.4

25.4

31.75

38.1

50.8

47.625

47.625

47.625

27

27

32

40

40

60

60

60

50

50

55

60

60

60

60

60

22

22

22

22

22

22

22

22

3

4

5

6

7

8

9

10

1.1

1.5

2.2

3.5

5.9

8.1

15.9

28

TPUN

220412

TPKN

2204PDTR

ST-T

ST-T

ST-T

ST-T

ST-T

ST-T

ST-T

ST-T

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

SCR-W5/16

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

WRN-M5T

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

SCR-ST-T4

6001-110

6001-111

6001-112

6001-113

6001-114

6001-115

6001-116

6001-117

ORDER
NO. BLADE CODE NO. INSERT PARTSD H

WEIGHT (KG)
INCH INCH

dø
METRIC METRIC

FP-3

FP-4

FP-5

FP-6

FP-8

FP-10

FP-12

80

100

125

160

200

250

300

25.4

31.75

38.1

50.8

47.625

47.625

47.625

2

3.1

5.3

6.5

9.6

17.1

29.3

27

32

40

40

60

60

60

2

3.4

5.1

6.8

9.6

50

55

60

60

60

60

60

5

6

8

10

12

16

20

6001-090

6001-091

6001-092

6001-093

6001-094

6001-095

6001-096

SPKN

1203EDTR

WRN-

M4T
ST-S

SCR-

ST-S4
CL-S

SCR-

CL5/16



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A90

CUTTING HOLDER / INSERTS / PART

CUTTING HOLDER

CUTTING BLOCKS

PARTS

SGIH26-2
SGIH26-3
SGIH32-3
SGFH26-2
SGFH26-3
SGFH32-3

SBN1216-26
SBN1616-26
SBN2020-26
SBN2020-32
SBN2020-32

50
75
100
50
75
100

12
16
20
20
25

SMC-432

SMT-322

SMS-432

CP50-22
CP50-24
CP50-25
CP50-26

LCS-510
LCS-511
LCS-513
★LCS-520
LCS-617
LCS-619
★LCS-520N

CS25060
CS25060A
CS25080
CS3070A
CS30080
CS35080

2.2
3
3
2.2
3
3

16
16
20
20
25

CS35090
CS35110
CS40080
CS40100
CS45110
CS50130
CS60130

M2.5 x 6
M2.5 x 6
M2.5 x 8
M3.0 x 7
M3.0 x 8
M3.5 x 8

2.4
2.4
2.4
2.4
2.4
2.4

6
12
8
8
13

21.4
21.4
25
21.4
21.4
25

30
40
40
40
50

★SMV-322

★SMW-433

★SMD-443
★SMD-463

CS70-21
CS70-22
CS70-25

M2.5 x 9
M2.5 x 11
M2.5 x 8
M3.0 x 10
M3.0 x 11
M3.5 x 13
M3.5 x 13

100
100
150
110
110
150

90
90
90
110
110

FT7
FT8
FT9
FT10
FT15
FT20

25.4
25.4
31.3
25.4
25.4
31.3

GTN-2
GTN-3

GFN-2
GFN-3

ÃÒ¤Ò

ÃÒ¤Ò

MAX. DIA

h1

h1

ÃÒ¤Ò

W

h2

ÃÒ¤Ò

ÃÒ¤ÒÃÒ¤Ò

B

h3

H

H

H

L

L

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

A



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A91

WIDIA PARTING INSERTS

GTN Made In Germany

0.18
0.18
0.22
0.22
0.22
0.24
0.26
0.26
0.28

2.25
2.4
3.05
3.05
3.05
4.05
4.8
5.05
6.45

GTN2 TN6025
GTN24 TN6025
GTN3 TN6025
GTN3J TN6025
GTN3W TN6025
GTN4 TN6025
GTN48 TN6025
GTN5 TN6025
GTN6 TN6025

IS-W4103785★
IS-W4103790
IS-W4103784★
IS-W4103801
IS-W4103798
IS-W4103787
IS-W4103797
IS-W4103792
IS-W4103794

ÃÒ¤ÒRLW

GFN

0.16
0.16
0.16
0.16
0.25
0.25
0.20
0.25
0.40
0.28
0.28
0.35
0.47

1.60
2.00
2.20
2,40
3.00
3.00
3.03
4.00
4.10
4.10
4.80
6.39
9.50

GFN16 TN6025
GFN2J TN6025
GFN2 TN6025
GFN24 TN6025
GFN3 TN6025
GFN3J TN6025
GFN3M TN6025
GFN4J TN6025
GFN4B TN6025
GFN4 TN6025
GFN48 TN6025
GFN6 TN6025
GFN9 TN6025

IS-W4109101
IS-W4109158
IS-W4109153★
IS-W4109154
IS-W4109153★
IS-W4109099
IS-W4109160
IS-W4109162
IS-W4109156
IS-W4109102
IS-W4109155
IS-W4109164
IS-W4109166

ÃÒ¤ÒRLW

DGR

0.02
0.20
0.02
0.02
0.20
0.20
0.20
0.20
0.20

2.2
2.2
3.1
3.1
3.1
3.1
2.2
3.1
3.1

DGR2200JS-15D TN6025
DGR2202JS-6D TN6025
DGR3100JS-15D TN6025
DGR3100JS-6D TN6025
DGR3102J-15D TN6025
DGR3102J-6D TN6025
DGR2202C-6D TN6025
DGR3102C-6D TN6025
DGR3102C-8D TN6025

IS-W4176756
IS-W4176755
IS-W4176757
IS-W4176764
IS-W4176763
IS-W4176762
IS-W4176754
IS-W4176760
IS-W4176761

ÃÒ¤ÒRLW

DGN

0.16
0.03
0.04
0.03
0.04

1.40
2.20
3.10
2.20
3.10

DGN1402J TN6025
DGN2202J TN6025
DGN3102J TN6025
DGN2202C TN6025
DGN3102C TN6025

IS-W4176751
IS-W4176753
IS-W4176759
IS-W4176752
IS-W4176758

ÃÒ¤ÒRLW

GTR

8
4
8
4
8
4
4

0.18
0.18
0.18
0.18
0.22
0.22
0.24

2.25
2.25
2.40
2.40
3.05
3.05
4.05

GTR28D TN6025
GTR24D TN6025
GTR248D TN6025
GTR244D TN6025
GTR38D TN6025
GTR34D TN6025
GTR44D TN6025

IS-W4103793
IS-W4103800
IS-W4103799
IS-W4103796
IS-W4103786
IS-W4103788
IS-W4103795

ÃÒ¤ÒaR RLW

GFL/GFR

8
8
8
8
15
8
4

0.25
0.28
0.16
0.16
0.25
0.25
0.25

2.99
4.09
1.60
2.39
2.98
2.99
3.00

GFL38D TN6025
GFL48D TN6025
GFR168D TN6025
GFR248D TN6025
GFR315D TN6025
GFR38D TN6025
GFR34D TN6025

IS-W4109167
IS-W4109165
IS-W4109159
IS-W4109161
IS-W4109163
IS-W4109157
IS-W4109100

ÃÒ¤ÒaL/aR RL/RRW

ÅÑ¡É³Ð

ÅÑ¡É³Ð

ÅÑ¡É³Ð

ÅÑ¡É³Ð

ÅÑ¡É³Ð

ÅÑ¡É³Ð

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ

CUTTING HOLDER / INSERTS / PART

CUTTING HOLDER

CUTTING BLOCKS

PARTS

SGIH26-2
SGIH26-3
SGIH32-3
SGFH26-2
SGFH26-3
SGFH32-3

SBN1216-26
SBN1616-26
SBN2020-26
SBN2020-32
SBN2020-32

50
75
100
50
75
100

12
16
20
20
25

SMC-432

SMT-322

SMS-432

CP50-22
CP50-24
CP50-25
CP50-26

LCS-510
LCS-511
LCS-513
★LCS-520
LCS-617
LCS-619
★LCS-520N

CS25060
CS25060A
CS25080
CS3070A
CS30080
CS35080

2.2
3
3
2.2
3
3

16
16
20
20
25

CS35090
CS35110
CS40080
CS40100
CS45110
CS50130
CS60130

M2.5 x 6
M2.5 x 6
M2.5 x 8
M3.0 x 7
M3.0 x 8
M3.5 x 8

2.4
2.4
2.4
2.4
2.4
2.4

6
12
8
8
13

21.4
21.4
25
21.4
21.4
25

30
40
40
40
50

★SMV-322

★SMW-433

★SMD-443
★SMD-463

CS70-21
CS70-22
CS70-25

M2.5 x 9
M2.5 x 11
M2.5 x 8
M3.0 x 10
M3.0 x 11
M3.5 x 13
M3.5 x 13

100
100
150
110
110
150

90
90
90
110
110

FT7
FT8
FT9
FT10
FT15
FT20

25.4
25.4
31.3
25.4
25.4
31.3

GTN-2
GTN-3

GFN-2
GFN-3

ÃÒ¤Ò

ÃÒ¤Ò

MAX. DIA

h1

h1

ÃÒ¤Ò

W

h2

ÃÒ¤Ò

ÃÒ¤ÒÃÒ¤Ò

B

h3

H

H

H

L

L

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

A



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A92


“DELFER”COPIDRILL CD圓咀精銑刀

   
      
       
       
       
       
       
       
       
       
       
       



VS08~VS32 1,000.00 FT8, FT20 150.00

“DELFER”INSERT “WALTER” INSERT

    
     
 







 
  
  
  
  
  


   

        
      
        
      
       
      
       
      
      
      



      
      
      





COPIDRILL CD
´ŒÒÁÁÕ´ËÑÇÁ¹DELFER

ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ ÃËÑÊ
ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A93

MWLN
95ð

MCLN
95ð

MDUN
93ð

BORING BARS

RIGHT HAND SHOWN LEFT HAND OPPOSITE

RIGHT HAND SHOWN LEFT HAND OPPOSITE

ORDER NO.

Righthand Lefthand Right RightLeft LeftFD I B Ko

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

S20R-MWLNR08

S25R-MWLNR08

S32S-MWLNR08

S40T-MWLNR08

S50U-MWLNR08

S20R-MWLNL08

S25R-MWLNL08

S32S-MWLNL08

S40T-MWLNL08

S50U-MWLNL08

WNMG 08 04 ��
WNMG 08 04 ��
WNMG 08 04 ��
WNMG 08 04 ��
WNMG 08 04 ��

20

25

32

40

50

13

17

22

27

35

200

200

250

300

350

25

32

40

50

63

17o

14o

14o

12o

12o

-

-

SMW-432

SMW-432

SMW-432

LCS-511

LCS-511

LCS-617

LCS-617

LCS-617

CP50-26

CP50-26

CP50-22

CP50-22

CP50-22

CS70-21

CS70-21

CS70-22

CS70-22

CS70-22

0.50

0.95

1.60

2.90

5.90

0.50

0.95

1.60

2.90

5.90

6005-480

6005-481

6005-482

6005-483

6005-484

6005-580

6005-581

6005-582

6005-583

6005-584

ORDER NO.

Righthand Lefthand Right RightLeft LeftFD I B Ko

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

S20R-MCLNR12

S25R-MCLNR12

S32S-MCLNR12

S40T-MCLNR12

S50U-MCLNR12

S20R-MCLNL12

S25R-MCLNL12

S32S-MCLNL12

S40T-MCLNL12

S50U-MCLNL12

WNMG 12 04 08

WNMG 12 04 08

WNMG 12 04 08

WNMG 12 04 08

WNMG 12 04 08

20

25

32

40

50

13

17

22

27

35

200

200

250

300

350

25

32

40

50

63

17o

14o

14o

12o

12o

-

-

SMC-432

SMC-432

SMC-432

LCS-511

LCS-511

LCS-617

LCS-617

LCS-617

CP50-26

CP50-26

CP50-22

CP50-22

CP50-22

CS70-21

CS70-21

CS70-22

CS70-22

CS70-22

0.50

0.95

1.60

2.90

5.90

0.50

0.95

1.60

2.90

5.90

6005-510

6005-511

6005-512

6005-513

6005-514

6005-610

6005-611

6005-612

6005-613

6005-614

ORDER NO.

Righthand Lefthand Right RightLeft LeftFD I B Ko

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

S25R-MDUNR15

S32S-MDUNR15

S40T-MDUNR15

S50U-MDUNR15

S25R-MDUNL15

S32S-MDUNL15

S40T-MDUNL15

S50U-MDUNL15

DNMG 15 04 08

DNMG 15 04 08

DNMG 15 04 08

DNMG 15 04 08

25

32

40

50

17

22

27

35

200

250

300

350

32

40

50

63

12o

10o

10o

10o

SMD-433

SMD-433

SMD-433

SMD-433

LCS-617

LCS-617

LCS-617

LCS-617

CP50-24

CP50-24

CP50-24

CP50-24

CS70-21

CS70-22

CS70-22

CS70-22

0.95

1.60

2.90

5.90

0.95

1.60

2.90

5.90

6005-540

6005-541

6005-542

6005-543

6005-640

6005-641

6005-642

6005-643


“DELFER”COPIDRILL CD圓咀精銑刀

   
      
       
       
       
       
       
       
       
       
       
       



VS08~VS32 1,000.00 FT8, FT20 150.00

“DELFER”INSERT “WALTER” INSERT

    
     
 







 
  
  
  
  
  


   

        
      
        
      
       
      
       
      
      
      



      
      
      





COPIDRILL CD
´ŒÒÁÁÕ´ËÑÇÁ¹DELFER

ÃËÑÊ ÃÒ¤Ò

ÃËÑÊ

ÃËÑÊ

ÃËÑÊ ÃËÑÊ
ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò ÃÒ¤Ò



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A94

BORING BARS
SAMLL SIZE

ORDER NO.

Righthand Lefthand Right RightLeft Left
PARTS

WEIGHT(kg) CODE NO.

S12M-SDZCR07

S16Q-SDZCR07

S20R-SDZCR011

S25R-SDZCR011

S12M-SDZCL07

S16Q-SDZCL07

S20R-SDZCL11

S25R-SDZCL11

DIMENSIONS

12

16

20

25

10.5

12.5

15.5

18

150

180

200

200

14

16

20

25

9o

8o

8o

6o

CS2560

CS35095

FT-7

FT-15

0.18

0.28

0.45

0.60

0.18

0.28

0.45

0.60

6005-630

6005-631

6005-632

6005-633

6005-730

6005-731

6005-732

6005-733

INSERT

DCMT

0702��
DCMT

11T3��

ORDER NO.

Righthand Lefthand Right RightLeft Left

PARTS WEIGHT(kg) CODE NO.

A16Q-SVUCR11

A20R-SVUCR11

A25R-SVUCR16

A16Q-SVQCR11

A20R-SVQCR11

A25R-SVQCR16

A16Q-SVUCL11

A20R-SVUCL11

A25R-SVUCL16

A16Q-SVQCL11

A20R-SVQCL11

A25R-SVQCL16

FD I B Ko

DIMENSIONS

16

20

25

16

20

25

13

15

18

13

15

18

180

200

200

180

200

200

22

27

33

22

27

33

7o

6o

4o

7o

6o

4o

CS2560

CS3590

CS2560

CS3590

FT-7

FT-15

FT-7

FT-15

0.28

0.45

0.60

0.28

0.45

0.60

0.28

0.45

0.60

0.28

0.45

0.60

6005-660

6005-661

6005-662

6005-690

6005-691

6005-692

6005-760

6005-761

6005-762

6005-790

6005-791

6005-792

INSERT

VCMT

1103��
VCMT1604

VCMT

1103��
VCMT1604

ORDER NO.

Righthand Lefthand Right RightLeft Left

PARTS WEIGHT(kg) CODE NO.

S10M-SDUCR07

S12M-SDUCR07

S16Q-SDUCR07

S20R-SDUCR11

S25R-SDUCR11

S10M-SDQCR07

S12M-SDQCR07

S16Q-SDQCR07

S20R-SDUQR11

S25R-SDUQR11

S10M-SDUCL07

S12M-SDUCL07

S16Q-SDUCL07

S20R-SDUCL11

S25R-SDUCL11

S10M-SDQCL07

S12M-SDQCL07

S16Q-SDQCL07

S20R-SDUQL11

S25R-SDUQL11

FD I B Ko

DIMENSIONS

10

12

16

20

25

10

12

16

20

25

7

9

11

13

17

7

9

11

13

17

150

150

180

200

200

150

150

180

200

200

13

16

20

25

32

13

16

20

25

32

10o

8o

6o

8o

4o

10o

8o

6o

8o

4o

CS2560

CS35095

CS2560

CS35095

FT-7

FT-15

FT-7

FT-15

0.15

0.18

0.28

0.45

0.60

0.15

0.18

0.28

0.45

0.60

0.15

0.18

0.28

0.45

0.60

0.15

0.18

0.28

0.45

0.60

6005-570

6005-571

6005-572

6005-573

6005-574

6005-600

6005-601

6005-602

6005-603

6005-604

6005-670

6005-671

6005-672

6005-673

6005-674

6005-700

6005-701

6005-702

6005-703

6005-704

INSERT

DCMT

0702��

DCMT

11T3��

DCMT

0702��

DCMT

11T3��



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A95

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MTJNR-2020K16

MTJNR-2525M16

MTJNL-2020K16

MTJNL-2525M16

TNMG 16 04 08

TNMG 16 04 08

20

25

20

25

125

150

32

32

25

32

SMT-322

SMT-322

LCS-513

LCS-513

CP50-22

CP50-22

CS70-22

CS70-22

0.45

0.80

0.45

0.80

6005-060

6005-061

6005-060

6005-061

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MCRNR-2020K12

MCRNR-2525M12

MCRNR-3225P12

MCRNL-2020K12

MCRNL-2525M12

-

CNMG 12 04 08

CNMG 12 04 08

CNMG 12 04 08

20

25

32

20

25

25

125

150

170

32

32

32

25

32

32

SMC-432

SMC-432

SMC-432

LCS-617

LCS-617

LCS-617

CP50-22

CP50-22

CP50-22

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

0.45

0.80

-

6005-030

6005-031

6005-032

6005-030

6005-031

-

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MCLNR-1616H12

MCLNR-2020K12

MCLNR-2525M12

MCLNR-3225P12

MCLNL-1616H12

MCLNL-2020K12

MCLNL-2525M12

MCLNL-3225P12

CNMG 12 04 08

CNMG 12 04 08

CNMG 12 04 08

CNMG 12 04 08

16

20

25

32

16

20

25

25

100

125

150

170

32

32

32

32

20

25

32

32

SMC-432

SMC-432

SMC-432

SMC-432

LCS-617

LCS-617

LCS-617

LCS-617

CP50-22

CP50-22

CP50-22

CP50-22

CS70-22

CS70-22

CS70-22

CS70-22

0.25

0.45

0.80

1.20

0.25

0.45

0.80

1.20

6005-001

6005-002

6005-003

6005-004

6005-101

6005-102

6005-103

6005-104

ORDER NO.

Righthand RightBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MTENN-2020K16

MTENN-2525M16

TNMG 16 04 08

TNMG 16 04 08

20

25

20

25

125

150

32

32

10.46

12.95

SMT-322

SMT-322

LCS-513

LCS-513

CP50-22

CP50-22

CS70-22

CS70-22

0.45

0.80

6005-090

6005-091

Tool Holders
MCLN
95ð

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MCRN
75ð

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MTJN
93ð

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MTEN
60ð

NEUTRAL HAND

BORING BARS
SAMLL SIZE

ORDER NO.

Righthand Lefthand Right RightLeft Left
PARTS

WEIGHT(kg) CODE NO.

S12M-SDZCR07

S16Q-SDZCR07

S20R-SDZCR011

S25R-SDZCR011

S12M-SDZCL07

S16Q-SDZCL07

S20R-SDZCL11

S25R-SDZCL11

DIMENSIONS

12

16

20

25

10.5

12.5

15.5

18

150

180

200

200

14

16

20

25

9o

8o

8o

6o

CS2560

CS35095

FT-7

FT-15

0.18

0.28

0.45

0.60

0.18

0.28

0.45

0.60

6005-630

6005-631

6005-632

6005-633

6005-730

6005-731

6005-732

6005-733

INSERT

DCMT

0702��
DCMT

11T3��

ORDER NO.

Righthand Lefthand Right RightLeft Left

PARTS WEIGHT(kg) CODE NO.

A16Q-SVUCR11

A20R-SVUCR11

A25R-SVUCR16

A16Q-SVQCR11

A20R-SVQCR11

A25R-SVQCR16

A16Q-SVUCL11

A20R-SVUCL11

A25R-SVUCL16

A16Q-SVQCL11

A20R-SVQCL11

A25R-SVQCL16

FD I B Ko

DIMENSIONS

16

20

25

16

20

25

13

15

18

13

15

18

180

200

200

180

200

200

22

27

33

22

27

33

7o

6o

4o

7o

6o

4o

CS2560

CS3590

CS2560

CS3590

FT-7

FT-15

FT-7

FT-15

0.28

0.45

0.60

0.28

0.45

0.60

0.28

0.45

0.60

0.28

0.45

0.60

6005-660

6005-661

6005-662

6005-690

6005-691

6005-692

6005-760

6005-761

6005-762

6005-790

6005-791

6005-792

INSERT

VCMT

1103��
VCMT1604

VCMT

1103��
VCMT1604

ORDER NO.

Righthand Lefthand Right RightLeft Left

PARTS WEIGHT(kg) CODE NO.

S10M-SDUCR07

S12M-SDUCR07

S16Q-SDUCR07

S20R-SDUCR11

S25R-SDUCR11

S10M-SDQCR07

S12M-SDQCR07

S16Q-SDQCR07

S20R-SDUQR11

S25R-SDUQR11

S10M-SDUCL07

S12M-SDUCL07

S16Q-SDUCL07

S20R-SDUCL11

S25R-SDUCL11

S10M-SDQCL07

S12M-SDQCL07

S16Q-SDQCL07

S20R-SDUQL11

S25R-SDUQL11

FD I B Ko

DIMENSIONS

10

12

16

20

25

10

12

16

20

25

7

9

11

13

17

7

9

11

13

17

150

150

180

200

200

150

150

180

200

200

13

16

20

25

32

13

16

20

25

32

10o

8o

6o

8o

4o

10o

8o

6o

8o

4o

CS2560

CS35095

CS2560

CS35095

FT-7

FT-15

FT-7

FT-15

0.15

0.18

0.28

0.45

0.60

0.15

0.18

0.28

0.45

0.60

0.15

0.18

0.28

0.45

0.60

0.15

0.18

0.28

0.45

0.60

6005-570

6005-571

6005-572

6005-573

6005-574

6005-600

6005-601

6005-602

6005-603

6005-604

6005-670

6005-671

6005-672

6005-673

6005-674

6005-700

6005-701

6005-702

6005-703

6005-704

INSERT

DCMT

0702��

DCMT

11T3��

DCMT

0702��

DCMT

11T3��



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A96

ORDER NO.

Righthand RightBA C E

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MSDNN-2020K12

MSDNN-2525M12

MSDNN-3225P12

SN��1204��
SN��1204��
SN��1204��

20

25

32

20

25

25

125

150

170

10.3

12.8

12.8

SMS-432

SMS-432

SMS-432

LCS-617

LCS-617

LCS-617

CP50-22

CP50-22

CP50-22

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

6005-120

6005-121

6005-122

ORDER NO.

Righthand RightCBA E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MVVNN-2020K16K

MVVNN-2525M16K

MVVNN-3225P16K

VNMG 16 04 08

VNMG 16 04 08

VNMG 16 04 08

20

25

25

20

25

32

125

150

170

42

42

42

10.57

13.06

13.06

SMV-322

SMV-322

SMV-322

LCS-513

LCS-513

LCS-513

CP50-25

CP50-25

CP50-25

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

6005-150

6005-151

6005-152

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MDJNR-2020K15

MDJNR-2525M15

MDJNR-3225P15

MDJNL-2020K15

MDJNL-2525M15

MDJNL-3225P15

DNMG 15 04 08

DNMG 15 04 08

DNMG 15 04 08

20

25

32

20

25

25

125

150

170

36

36

36

25

32

32

SMD-463

SMD-463

SMD-463

LCS-619

LCS-619

LCS-619

CP50-24

CP50-24

CP50-24

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

0.45

0.80

1.20

6005-180

6005-181

6005-182

6005-280

6005-281

6005-282

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MVJNR-2020K15

MVJNR-2525M15

MVJNR-3225P15

MVJNL-2020K15

MVJNL-2525M15

MVJNL-3225P15

VNMG 16 04 08

VNMG 16 04 08

VNMG 16 04 08

20

25

32

20

25

25

125

150

170

36

36

36

25

32

32

SMV-322

SMV-322

SMV-322

LCS-513

LCS-513

LCS-513

CP50-25

CP50-25

CP50-25

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

0.45

0.80

1.20

6005-210

6005-211

6005-212

6005-310

6005-311

6005-312

Tool Holders

NEUTRAL HAND

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MSD
45ð

MVVN
72ð 30’

MDJN
93ð

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MVJN
93ð



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A97

Tool Holders
WTJN
93ð

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

WTJNR-2020K16

WTJNR-2525M16

WTJNL-2020K16

WTJNL-2525M16

TNMG 16 04 08

TNMG 16 04 08

20

25

20

25

125

150

32

32

25

32

SMT-322

SMT-322

LCS-420N

LCS-420N

LCS-4B

LCS-4B

MMW-30

MMW-30

CS70-24

CS70-24

LW030

LW030

0.45

0.80

0.45

0.80

6005-240

6005-241

6005-340

6005-341

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

WTXMR-2020K16

WTXMR-2525M16

WTXML-2020K16

WTXML-2525M16

TNMG 16 04 08

TNMG 16 04 08

20

25

20

25

125

150

32

32

25

32

SMT-322

SMT-322

LCS-420N

LCS-420N

LCS-4B

LCS-4B

MMW-30

MMW-30

CS70-24

CS70-24

LW030

LW030

0.45

0.80

0.45

0.80

6005-300

6005-301

6005-400

6005-401

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

WWLNR-2020K08

WWLNR-2525M08

WWLNR-3225P08

WWLNL-2020K08

WWLNL-2525M08

WWLNL-3225P08

WNMG 08 04 08

WNMG 08 04 08

WNMG 08 04 08

20

25

32

20

25

25

125

150

170

32

32

32

25

32

32

SMW-43

SMW-43

SMW-43

LCS-520N

LCS-520N

LCS-520N

LCS-5B

LCS-5B

LCS-5B

MMW-40

MMW-40

MMW-40

CS70-25

CS70-25

CS70-25

LW040 & LW030

LW040 & LW030

LW040 & LW030

0.25

0.45

0.80

0.25

0.45

0.80

6005-001

6005-002

6005-003

6005-101

6005-102

6005-103

ORDER NO.

Righthand RightLeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

WTENN-2020K16

WTENN-2525M16

TNMG 16 04 08

TNMG 16 04 08

20

25

20

25

125

150

32

32

25

32

SMT-322

SMT-322

LCS-420N

LCS-420N

LCS-4B

LCS-4B

MMW-30

MMW-30

CS70-24

CS70-24

LW030

LW030

0.45

0.80

6005-270

6005-271

WTEN
60ð

WTXN

WWLN
95ð

ORDER NO.

Righthand RightBA C E

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MSDNN-2020K12

MSDNN-2525M12

MSDNN-3225P12

SN��1204��
SN��1204��
SN��1204��

20

25

32

20

25

25

125

150

170

10.3

12.8

12.8

SMS-432

SMS-432

SMS-432

LCS-617

LCS-617

LCS-617

CP50-22

CP50-22

CP50-22

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

6005-120

6005-121

6005-122

ORDER NO.

Righthand RightCBA E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MVVNN-2020K16K

MVVNN-2525M16K

MVVNN-3225P16K

VNMG 16 04 08

VNMG 16 04 08

VNMG 16 04 08

20

25

25

20

25

32

125

150

170

42

42

42

10.57

13.06

13.06

SMV-322

SMV-322

SMV-322

LCS-513

LCS-513

LCS-513

CP50-25

CP50-25

CP50-25

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

6005-150

6005-151

6005-152

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MDJNR-2020K15

MDJNR-2525M15

MDJNR-3225P15

MDJNL-2020K15

MDJNL-2525M15

MDJNL-3225P15

DNMG 15 04 08

DNMG 15 04 08

DNMG 15 04 08

20

25

32

20

25

25

125

150

170

36

36

36

25

32

32

SMD-463

SMD-463

SMD-463

LCS-619

LCS-619

LCS-619

CP50-24

CP50-24

CP50-24

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

0.45

0.80

1.20

6005-180

6005-181

6005-182

6005-280

6005-281

6005-282

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

MVJNR-2020K15

MVJNR-2525M15

MVJNR-3225P15

MVJNL-2020K15

MVJNL-2525M15

MVJNL-3225P15

VNMG 16 04 08

VNMG 16 04 08

VNMG 16 04 08

20

25

32

20

25

25

125

150

170

36

36

36

25

32

32

SMV-322

SMV-322

SMV-322

LCS-513

LCS-513

LCS-513

CP50-25

CP50-25

CP50-25

CS70-22

CS70-22

CS70-22

0.45

0.80

1.20

0.45

0.80

1.20

6005-210

6005-211

6005-212

6005-310

6005-311

6005-312

Tool Holders

NEUTRAL HAND

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MSD
45ð

MVVN
72ð 30’

MDJN
93ð

RIGHT HAND SHOWN LEFT HAND OPPOSITE

MVJN
93ð



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A98

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SCJCR-0808H07

SCJCR-1010H07

SCJCR-1212H11

SCJCR-1616H11

SCJCL-0808H07

SCJCL-1010H07

SCJCL-1212H11

SCJCL-1616H11

CC��0702��
CC��0702��
CC��11T3��
CC��11T3��

8

10

12

16

8

10

12

16

100

100

100

100

10

12

16

20

CS2560

CS2560

CS4090

CS4090

FT-7

FT-7

FT-15

FT-15

0.06

0.08

0.12

0.21

0.06

0.08

0.12

0.21

6005-390

6005-391

6005-392

6005-393

6005-490

6005-491

6005-492

6005-493

Tool Holders
SCLC

SVVC

SVJC

SDJC

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SDJCR-0808H07

SDJCR-1010H07

SDJCR-1212H11

SDJCR-1616H11

SDJCL-0808H07

SDJCL-1010H07

SDJCL-1212H11

SDJCL-1616H11

DC��0702��
DC��0702��
DC��11T3��
DC��11T3��

8

10

12

16

8

10

12

16

100

100

100

100

10

12

16

20

CS2560

CS2560

CS4090

CS4090

FT-7

FT-7

FT-15

FT-15

0.06

0.08

0.12

0.21

0.06

0.08

0.12

0.21

6005-390

6005-391

6005-392

6005-393

6005-490

6005-491

6005-492

6005-493

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SVJCR-1010H11

SVJCR-1212H11

SVJCR-1616H11

SVJCR-2020K16

SVJCR-2525M16

SVJCL-1010H11

SVJCL-1212H11

SVJCL-1616H11

SVJCL-2020K16

SVJCL-2525M16

VC��1103��
VC��1103��
VC��1103��
VC��1604��
VC��1604��

10

12

16

20

25

10

12

16

20

25

100

100

100

125

150

10.5

12.5

16.5

25

32

-

-

-

SMV-321

SMV-321

-

-

-

SN535

SN535

CS2560

CS2560

CS2560

CS3511

CS3511

FT-7

FT-7

FT-7

FT-15

FT-15

0.08

0.12

0.21

0.40

0.72

0.08

0.12

0.21

0.40

0.72

6005-420

6005-421

6005-422

6005-423

6005-424

6005-520

6005-521

6005-522

6005-523

6005-524

ORDER NO.

Right Left LeftBA C F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SVVCN-1010H11

SVVCN-1212H11

SVVCN-1616H11

SVVCN-2020K16

SVVCN-2525M16

VC��1103��
VC��1103��
VC��1103��
VC��1604��
VC��1604��

10

12

16

20

25

10

12

16

20

25

100

100

100

125

150

5

6

8

10

12.5

-

-

-

SMV-321

SMV-321

-

-

-

SNV-321

SNV-321

CS2560

CS2560

CS2560

CS35115

CS35115

FT-7

FT-7

FT-7

FT-7

FT-7

0.08

0.12

0.21

0.40

0.72

0.08

0.12

0.21

0.40

0.72

6005-450

6005-451

6005-452

6005-453

6005-454



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A99

D Dd dL1 L1
EXD-14X3-25
EXD-15X3-25
EXD-16X3-25
EXD-17X3-25
EXD-18X3-25
EXD-19X3-25
EXD-20X3-25
EXD-21X3-32
EXD-22X3-32
EXD-23X3-32
EXD-24X3-32
EXD-25X3-32
EXD-26X3-32
EXD-27X3-32
EXD-28X3-32
EXD-29X3-32
EXD-30X3-32
EXD-31X3-32
EXD-32X3-32
EXD-33X3-32
EXD-34X3-32
EXD-35X3-32
EXD-36X3-32
EXD-37X3-32
EXD-38X3-32
EXD-39X3-32
EXD-40X3-40
EXD-41X3-40
EXD-42X3-40
EXD-43X3-40
EXD-44X3-40
EXD-45X3-40

EXD-15X4-25
EXD-16X4-25
EXD-17X4-25
EXD-18X4-25
EXD-19X4-25
EXD-20X4-25
EXD-21X4-32
EXD-22X4-32
EXD-23X4-32
EXD-24X4-32
EXD-25X4-32
EXD-26X4-32
EXD-27X4-32
EXD-28X4-32
EXD-29X4-32
EXD-30X4-32
EXD-31X4-32
EXD-32X4-32
EXD-33X4-32
EXD-34X4-32
EXD-35X4-32
EXD-36X4-32
EXD-37X4-32
EXD-38X4-32
EXD-39X4-32
EXD-40X4-40
EXD-41X4-40
EXD-42X4-40
EXD-43X4-40
EXD-44X4-40
EXD-45X4-40
EXD-46X4-40
EXD-47X4-40
EXD-48X4-40
EXD-49X4-40
EXD-50X4-40

14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45

15
16
117
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

25
25
25
25
25
25
25
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
40
41
42
43
44
45

25
25
25
25
25
25
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
40
40
40
40
40
40
40
40
40
40
40

42
45
48
51
54
57
60
63
66
69
72
75
78
81
84
87
90
93
96
99
102
105
108
111
114
117
120
123
126
129
132
135

60
64
68
72
76
80
84
88
92
96
100
104
108
112
116
120
124
128
132
136
140
144
148
152
156
160
164
168
172
176
180
184
188
192
196
200

WCMX
030208
(480)

WCMX
030208
(480)

WCMX
040208
(332)

WCMX
040208
(332)

WCMX
050308
(359)

WCMX
050308
(359)

WCMX
06T308
(389)

WCMX
06T308
(389)

WCMX
06T308

WCMX
06T308
(389)

WCMX
080412

WCMX
080412
(400)

SCR-
EXD2.5

SCR-
EXD2.5

SCR-
EXD2.5

SCR-
EXD2.5

SCR-
EXD3

SCR-
EXD3

SCR-
EXD3.5

SCR-
EXD3.5

SCR-
EXD3.5

SCR-
EXD3.5

SCR-
EXD4

SCR-
EXD4

T8
T8

T8

T8

T10
T10

T15
T15

T15
T15

T15

T15

RAPID DRILLS (W) THROW AWAY INSERT
EXD ´ŒÒÁà¨ÒÐÊÇ‹Ò¹

ÃËÑÊ ÃËÑÊÃÒ¤Ò ÃÒ¤Ò

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SCJCR-0808H07

SCJCR-1010H07

SCJCR-1212H11

SCJCR-1616H11

SCJCL-0808H07

SCJCL-1010H07

SCJCL-1212H11

SCJCL-1616H11

CC��0702��
CC��0702��
CC��11T3��
CC��11T3��

8

10

12

16

8

10

12

16

100

100

100

100

10

12

16

20

CS2560

CS2560

CS4090

CS4090

FT-7

FT-7

FT-15

FT-15

0.06

0.08

0.12

0.21

0.06

0.08

0.12

0.21

6005-390

6005-391

6005-392

6005-393

6005-490

6005-491

6005-492

6005-493

Tool Holders
SCLC

SVVC

SVJC

SDJC

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA E F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SDJCR-0808H07

SDJCR-1010H07

SDJCR-1212H11

SDJCR-1616H11

SDJCL-0808H07

SDJCL-1010H07

SDJCL-1212H11

SDJCL-1616H11

DC��0702��
DC��0702��
DC��11T3��
DC��11T3��

8

10

12

16

8

10

12

16

100

100

100

100

10

12

16

20

CS2560

CS2560

CS4090

CS4090

FT-7

FT-7

FT-15

FT-15

0.06

0.08

0.12

0.21

0.06

0.08

0.12

0.21

6005-390

6005-391

6005-392

6005-393

6005-490

6005-491

6005-492

6005-493

ORDER NO.

Righthand Lefthand Right RightLeft LeftBA C F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SVJCR-1010H11

SVJCR-1212H11

SVJCR-1616H11

SVJCR-2020K16

SVJCR-2525M16

SVJCL-1010H11

SVJCL-1212H11

SVJCL-1616H11

SVJCL-2020K16

SVJCL-2525M16

VC��1103��
VC��1103��
VC��1103��
VC��1604��
VC��1604��

10

12

16

20

25

10

12

16

20

25

100

100

100

125

150

10.5

12.5

16.5

25

32

-

-

-

SMV-321

SMV-321

-

-

-

SN535

SN535

CS2560

CS2560

CS2560

CS3511

CS3511

FT-7

FT-7

FT-7

FT-15

FT-15

0.08

0.12

0.21

0.40

0.72

0.08

0.12

0.21

0.40

0.72

6005-420

6005-421

6005-422

6005-423

6005-424

6005-520

6005-521

6005-522

6005-523

6005-524

ORDER NO.

Right Left LeftBA C F

INSERT DIMENSIONS PARTS WEIGHT(kg) CODE NO.

SVVCN-1010H11

SVVCN-1212H11

SVVCN-1616H11

SVVCN-2020K16

SVVCN-2525M16

VC��1103��
VC��1103��
VC��1103��
VC��1604��
VC��1604��

10

12

16

20

25

10

12

16

20

25

100

100

100

125

150

5

6

8

10

12.5

-

-

-

SMV-321

SMV-321

-

-

-

SNV-321

SNV-321

CS2560

CS2560

CS2560

CS35115

CS35115

FT-7

FT-7

FT-7

FT-7

FT-7

0.08

0.12

0.21

0.40

0.72

0.08

0.12

0.21

0.40

0.72

6005-450

6005-451

6005-452

6005-453

6005-454



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A100

























































ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¤Áâµ

¤Áâµ

¤Áâµ

¤Áâµ

á¡¹

á¡¹

á¡¹

á¡¹

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò
























































ÃËÑÊ

ÃËÑÊ























































































ÁÕ´¤ÇŒÒ¹


























   




M8
M10
M12
M14
M16
M18
M20
M22
M24

15
18
20
24
26
30
33
36
40

9
11
14
16
18
20
22
24
26

2
2
2
2
3
3
3
3
3

22
25
25
30
35
35
40
40
40

132
140
140
150
180
180
190
190
190

775
775
775
775
775
775
775
775
775

ÃØ‹¹ d2 d1 MT l2 l1 ÃÒ¤Ò ÃËÑÊ

ÁÕ´¤ÇŒÒ¹ËÑÇÊ¡ÃÙ¡ŒÒ¹àµà»ÍÃ�



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A101

OSG 


KEIBA 





































































      



















  














  

 

























































ÃËÑÊ

ÃËÑÊ

¢¹Ò´

¢¹Ò´

¢¹Ò´

¢¹Ò´

¤Áâµ

¤Áâµ

¤Áâµ

¤Áâµ

á¡¹

á¡¹

á¡¹

á¡¹

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÂÒÇ·Ñé§µÑÇ

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò

ÃÒ¤Ò
























































ÃËÑÊ

ÃËÑÊ























































































ÁÕ´¤ÇŒÒ¹


























   




M8
M10
M12
M14
M16
M18
M20
M22
M24

15
18
20
24
26
30
33
36
40

9
11
14
16
18
20
22
24
26

2
2
2
2
3
3
3
3
3

22
25
25
30
35
35
40
40
40

132
140
140
150
180
180
190
190
190

775
775
775
775
775
775
775
775
775

ÃØ‹¹ d2 d1 MT l2 l1 ÃÒ¤Ò ÃËÑÊ

ÁÕ´¤ÇŒÒ¹ËÑÇÊ¡ÃÙ¡ŒÒ¹àµà»ÍÃ�



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A102



























































      











  

ª¹Ô´àËÅÕèÂÁ











  























  























  

ª¹Ô´áº¹





ª¹Ô´¡ÅÁ

TOOL BITS 1900
ÁÕ´¡ÅÖ§ à¡Ã´ 1900TFJ



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A103

12 x 30 H
14 x 35 H
16 x 40 H
18 x 40 H
20 x 45 H
25 x 50 H
30 x 55 H
32 x 60 H
35 x 65 H
40 x 65 H
45 x 70 H
50 x 70 H

SWH4 - 12
14
16
18
20
25
30
32
35
40
45
50

30
35
40
40
45
50
55
60
65
65
70
70

12
16
16
20
20
25
25
32
32
32
32
32

80
90
95
100
110
120
125
145
150
150
160
160

4
4
4
4
4
4
4
4
4
4
4
4

ORDERING CODE
Size (mm)

H d (H7) L T

12 x 40 H
14 x 45 H
16 x 50 H
18 x 60 H
20 x 75 H
25 x 85 H
30 x 100 H
32 x 105 H
35 x 105 H
40 x 105 H
45 x 105 H
50 x 125 H

SWHL4 - 12
14
16
18
20
25
30
32
35
40
45
50

40
45
50
60
75
85
100
105
105
105
105
125

12
16
16
20
20
25
25
32
32
32
32
32

90
105
120
120
135
175
195
205
205
205
205
240

4
4
4
4
4
4
4
4
4
4
4
4

ORDERING CODE

SWHL4
4 »Ò¡ ÃØ‹¹ÂÒÇ

SWH4
4 »Ò¡

Size (mm)

D +0.03
+0

D +0.03
+0

H d (H7) L T

àÍç¹ÁÔÅ¤ÒÃ�äº·�àª×èÍÁ



























































      











  

ª¹Ô´àËÅÕèÂÁ











  























  























  

ª¹Ô´áº¹





ª¹Ô´¡ÅÁ

TOOL BITS 1900
ÁÕ´¡ÅÖ§ à¡Ã´ 1900TFJ



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A104

SKH51
Straigth Flute Chamfer Angle1o HSS

0.5
0.6
0.7
0.8
0.9
1
1.1
1.2
1.3
1.4
1.5
1.6
1.7
1.8
1.9
2
2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9
3
3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8
3.9
4
4.1
4.2
4.3
4.4
4.5
4.6
4.7

4.8
4.9
5
5.1
5.2
5.3
5.4
5.5
5.6
5.7
5.8
5.9
6
6.1
6.2
6.3
6.4
6.5
6.6
6.7
6.8
6.9
7
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9
8
8.1
8.2
8.3
8.4
8.5
8.6
8.7
8.8
8.9
9

2.5
2.5
2.5
3
4
4
5
5
5
5
5
6
6
6
6
6
6
6
7
7
7
7
7
7
8
8
8
8
8
8
8
8
8
8
8
8
8
9
9
9
9
9
9

9
9
9
9
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
11
11
11
11
11
11
11
11
11
11
12
12
12
12
12
12
12
12
12
12
13
13
13
13

12
12
12
15
20
20
25
25
25
25
25
30
30
30
30
30
30
30
35
35
35
35
35
35
40
40
40
40
40
40
40
40
40
40
40
40
40
45
45
45
45
45
45

45
45
45
45
45
45
45
45
45
50
50
50
50
50
50
50
50
50
50
55
55
55
55
55
55
55
55
55
55
60
60
60
60
60
60
60
60
60
60
65
65
65
65

30
30
30
35
40
40
45
45
50
50
50
55
55
55
60
60
60
60
65
65
65
65
65
65
72
72
72
75
75
75
75
75
80
80
80
80
80
85
85
85
85
85
90

90
90
90
90
95
95
95
95
95
100
100
100
100
100
100
100
100
100
100
105
105
105
105
105
110
110
110
110
110
115
115
115
115
115
120
120
120
120
120
125
125
125
125

Ø D
Dia

Ø D
Dia

T
Chamfer
Length

T
Chamfer
Length

D

Tolerance

d

2
2
2
2
2
2
2
2
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8
3.9
4
4.1
4.2
4.3
4.4
4.5
4.6
4.7

4.8
4.9
5
5.1
5.2
5.3
5.4
5.5
5.6
5.7
5.8
5.9
6
6.1
6.2
6.3
6.4
6.5
6.6
6.7
6.8
6.9
7
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9
8
8.1
8.2
8.3
8.4
8.5
8.6
8.7
8.8
8.9
9

4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6

6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
66
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6

+ 0.012
+ 0.006

+ 0.024
+ 0.011

+ 0.009
+ 0.004

+ 0.02
+ 0.009

+ 0.003
 0

+ 0.007
+ 0.002

+ 0.017
+ 0.008

+ 0.005
 0

+ 0.005
 0

+ 0.015
+ 0.007

Increment 0.005

Increment 0.01 0.5 ~ 3 3.1 ~ 6 6.1 ~ 10

18.1 ~ 3010.1 ~ 18 31 ~ 50 51 ~

0.505 ~ 0.905 0.955 

- 0.02
- 0.05

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

Ø d
Shank Dia.

Ø d
Shank Dia.Length

of Flutes
Length
of Flutes

L
Overall
Length

L
Overall
Length

N
Number
of Flutes

N
Number
of Flutes

Center Center

EIKO HAND REAMER



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A105

SKH51
Straigth Flute Chamfer Angle1o HSS

0.5
0.6
0.7
0.8
0.9
1
1.1
1.2
1.3
1.4
1.5
1.6
1.7
1.8
1.9
2
2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9
3
3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8
3.9
4
4.1
4.2
4.3
4.4
4.5
4.6
4.7

4.8
4.9
5
5.1
5.2
5.3
5.4
5.5
5.6
5.7
5.8
5.9
6
6.1
6.2
6.3
6.4
6.5
6.6
6.7
6.8
6.9
7
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9
8
8.1
8.2
8.3
8.4
8.5
8.6
8.7
8.8
8.9
9

2.5
2.5
2.5
3
4
4
5
5
5
5
5
6
6
6
6
6
6
6
7
7
7
7
7
7
8
8
8
8
8
8
8
8
8
8
8
8
8
9
9
9
9
9
9

9
9
9
9
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
11
11
11
11
11
11
11
11
11
11
12
12
12
12
12
12
12
12
12
12
13
13
13
13

12
12
12
15
20
20
25
25
25
25
25
30
30
30
30
30
30
30
35
35
35
35
35
35
40
40
40
40
40
40
40
40
40
40
40
40
40
45
45
45
45
45
45

45
45
45
45
45
45
45
45
45
50
50
50
50
50
50
50
50
50
50
55
55
55
55
55
55
55
55
55
55
60
60
60
60
60
60
60
60
60
60
65
65
65
65

30
30
30
35
40
40
45
45
50
50
50
55
55
55
60
60
60
60
65
65
65
65
65
65
72
72
72
75
75
75
75
75
80
80
80
80
80
85
85
85
85
85
90

90
90
90
90
95
95
95
95
95
100
100
100
100
100
100
100
100
100
100
105
105
105
105
105
110
110
110
110
110
115
115
115
115
115
120
120
120
120
120
125
125
125
125

Ø D
Dia

Ø D
Dia

T
Chamfer
Length

T
Chamfer
Length

D

Tolerance

d

2
2
2
2
2
2
2
2
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3
3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8
3.9
4
4.1
4.2
4.3
4.4
4.5
4.6
4.7

4.8
4.9
5
5.1
5.2
5.3
5.4
5.5
5.6
5.7
5.8
5.9
6
6.1
6.2
6.3
6.4
6.5
6.6
6.7
6.8
6.9
7
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9
8
8.1
8.2
8.3
8.4
8.5
8.6
8.7
8.8
8.9
9

4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6

6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
66
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6
6

+ 0.012
+ 0.006

+ 0.024
+ 0.011

+ 0.009
+ 0.004

+ 0.02
+ 0.009

+ 0.003
 0

+ 0.007
+ 0.002

+ 0.017
+ 0.008

+ 0.005
 0

+ 0.005
 0

+ 0.015
+ 0.007

Increment 0.005

Increment 0.01 0.5 ~ 3 3.1 ~ 6 6.1 ~ 10

18.1 ~ 3010.1 ~ 18 31 ~ 50 51 ~

0.505 ~ 0.905 0.955 

- 0.02
- 0.05

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

60o

Ø d
Shank Dia.

Ø d
Shank Dia.Length

of Flutes
Length
of Flutes

L
Overall
Length

L
Overall
Length

N
Number
of Flutes

N
Number
of Flutes

Center Center

EIKO HAND REAMER

Three Flutes Countersinks

Tool With Hole

BJD00044
BJD00046
BJD00048
BJD00050
BJD00052
BJD00054

BJD00252
BJD00254
BJD00257
BJD00258
BJD00107
BJD00083
BJD00264
BJD00055
BJD00056
BJD00058
BJD00059
BJD00060
BJD00097

10
14
21
28
35
44

4.3
5
6.3
7
8.3
10.4
12.4
15
16.5
20.5
23
25
31

6
8
10
12
15
15

4
4
5
6
6
6
8
10
10
10
10
10
12

45
48
65
85
102
115

40
40
45
50
50
50
56
60
60
63
67
67
71

2-5
5-10
10-15
15-20
20-25
25-30

1.3-4.3
1.5-5
1.5-6.3
1.8-7
2-8.3

2.5-10.4
2.8-12.4
3.2-15
3.2-16.5
3.5-20.5
3.8-23
3.8-25
4.2-31

M2 DEBURRING COUNTERSINKS
à¤ÒàµÍÃ�«Ô§¤� ÊÕ·Í§

ÃËÑÊ

ÃËÑÊ

ÃÒ¤Ò

ÃÒ¤Ò

¢¹Ò´
D

¢¹Ò´
D

á¡¹
d

á¡¹
d

ÂÒÇ
L

ÂÒÇ
L

90°3

BAIJIADE



A

C
utting Tools

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A106

joran สวานเจาะปูน

IRWIN
Made in Germany

3.0
3.5
4.0
4.5
5.0
5.5
6.0
6.5
7.0
7.5
8.0
8.5
9.0
9.5
10.0
11.0
12.0
13.0
14.0
15.0
16.0
17.0
18.0
19.0

1/8
1/8
5/32
5/32
3/16
7/32
15/64
1/4

17/64
9/32
5/16
5/16
5/16
3/8
3/8
7/16
7/16
1/2
9/16
9/16
5/8
5/8

11/64
3/4

70
75
80
85
90
95
100
105
110
115
120
125
130
135
140
160
160
160
160
160
160
160
160
160

ÃÒ¤ÒÂÒÇ
ËØ¹mm

¢¹Ò´

joran ´Í¡ÊÇ‹Ò¹à¨ÒÐ»Ù¹



A

C
ut
tin

g 
To

ol
s

S.T. MODERNTOOL CO., LTD.�
TEL. 0 2417-0840 (อัตโนมัติ 8 สาย)  FAX: 662-417-1441, 662-417-1484-5

A107

Non-Standard Cutting Tool Series

joran สวานเจาะปูน

IRWIN
Made in Germany

3.0
3.5
4.0
4.5
5.0
5.5
6.0
6.5
7.0
7.5
8.0
8.5
9.0
9.5
10.0
11.0
12.0
13.0
14.0
15.0
16.0
17.0
18.0
19.0

1/8
1/8
5/32
5/32
3/16
7/32
15/64
1/4

17/64
9/32
5/16
5/16
5/16
3/8
3/8
7/16
7/16
1/2
9/16
9/16
5/8
5/8

11/64
3/4

70
75
80
85
90
95
100
105
110
115
120
125
130
135
140
160
160
160
160
160
160
160
160
160

ÃÒ¤ÒÂÒÇ
ËØ¹mm

¢¹Ò´

joran ´Í¡ÊÇ‹Ò¹à¨ÒÐ»Ù¹


